techhose

QUALITY CONNECTIONS

Pneumatics Industrial Compressed Air Process &
& Vacuum & Ring Main Instrumentation

Hydraulics

Hydraulics

Components

2022 - 2024 Catalogue www.tech-hose.co.uk



SECTION 2

Components

¢ Mild Steel Hydraulic Adaptors

e KR500 High Pressure
Hydraulic Adaptors

¢ Stainless Steel
Hydraulic Adaptors

¢ 10,000 PSI Stainless Steel
Hydraulic Adaptors

e 37° JIC Flare
Stainless Steel Adaptors

¢ Spradow Test Point Couplings

e Spradow Test Point
Hose Fittings

o Spradow Test Kits

¢ Havit SAE Flanges

¢ Hydraulic Seals

¢ Plastic Caps & Plugs




JEJ SECTION 2 CONTENTS

Components

HYDRAULICS

45° Compact & Swept Elbows

90° Compact Male Female Elbows

Blanking Caps, Crimp Nuts & Test Point Adaptors
Bonded Seals & Fibre Washers

Boxed Seal Kits

Bulkhead & Plugs

Copper Nylon Washers & Stainless Steel Bonded Seals
Crosses & Locknuts

Fixed & Reducing Sockets & Swept Elbows
Gauge Adaptors & Push Lock Style Hose Tails
Havit Butt Weld Flanges Companion Counter

Havit SAE Flange Blanks Split Flanges & Compact
90° Adaptors

Havit SAE Flanges Socket Weld

Havit Socket & Butt Weld Compact 90° Adaptors & Straight
Butt Weld Adaptors

Havit Socket Weld Sets & Accessories
Havit Threaded Flanges

Havit Threaded Flanges Companion Counter
High Pressure 10K Elbows & Tees

High Pressure 10K Male x Female, Female x Female
& Elbows

High Pressure 10K Stainless Steel Male x Female Adaptors
High Pressure 10K Stainless Steel Male x Male Adaptors
High Pressure 10K Tees Plugs Caps & Cross Adaptors
Hydraulic Test Point Adaptors Mild Steel

Hydraulic Test Point Adaptors Mild Steel Stainless Steel
& Hoses

Hydraulic Test Point Hose & Fittings
JIC 45° Elbow Adaptors & Bulkheads
JIC 90° Elbow Adaptors

778
176-717
784
833
836
781
834
783
775
772
830

825

828

829

831
826
827
81

810

809
808
812
820

821

822
793
791-792

JIC Male x Female Fixed & Swivel

JIC Male x Male Hydraulic Adaptors

JIC Plugs Locknuts & Push Lock Style Hose Tails
JIC Tees & Crosses

JIC Tube Sleeves & Nuts Metric & Imperial
KR-500 High Pressure Hydraulic Adaptors

Male to Female Bushes

Male x Female Swivel Adaptors & Female x Female
Swivel Adaptors

Male x Fixed Female Adaptors

Male x Male Adaptors

0-Rings & Flare Seals

ORFS 0-Ring Faced Seal Fittings

Plastic Caps & Plugs

Plugs

Stainless Steel 37° Flare Fittings, Bulkheads & Elbows

Stainless Steel 37° Flare Fittings, Caps, Plugs, Reducers,
Nuts & Flare Sleeves

Stainless Steel 37° Flare Fittings, Elbows & Tee Pieces
Stainless Steel 37° Flare Fittings, Male Stud Couplings

Stainless Steel 37° Flare Fittings, Male x Female Fixed
& Swivel Adaptors

Stainless Steel 37° Flare Fittings Tees & Crosses
Stainless Steel Male x Female Straights & 90° Fittings
Stainless Steel Male x Male Adaptors

Stainless Steel NPT Male x Male, Male x Female

Stainless Steel NPT Reducing Bushes, Caps, Plugs, Elbows
& Tees

Stainless Steel Tees, Plugs & Bulkheads
Tee Piece Adaptors
Test Point Coupling Kits

A-/

789-790
187-788
795
794
796
799-801
m

173-714

770
765-769
835
785-786
837-838
782
815

818

816
813

814

817
804
803
806

807

805
779-780
823



@ BRENNAN

MAKING CONNECTIONS

BRENNAN OFFERS HIGH QUALITY, EXTRAORDINARY FITTINGS THAT
MAKE THE STRONG CONNECTIONS YOU NEED. TURN TO BRENNAN'S
HUGE INVENTORY FOR ALL YOUR FITTINGS AND ADAPTORS.




foy BRENNAN

THE MOST EXTRAORDINARY HYDRAULIC FITTINGS

|

ABOUT BRENNAN

Having been established in 1953,
Brennan now boasts 15 distribution
centres across North America, Europe
and Asia. Brennan stocks over 50,000
fittings including engineered specials
and build-to-print bespoke parts.
Backed by multiple certifications
across the globe, Brennan's
aerospace quality manufacturing
capabilities, full traceability on

all fittings, as well as, material and
plating options.

BRENNAN SUPPORT

Featuring our dedicated global customer service team, educational
materials (blog, whitepapers, Brennan University), thread
identification tools, lead generation, literature, pressure rating,
cross reference and CAD tools.

This makes Brennan the ultimate choice

for your hydraulic adaptor needs.

US BASED GLOBAL MANUFACTURER
Along with manufacturing and distribution centres in the UK.

Brennan has a global footprint that includes 4 manufacturing
facilities and 15 distribution centres, all conforming to Brennan’s
highest manufacturing standards.

EXTRAORDINARY FITTINGS

766



@I, TNadcap Aﬂlb; {\ ? f‘%
= ACCREDITED qu|| RzelsTE"ED g RN
oisrenco Finu T L

‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘
MEMBER

EXTRAORDINARY FITTINGS

Brennan provides customers throughout the world with the
highest quality hydraulic components.

Brennan products are fully 1S0:9001, AS9100, NADCAP, ASTM
accreditated, ensuring the highest quality products in the
hydraulic industry.

FULL TRACEABILITY

Brennan products feature a stamped Brennan logo complete
with a fully traceable code that permits identification of the
raw material used.

BRENNAN UNIVERSITY

Brennan offers a library of over 100 educational videos,
white papers and other various articles through Brennan

University.

767



HYDRAULIC ADAPTORS Iy BRENNAN

Male/Male Adaptors
DN QN S
Equal BSPP Male %W BSPP Male x BSPP Male %W BSPP Male x BSPP Male m
x BSPP Male 60° Cone ) 60° Cone DIN 3852 Form A ) 60° Cone 174 Spec.
0683 LLIGED LLIGED 0683 LLIGED Thread 0683 LLIGED LLIGET
60-6000-02-02 1/8” 1/8" 60-6000-D-02-02 1/8” 1/8" 60-6000-04-02174 1/8” 1/4"
60-6000-04-04 14" 1/4" 60-6000-D-04-02 1/8" 1/4" 60-6000-04-04174 14" 1/4"
7  60-6000-06-06 3/8" 3/8" 60-6000-D-04-04 1/4" 1/4" 60-6000-06-04174 1/4" 3/8"
| 60-6000-08-08 12" 12" 60-6000-D-06-04 1/4” 3/8" 60-6000-08-04174 /4" 12"
= 60-6000-10-10 5/8" 5/8" 60-6000-D-08-04 14" 12" 60-6000-06-06174 3/8" 3/8"
=% 60-6000-12-12 34" 34" 60-6000-D-06-06 3/8" 3/8" 60-6000-08-06174 3/8" 1/2"
E 60-6000-16-16 1" 1 60-6000-D-08-06 3/8" 12" 60-6000-12-06174 3/8" 34"
bd  60-6000-20-20 1.1/4" 1.1/4" 60-6000-D-08-08 1/2" 12" 60-6000-08-08174 1/2" 12"
60-6000-24-24 1.1/2" 11/2" 60-6000-D-12-08 12" 3/4" 60-6000-12-08174 12" 3/4"
60-6000-28-28 13/4" 1.3/4" 60-6000-D-16-08 12" 1" 60-6000-16-08174 12" 1"
60-6000-32-32 2 2 60-6000-D-12-12 34 34" 60-6000-12-12174 34 34"
60-6000-40-40 2.1/2" 21/2" 60-6000-D-16-12 3/4" 1 60-6000-16-12174 34" 1
60-6000-60-60 3 3 60-6000-D-16-16 1" 1" 60-6000-16-16174 1" 1
60-6000-100-100 4 4 60-6000-D-20-16 1" 1.1/4" 60-6000-20-16174 1" 1.1/4"
Tech Sheet 71432 60-6000-D-24-16 1" 11/2" 60-6000-20-20174 1.1/4" 1.1/4"
60-6000-D-20-20 1.1/4 1.1/ 60-6000-24-20174 1.1/4 1172
SN 60-6000-D-24-20 1.4/4" 11/2" 60-6000-32-20174 1.4/4" 2
Unequal BSPP Male ;\;‘:&\ -m‘ 60-6000-D-24-24 1.1/2" 11/2" 60-6000-24-24174 1.1/2" 11/2"
BSPP Male 60° Cone & 60-6000-D-32-24 1172 2 60-6000-32-24174 1.1/2" 2
60-6000-D-32-32 2 2 60-6000-32-32174 2 2
0653 LLICET Thread Tech Sheet 71434 Tech Sheet 71436
60-6000-04-02 18" 1/4"
60-6000-06-02 1/8" 3/8" )
60-6000-08-02 1/8” 12" @5@‘
60-6000-06-04 /4 3/8 BSPP Male x BSPP Male BSPP Male x BSPP Male m w
60-6000-08-04 L vz 60° Cone with Restrictor 60° Cone BS5200 -
60-6000-10-04 14" 5/8"
60-6000-12-04 1/4" 3/4" 0683 LLIGET LLIGET] Restrictor 0683 LLIGED LLIGET
60-6000-16-04 Ve 1 60-6000R0404-0.8 1/4" 1/4" 1/32 60-6000-08-08-BS 1/2" 12"
60-6000-20-04 1/4" 1_1/4" 60-6000-R04-04-1 ‘\/4" 1/4” Tmm Tech Sheet 71437
60-6000-32-04 1/4" 2" 60-6000R0404-1.5 1/4" 1/4" 1/16"
60-6000-08-06 3/8" 1/2" 60-6000R0604-0.8 1/4" 3/8" 1/32" 5\@
60-6000-10-06 3/5" 5/8" 60-6000-R06-04-1 1/4” 3/8” Tmm \ E w
60-6000-12-06 38" 34" 60-6000R0604-1.5 1/4" 3/8" 116" ;
60-6000-16-06 38" 1 60-G000R0B04-08  1/4" vz 132 BSPP Male x BSPP Male, e
60-6000-20-06 38" LA 60-GO0OR0B0A15 1/ vz e’ 60° Cone with Restrictor Blank Only
60-6000-24-06 3/8" 1_1/2” 60-6000R0606-0.8 3/8 3/8 1/32
60-6000-10-08 1/2" 5/8" 60-6000-R06-06-1 3/8" 3/8" Tmm 0683 Thread Thread
60-6000-12-08 12" 34" 60-6000R0606-1.5 38" 3/8" 116" 60-6000-B-04-04 1/4" /4"
60-6000-16-08 1/2” 1" 60-6000R0806-0.8 3/8” 1/2” 1/32” 60-6000-B-06-04 1/4" 3/8"
60-6000-20-08 1/2" 1.1/4" 60-6000-R08-06-1 3/8" 1/2" Tmm 60-6000-B-08-04 1/4" 1/2"
60-6000-24-08 1/2” 1. 1/2" 60-6000-R08-06-3 3/8" 1/2" 3mm 60-6000-B-06-06 3/8" 3/8”
60-6000-32-08 12" 2" 60-6000R1206-1.5 3/8" 34" 116" 60-6000-B-08-06 3/8" 1/2"
60-6000-12-10 5/8" 34" 60-6000R0808-0.8 1/2" 12" 1/32" 60-6000-B-12-06 38" 34"
60-6000-16-10 5/8" 1" 60-6000-R08-08-1 12" 1/2" Tmm 60-6000-B-08-08 1/2" 1/2"
60-6000-20-10 58" 14/4" 60-6000R0808-1.5 1/2" 1/2" 1/16" 60-6000-B-12-08 1/2" 34"
60-6000-16-12 3/4" 1" Tech Sheet 71435 60-6000-B-16-12 3/4" 1"
60-6000-20-12 3 RIZ% Tech Sheet 71438
60-6000-24-12 34" 1172
60-6000-32-12 3/4" 2
60-6000-20-16 1 1.1/4
60-6000-24-16 1 1172
o  60-6000-32-16 1 2
©  60-6000-40-16 1 2172
= 60-6000-24-20 14/4" 1172
< 60-6000-32-20 1.4/4" 2
‘é 60-6000-28-24 1172 13/4"
> 60-6000-32-24 11/2" 2
T 60-6000-40-24 11/2" 2.1/2"
60-6000-32-28 1.3/4" 2

Tech Sheet 71433




HYDRAULIC ADAPTORS Iy BRENNAN

Male/Male Adaptors

BSPP Male 60° Cone x %\

BSPP Male 60° Cone x BSPT Male SAE 0-Ring Face Seal Male BSPT Male x BSPT Male
0683 Thread Thread 0683 Thread Thread 0683 Thread Thread
60-6001-02-02 1/8" 1/8" OR-4110-04-02 18" 9/16" 60-6018-02-02 18" 1/8" £
60-6001-02-04 1/8" 14" OR-4110-04-04 4" 9/16" 60-6018-04-02 18" 1/4" o
60-6001-02-06 1/8" 3/8" OR-4110-06-04 174" 11/16" 60-6018-04-04 1/4" 1/4" S
60-6001-04-02 14 1/8° OR-4110-06-06 3/8" 11/16" 60-6018-06-04 /4" 3/8" =
60-6001-04-04 1/4" 14" OR-4110-08-06 3/8" 13/16" 60-6018-08-04 1/4" 1/2" S
60-6001-04-06 1/4" 3/8" OR-4110-06-08 12" 11/16" 60-6018-06-06 3/8" 3/8"
60-6001-04-08 1/4" 1/2" OR-4110-08-08 1/2" 13/16" 60-6018-08-06 3/8" 12"
60-6001-04-12 1/4" 3/a" OR-4110-10-08 12" 1 60-6018-08-08 12" 12"
60-6001-06-02 3/8" 1/8" OR-4110-12-08 12" 1.3/16” 60-6018-08-12 1/2" 3/4"
60-6001-06-04 3/8" 14" OR-4110-12-10 5/8" 13/16" 60-6018-12-12 3/4" 3/4"
60-6001-06-06 3/8" 3/8” OR-4110-10-12 3/4" 1 60-6018-12-16 3/4" 1"
60-6001-06-08 3/8" 12" OR-4110-12-12 3/4" 13/16" 60-6018-12-20 3/4" 114"
60-6001-06-12 3/8" 3/4" OR-4110-16-16 1 17/16" 60-6018-16-16 1 1"
60-6001-06-16 3/8" 1" OR-4110-20-16 1 1.11/16" 60-6018-16-20 1 1174
60-6001-08-02 1/2" 1/8" OR-4110-20-20 11/4" 1.11/16" 60-6018-16-24 1 11/2"
60-6001-08-04 12" e Tech Sheet 71441 60-6018-20-32 11/4" 2
60-6001-08-06 1/2" 3/8" ) 60-6018-24-24 1.1/2" 1.1/2"
60-6001-08-08 1/2" 12" g 60-6018-24-32 11/2" 2"
60-6001-08-10 1/2" 5/8” 60-6018-32-32 2" 2
60-6001-08-12 1/2" 3/4" 60-6018-40-40 21/2" 21/2"
T rr—— | BSPPMaleG0® Conex % B
- o
60-6001-10-06 58" B SAE Male 45° External Flare
60-6001-10-08 5/8" 12" 0683 Thread Thread
60-6001-10-10 5/8" 5/8" TR-13200 3/8" 5/8"
60-6001-10-12 5/8" 3/4" Tech Sheet 71442
60-6001-12-04 34" 1/4"
aomen or
-6001-12- " .
60-6001-12-12 e 3 30° Cone (Metric Threads)
weniizts o k
60-6001-12-20 3 118" BSPT Male x JIS Male TR-9741-14 14
60-6001-12-24 34" 112" (BSPP Threads) TR-9741-18 18
60-6001-16-06 1" 3/8" 0683 Thread Thread TR-9741-22 22
60-6001-16-08 1 1/2" 40-6001-J-06-06 3/8" 3/8" TR-9741-24 24
60-6001-16-10 1" 3/4" Tech Sheet 71443 TR-9741-30 30
60-6001-16-16 1" 1 TR-9741-33 33
60-6001-16-20 1 1.1/4" Tech Sheet 71446
60-6001-16-24 1 1.1/2"
60-6001-16-32 1" 2"
60-6001-20-16 1.1/4" 1
60-6001-20-20 1.1/4" 1.1/4"
60-6001-20-24 114" 14/2" BSPT Male x NPTF Male
60-6001-20-32 1»1/4" 2" 0683 Thread Thread JIS Male x JIS Male
60-6001-24-16 11/2 1 60-6040-04-02 18" 1/4" .
H-600123.20 2 114" 50-6040-02-0 e 16" 30° Cone (BSPP Threads)
wom A2 112 1z Mool i
60-6001-24-32 11/2" 2" 60-6040-06-04 1/4" 3/8" 8088-04-04 1/4"
60-6001-32-16 2 1 60-6040-06-06 3/8" 3/8" 8088-06-06 3/8"
60-6001-32-20 2 11/4" 60-6040-04-06 3/8" 1/4" 8088-08-08 1/2" »
60-6001-32-24 2 1.1/2" 60-6040-08-08 12" 1/2" 8088-12-12 3/4" o
60-6001-32-32 2 2’ 60-6040-12-12 3/4" 3/a” Tech Sheet 71448 3
60-6001-32-40 2 21/2" 60-6040-16-16 1 1 <
60-6001-32-60 2 3 60-6040-24-20 1.1/2" 1.1/4" g
60-6001-40-40 21/2" 21/2" 60-6040-24-24 11/2" 11/2" >
Tech Sheet 71439 60-6040-32-32 2" 2" -
60-6040-40-40 21/2" 21/2"

Tech Sheet 71444




HYDRAULIC ADAPTORS Iy BRENNAN

Male/Male Adaptors

NPTF Male x
BSPP Male 60° Cone
» IS Thread Thread NPTF Male x NPTF Male
£ :g:gg;gig: 1; g 1; Z 0683 Thread Thread 0683 Thread Thread
= - ’ 50-5404-02-02 1/8" 18" 60-6016-10-10 M10% 15 M10x 1.5
=] 60-6002-06-02 18 3/ 50-5404-04-02 8" 14" 60-6016-10-12 M10x 15 M12x 15
] So-6002-06-02 1/8 2 50-5404-08-02 /8" 12" 60-6016-10-14 MI0X15 M14x15
()  60-6002-02-04 e 178" 50-5404-04-04 14 14" 60-6016-12-12 M12x15 M12x1.5
60-6002-04-04 74 174 50-5404-06-04 14 38" 60-6016-12-14 M12x15 M14x15
60-6002-06-04 v 38" 50-5404-08-04 14" 12" 60-6016-12-16 M12x15 M16x15
60-6002-08-04 A V4 50-5404-12-04 14" 34" 60-6016-14-14 M14x15 M14x1.5
60-6002-12-04 i RA 50-5404-06-06 38" 3/8" 60-6016-14-16 Mi4x15 M16x15
60-6002-02-06 3/8 /8 50-5404-08-06 38" 12" 60-6016-14-18 M14x15 M18x15
60-6002-04-06 38 4 50-5404-08-08 12" 12" 60-6016-14-20 M14x15 M20x 1.5
60-6002-06-06 S/ 3/ 50-5404-12-08 12 34" 60-6016-16-16 Mi6x15 M16x15
60-6002-08-06 3/8" 172 50-5404-16-08 12" B 60-6016-16-18 M16x 15 M18x 15
60-6002-10-06 3/8 58 50-5404-20-08 12" 11/4" 60-6016-16-20 M16x15 M20x 1.5
60-6002-12-06 38" 34 50-5404-24-08 12" 11/2" 60-6016-16-22 M16x15 M22x 1.5
60-6002-02-08 vz 1/8° 50-5404-12-12 3/4" 3/4" 60-6016-16-26 M16x 1.5 M26x 15
60-6002-04-08 v 4 50-5404-16-12 34" 1 60-6016-18-18 M18x15 M18x 1.5
60-6002-06-08 Vs 38 50-5404-20-12 3/4" 11/4" 60-6016-18-20 M18x15 M20x 1.5
60-6002-08-08 7z vz 50-5404-16-16 1 1 60-6016-18-22 M18x15 M22x15
60-6002-10-08 v 58" 50-5404-20-16 1" 11/4" 60-6016-18-24 M18x15 M24 x 1.5
60-6002-12-08 Vs /A 50-5404-20-20 1174 11/4" 60-6016-18-26 M18x15 M26 x 1.5
60-6002-16-08 7 T 50-5404-24-20 1.1/4" 11/2" 60-6016-20-20 M20x 15 M20x 15
60-6002-04-12 34 4 50-5404-32-20 174" 2 60-6016-20-22 M20% 15 M22 x 1.5
60-6002-06-12 o 38 50-5404-40-40 212" 2172 60-6016-20-24 M20% 1.5 M24x 1.5
60-6002-08-12 s 172 Tech Sheet 71449 60-6016-20-26 M20x 1.5 M26x 15
60-6002-10-12 A 58 60-6016-22-22 M22x 15 M22x15
60-6002-12-12 EAs 34 60-6016-22-24 M22x15 M24x 15
60-6002-16-12 RA " 60-6016-22-26 M22x 15 M26x 1.5
60-6002-24-12 4 1172 60-6016-22-30 M22x15 M30x15
60-6002-04-16 ! [l 60-6016-24-24 M24x 15 M24x 15
60-6002-06-16 s S/ 60-6016-26-26 M26x 1.5 M26x 1.5
23:33:‘1’::: 1 ’ ;ﬁ — 60-6016-30-30 M30x 15 M30x 15
-6002-12- . o 60-6016-30-38 M30x15 M38x 1.5
60-6002-16-16 1 1" Metric Male x BSPP Male 60° Cone 60-501535.38 M3Bx 15 M3Bx15
60-6002-20-16 1 11747 0683 Thread Thread Tech Sheet 71452
60-6002-12-20 1174 34 60-6015-02-08X1 M8 x 1 18
60-6002-16-20 114 & 60-6015-02-10X1 M10x1 18"
60-6002-20-20 114 (VLS 60-6015-04-10X1 M10x1 14
60-6002-24-20 1174 1172 60-6015-06-10X1 M10x 1 3/8"
60-6002-32-20 114 z 60-6015-02-12X1 M12x1 18"
60-6002-16-24 1172 & 60-6015-04-12X1 M12x1 14
60-6002-20-24 17z T4 60-6015-04-14X1 M14x 1 14"
60-6002-24-24 11/2" 11/2" e ———
60-6002-32-24 11/2" 2
60-6002-16-32 2 1"
60-6002-24-32 2 112"
60-6002-32-32 2 2
60-6002-40-32 2 21/2"
60-6002-32-40 212" 2
oy 60-6002:40-40 217" 21/2"
©  60-6002-32-60 3 2
= 60-6002-40-60 3 21/2" Metric Male x BSPP Male
§ Tech Sheet 71447 60° Cone to DIN 3852 Form A
a 0683 Thread Thread
= 60-6015-D-08-22  M22x15 12"

Tech Sheet 71451




HYDRAULIC ADAPTORS Iy BRENNAN

Male/Male Adaptors

Metric Male x BSPP Male 60° Cone SAE 0-Ring Boss Male NPT Male x SAE Male 45° External Flare

0683 Thread Thread x BSPP Male 60° Cone 0683 Thread Thread £
60-6015-04-10 M10x 1.5 1/8" 0683 Thread Thread 2104-04-02 1/8" 716" g
60-6015-02-12 M12x1.5 1/8" 60-6019-02-02 1/4" 1/8" 2104-04-04 1/4" 7/16" o
60-6015-04-12 M12x1.5 1/4" 60-6019-02-04 1/4" 1/4" 2104-06-04 1/4" 5/8" g
60-6015-06-12 M12x1.5 3/8" 60-6019-03-04 3/8" 14" 2104-04-06 3/8" 7/16" ©
60-6015-08-12 M12x1.5 1/2" 60-6019-03-06 3/8" 3/8" 2104-06-06 3/8" 5/8"
60-6015-02-14 M14x1.5 1/8" 60-6019-04-02 7/16" 1/8" 2104-08-06 3/8" 3/4" S
60-6015-04-14 M14x1.5 1/4" 60-6019-04-04 7/16" 1/4" 2104-06-08 1/2" 5/8"
60-6015-06-14 M14x 1.5 3/8" 60-6019-04-06 7/16" 3/8" 2104-08-08 1/2" 3/4"
60-6015-08-14 M14x1.5 1/2" 60-6019-04-08 716" 1/2" 2104-10-08 1/2" 7/8"
60-6015-10-14 M14x1.5 5/8" 60-6019-05-04 12" 174" 2104-12-08 1/2" 1.1/16"
60-6015-04-16 M16x 1.5 1/4" 60-6019-05-06 12" 3/8" 2104-08-12 3/4" 3/4"
60-6015-06-16 M16x 1.5 3/8" 60-6019-05-08 12" 12" 2104-10-12 3/4" 7/8"
60-6015-08-16 M16x 1.5 1/2" 60-6019-06-04 9/16" 174" 2104-20-12 3/4" 1.5/8"
60-6015-10-16 M16x 1.5 5/8" 60-6019-06-06 9/16" 3/8" 2104-12-12 3/4" 1.1/16"
60-6015-12-16 M16 x 1.5 3/4" 60-6019-06-08 9/16" 1/2" Tech Sheet 71455
60-6015-04-18 M18x 1.5 1/4" 60-6019-08-04 3/4" 174"
60-6015-06-18 M18x 1.5 3/8" 60-6019-08-06 3/4" 3/8"
60-6015-08-18 M18x 1.5 1/2" 60-6019-08-08 3/4" 12"
60-6015-10-18 M18x 1.5 5/8" 60-6019-08-10 3/4" 5/8" \\\?&\
60-6015-12-18 M18x 1.5 3/4" 60-6019-08-12 3/4" 3/4" \ \
60-6015-16-18 M18x 1.5 1" 60-6019-07-04 5/8" 1/4" ]
60-6015-04-20 M20x 1.5 1/4" 60-6019-07-06 5/8" 3/8"
60-6015-06-20 M20x 1.5 3/8" 60-6019-07-08 5/8" 12" SAE 0-Ring Boss Male
60-6015-08-20 M20x1.5 12 60-6019-10-04 7/8" 14" x SAE 0-Ring Face Seal Male
60-6015-12-20 M20x 1.5 3/4” 60-6019-10-06 7/8" 3/8" R Thread Thread
60-6015-04-22 M22x1.5 1/4 60-6019-10-08 7/8" 1/2" " "
" OR-4070-04-04 7/16 9/16
60-6015-06-22 M22x1.5 3/8 60-6019-10-10 7/8" 5/8" ., .
60-6015-08-22 M22 x 1.5 1/2" 60-6019-10-12 7/8" 3/4" OR-4070-06-04 716 11716
60-6015-12-22 M22x1.5 3/4" 60-6019-10-16 7/8" 1" OR-4070-06-06 9/16” 1/16"
60-6015-16-22 M22x1.5 1" 60-6019-12-06 11/16" 3/8" OR-4070-08-06 9/16" 13/16"
60-6015-06-24 M24 x1.5 3/8" 60-6019-12-08 1.1/16" 1/2" OR-4070-06-08 3/4" 11/16"
60-6015-08-24 M24x1.5 172 60-6019-12-10 1.1/16" 5/8" OR-4070-08-08 3/4" 13/16"
60-6015-12-24 M24 x1.5 3/4: 60-6019-12-12 1.1/16" 3/4" OR-4070-08-10 7/8" 13/16"
60-6015-08-26 M26 x 1.5 W/Z” 60-6019-12-16 1.1/16" 1" OR-4070-10-10 78" 1"
60-6015-10-26 M26 x 1.5 5/8 60-6019-12-20 1.1/16" 1.1/4" ORGOTO1212 /16" 13/16"
60-6015-12-26 M26 x 1.5 3/4" 60-6019-14-12 1.3/16" 3/4" . :
60-6015-16-26 M26x 15 1" 60-6019-16-08 15/16" 12" 0R-4070-16-12 1.1/16" 1.7/16"
60-6015-12-30 M30x 1.5 3/4" 60-6019-16-12 15/16" 34" OR-4070-12-16 1.5/16" 1.3/16"
60-6015-16-30 M30x1.5 1" 60-6019-16-16 1.5/16" 1" OR-4070-16-16 1.5/16" 1.7/16"
60-6015-20-30 M30x1.5 1.1/4 60-6019-16-20 15/16" 1.1/4" Tech Sheet 71455
60-6015-16-36 M36x 1.5 v 60-6019-16-24 15/16” 1.1/2"
60-6015-16-38 M38x1.5 1" 60-6019-20-12 15/8" 3/4"
60-6015-20-38 M38x 1.5 1.1/4" 60-6019-20-16 1.5/8" 1"
Tech Sheet 71453 60-6019-20-20 15/8" 1174
60-6019-20-24 1.5/8" 1.1/2"
60-6019-24-20 1.7/8" 1.1/4"
60-6019-24-24 1.7/8" 1.1/2"
Tech Sheet 71454

HYDRAULICS




HYDRAULIC ADAPTORS Iy BRENNAN

Male/Fixed Female Adaptors

BSPP Male 60° Cone x BSPP Male 60° Cone x NPT Male x BSPP Female Extended

'g BSPP Fixed Female Extended Metric Female 1.5mm Pitch Extended 0683 Male Thread Female Thread
S [ o683 Male Thread Female Thread 50-5400-02-02 /8" 18
E' 60-6014-02-02 1/8" 1/8" TR-19803 1/4" 12 50-5400-02-04 /8 /4
=]  60-6014-02-04 1/8" 1/4" TR-19804 1/4" 14 50-5400-04-04 174 174"
bl 60-6014-02-06 1/8” 38" TR-19800 12" 16 50-5400-06-06 3/8 3/8"
60-6014-02-08 1/8" 1/2" TR-19801 12" 2 50-5400-08-06 1z 3/8"
60-6014-04-02 1/4" 1/8" TR-19802 34" 2 50-5400-08-08 v 172"
60-6014-04-04 1/4" 1/4" Tech Sheet 71459 50-5400-12-12 3/4 34
60-6014-04-06 1/4" 3/8" 50-5400-16-16 1 1
60-6014-04-08 1/4" 12" 50-5400-20-20 1174 1.1/4"
60-6014-04-12 174" 3/4" 50-5400-24-20 1.1/2" 1.1/4"
60-6014-06-04 3/8" 1/4" Tech Sheet 71461
60-6014-06-06 3/8" 3/8"
60-6014-06-08 3/8" 12"
60-6014-06-12 3/8" 3/4"
60-6014-08-06 72 38 BSPP Male 60° Cone x
60-6014-08-08 12" 12" \
opeiopag e ol NPT Female Extended \\
60-6014-08-16 1/2" 1" 0683 Male Thread Female Thread A 1)
60-6014-08-20 12" 1.1/4" 60-6106-02-02 1/8" 1/8”
60-6014-12-08 e i 60-6106-04-02 e 18" NPT Male x NPT Female Extended
60-6014-12-12 3/4" 3/4" 60-6106-04-04 1/4" 1/8" 0683 Male Thread Female Thread
60-6014-12-16 34" 1" 60-6106-04-06 1/4" 3/8" 50-5405-02-02 1/8" 1/8"
60-6014-12-24 3/4" 112" 60-6106-04-08 1/4" 1/2" 50-5405-02-04 1/8" 1/4"
60-6014-16-12 1 34" 60-6106-06-04 3/8" 1/4" 50-5405-04-04 1/4" 1/4"
60-6014-16-16 1 1" 60-6106-06-06 3/8" 3/8" 50-5405-04-06 1/4" 3/8"
60-6014-16-20 1" 1.1/8" 60-6106-08-06 12" 3/8" 50-5405-04-16 1/4" 1
60-6014-16-24 1 11/2" 60-6106-08-08 12" 1/2" 50-5405-06-06 3/8" 3/8"
60-6014-20-20 11/4" 1.1/8” 60-6106-08-12 12" 3/4" 50-5405-06-08 3/8" 1/2"
60-6014-20-24 11/ 11/2" 60-6106-12-12 3/4" 3/4" 50-5405-06-12 3/8" 3/4"
60-6014-20-32 11/4" 2 60-6106-16-12 1 3/4" 50-5405-08-08 12" 1/2"
60-6014-24-20 11/2" 1.1/8” 60-6106-16-16 1 1 50-5405-08-12 12" 3/4"
60-6014-24-24 112" 11/2" 60-6106-16-24 1 1.1/2" 50-5405-12-12 3/4" 3/4"
Tech Sheet 71457 60-6106-20-20 1.1/4" 1.1/4" 50-5405-12-16 3/4" 1
60-6106-24-20 1.1/2" 1.1/4" 50-5405-12-20 34" 1.1/4"
60-6106-24-24 11/2° 1.1/2" 50-5405-16-16 1 1
60-6106-32-32 2 2 50-5405-16-20 1 1.1/4"
Tech Sheet 71460 Tech Sheet 71462

BSPP Male 60° Cone x

BSPT Female Extended

0683 Male Thread Female Thread

60-6108-04-02 1/4" 1/8"

60-6108-04-04 1/4” 1/4"

60-6108-06-04 38" 1/4"

60-6108-06-06 3/8" 3/8"
¢ 60-6108-06-08 3/8" 12"
—i  60-6108-08-08 12" 1/2"
3 60-6108-12-08 3/4" 1/2"
£ 60-6108-12-12 3/4" 34"
g 60-6108-12-16 3/4" 1
= 60-6108-16-16 1 1

Tech Sheet 71458




HYDRAULIC ADAPTORS toj srenvan B

Bushes
BSPP Male 60° Cone x BSPP Male x BSPP BSPP Male 60° Cone x ‘
BSPP Fixed Female Bush W Female Bush (Not Coned) W BSPT Fixed Female Bush W
0683 Male Thread  Female Thread 0683 Male Thread  Female Thread
60-6013-06-02 3/8" 1/8" 60-6013-06-02-FF 3/8" 1/8" TR-16601 12" 14" 7]
60-6013-08-02 12" 18" 60-6013-08-02-FF 12" 18" Tech Sheet 71469 =
60-6013-08-04 12" 14" 60-6013-08-04-FF 12" 14 5
60-6013-12-04 3/4" 14" 60-6013-10-04-FF 5/8" 14 g
60-6013-12-06 34" 3/8" 60-6013-10-06-FF 5/8" 3/8" N S
60-6013-16-04 1 14 60-6013-12-02-FF 3/4" 18" \\\\\\\“ , e
60-6013-16-06 1 3/8" 60-6013-12-04-FF 3/4" 174"
60-6013-16-08 1" 12" 60-6013-12-06-FF 34" 3/8" NPT Male x ‘\W’ﬁ
60-6013-20-08 11/4" 12" 60-6013-16-04-FF 1 14 NPT Female Bush )/ ol
60-6013-20-12 11/4" 34" 60-6013-16-06-FF 1 38"
60-6013-20-16 1.1/4" 1" 60-6013-16-08-FF 1 12 0663 ValollirsacH ema'ollhread
60-6013-24-08 11/2" 12 60-6013-16-10-FF 1" 5/8" 50-5406-04-02 /s LS
60-6013-24-12 112" 4" 60-6013-20-04-FF 114" & 50-5406-06-02 L 18
60-6013-24-16 172" 1" 60-6013-20-06-FF 1.1/4" 38" 50-5406-06-04 3/8" 18
60-6013-32-16 2" 1" 60-6013-20-08-FF 1.1/4" 1/2" 50-5406-08-02 L 2” i 8"
60-6013-32-20 2 114 60-6013-20-12-FF 114" 34 50-5406-08-04 s L8
60-6013-32-24 2 1172 60-6014-20-16-FF 1.1/4" " 50-5406-08-06 vz 3/
60-6013-40-24 21/2" 11/2" 60-6013-24-12-FF 1.1/2" 3/4" 50-5406-12-02 i 4,, i 8"
60-6013-40-32 2112 7 60-6013-24-16-FF 112" 1" 50-5406-12-04 s ol
60-6013-48-32 3 7 60-6013-32-08-FF bz 12 50-5406-12-06 s 3/
Tech Sheet 71463 60-6013-32-10-FF 2" 5/8" 50-5406-12-08 i 4 | 2"
60-6013-32-12-FF 2 34 50-5406-16-04 r [l
60-6013-32-16-FF 2 " 50-5406-16-06 r 3/
60-6013-32-20-FF 2" 1.1/4" :g::gg:g?g 1 . ;j i
60-6013-32-24-FF 2 11/2" . ;
BSPP Male 60° Cone x Tech Sheet 71466 50-5406-20-04 1.1/4 14
NPT Fixed Female Bush ) » 50-5406-20-06 1 e
0683 Male Thread Female Thread \\\\)\\)\\\ y :g::zz:g?: 1 m ;Z
60-6107-08-02 12" 18" BSPT Male x A 5050062016 VI i
:g::g;?:g: ;i i ;j g BSPT Female Bush 50-5406-24-04 112" 3
60-6107-16-04 1 e 0683 Male Thread _Female Thread :g::gg:zg: 1 '1/ z ?/ >
60-6107-16-08 B 12 60-6036-04-02 L /8" 0.5006.24-12 : /2" 3/ .
60-6107-20-16 14" 1 60-6036-06-02 3/8" 1/8" 50-5406-24-1 L . /‘f
. . 50-5406-24-16 1172 1
60-6107-24-16 L1/ L 60-6036-06-04 38 " 50-5406-24-20 11/2" 11/4"
60-6107-40-32 2102 v 60-6036-08-04 72 7% P e
. . 50-5406-32-04 2 14
50_51 07_48_32 3” Z" 50'5035'08'06 1/2 3/8 50_5406_32_08 2 1/2"
Tech Sheet 71464 60-6036-12-06 34 3/8° 50-5406.32-12 ) G
60-6036-12-08 34" 12" . :
60-6036-16-08 1 12" 50-5406-32-16 2" "
60-6036-16-12 ik 3 50-5406-32-20 z 1A
Tech Sheet 71467 50-5406-32-24 2 1172
BSPT Male x 50-5406-40-32 21/2" 2
BSPP Female Bush S Tech Sheet 71470
Q)
039 oy Malread Femahread NPT Male x (W \
50-6039-06-00 e e BSPP Female Bush <)
60-6039-08-04 1/2" 1/4" 0683 Male Thread Female Thread
60-6039-12-04 3/4" 14 60-6037-04-02 14" 18"
60-6039-12-06 3/4" 3/8" 60-6037-06-04 3/8" 14 o
60-6039-12-08 34 12 60-6037-08-04 12" 174 (£
60-6039-16-04 1" 14 60-6037-12-04 34" 14 =
60-6039-16-06 1" 3/8" 60-6037-12-06 34" 38" <
60-6039-16-08 1 12" 60-6037-12-08 34" 12 =
60-6039-16-12 1" 3/4" 60-6037-16-08 1" 12" >
60-6039-20-16 11/4" 1" 60-6037-16-12 1" 3/4" -
60-6039-24-08 11/2" 12" 60-6037-32-16 2 1

Tech Sheet 71465 Tech Sheet 71468 71469




HYDRAULIC ADAPTORS Iy BRENNAN

Gauge Adaptors Female Hose Inserts Male Hose Inserts

BSPP Male 60° Cone x Female Swivel Straight BSPP Male Straight BSPP 60° Cone

‘g BSPP Fixed Female Gauge 0683 Thread To Suit Hose ID 0683 Thread To Suit Hose ID
S [ o683 Male Thread  Female Thread TR-09240 4 4 TR-09220 4 4
=¥ 60-6023-02-02 1/8" 1/8" TR-09241 3/8" 3/8" TR-09221 3/8" 3/8"
E 60-6023-02-04 18" 14" TR-09242 1/2" 1/2" TR-09222 1/2" 1/2"
Ol 60-6023-02-06 178" 38" TR-09243 5/8" 5/8" TR-09223 3/4 34
60-6023-04-02 1/4" 1/8" TR-09244 3/4" 3/4" TR-09224 1" 1"
60-6023-04-04 1/4" 1/4" TR-09245 1" 1" Tech Sheet 71474
60-6023-04-06 1/4" 3/8" Tech Sheet 71472
60-6023-04-08 /4" 12
60-6023-06-02 38" 1/8"
60-6023-06-04 3/8" 1/4"
60-6023-06-06 38" 3/8"
60-6023-06-08 38" 12 ‘
60-6023-08-04 12" 1/4" y
s
60-6023-08-12 12" 34" Female Fixed Straight NPT 0683 Thread To Suit Hose ID
60-6023-08-16 1/2" 1" 0683 Thread To Suit Hose ID TR-09258 1/8" 1/4"
60-6023-12-08 34" 12" TR-16301 1/4" 1/4" TR-09250 1/4" 1/4"
60-6023-16-12 1” 34" TR-16302 3/8" 3/8" TR-09251 3/8" 3/8"
Tech Sheet 71471 Tech Sheet 71473 TR-09252 3/8" 1/2"
TR-09253 1/2" 1/2"
TR-09255 1" 1"
Tech Sheet 71475

BSPP Male 60° Cone x
Hose Tail Straight
0683 Thread To Suit Hose ID
TR-19920 1/4" 1/4"
TR-19921 3/8" 3/8"
TR-19922 12" 12"
TR-19923 5/8" 5/8"
TR-19924 34" 34"
TR-19925 1" 1"
TR-19927 1.1/4" 1.1/4"
Tech Sheet 71476

=
BSPP Male 60° Cone x
o Hose Tail 90° Swept
= 0683 Thread To Suit Hose ID
= TR-19930 1/4" 1/4"
< TR-19931 3/8" 3/8"
e TR-19932 12 12
> TR-19933 5/8" 5/8"
= TR-19934 3/4" 3/4"
TR-19935 1 1

Tech Sheet 71477




HYDRAULIC ADAPTORS Ioj BRENNAN

Male/Female Swivel Adaptors

BSPP Male 60° Cone
DIN 3852 Form A x BSPP
Swivel Female 60° Cone
0683 Male Thread Female Thread
BSPP Male 60° Cone x BSPP Male 60° Cone x 60-6007-D-02-02 1/8" 1/8"
BSPP Swivel Female 60° Cone SAE 0-Ring Swivel Female 60-6007-D-02-06 18" 38 £
0683 Male Thread Female Thread 0683 Male Thread Female Thread 60-6007-D-04-02 " e £
60-6007-D-04-04 14" 14" ]
60-6007-02-02 18" 18" OR-4130-04-04 174" 9/16" 50-6007-D-04-06 e 38 s
60-6007-02-04 18" 14" OR-4130-06-04 174" 1/16" . . S
60-6007-02-06 18" 3/8" OR-4130-04-06 3/8” 9/16" zgggg;gg:g: ;;g ;;g =
60-6007-04-02 174" 1/8" OR-4130-06-06 3/8" 1/16" 50-6007-D-06-08 38" 2
60-6007-04-04 174" 14" OR-4130-08-06 3/8" 13/16" 50-6007-D-08.08 2 T3
60-6007-04-06 14" 3/8" OR-4130-08-08 12" 13/16" 60-6007-D-08-12 T g
60-6007-04-08 14 12" OR-4130-10-08 12" 1 60-6007-D-08-16 2 T
60-6007-04-12 14" 3/4" OR-4130-12-12 3/4 1.3/16" 50-6007-D-12-08 g vz
60-6007-06-02 3/8" 1/8" OR-4130-16-12 3/ 1.7/16" S0-5007-D-12:16 T E
60-6007-06-04 3/8" 14" OR-4130-16-16 1 1.7/16" 60-6007-D-12-20 I L
60-6007-06-06 3/8" 3/8" OR-4130-20-20 1.1/4" 1.11/16" 50-6007-D-16-08 1 vz
60-6007-06-08 3/8" 12" Tech Sheet 71479 S0-B07-D-16-12 e g
60-6007-06-10 3/8" 5/8" 60-6007-D-16-16 " -
60-6007-06-12 3/ 3/ 60-6007-D-16-20 B 114"
60-6007-06-16 3/ [ 60-6007-D-16-24 i 112"
60-6007-08-04 vz [l 60-6007-D-20-20 114" 114"
60-6007-08-06 12 38 60-6007-D-20-24 114" 112"
60-6007-08-08 vz 2 60-6007-D-20-32 114" 2
60-6007-08-10 vz 5/ 60-6007-D-24-24 112" 112
ool o B BSPP Male 60° Cone x S06007-D2432 112 2"
60-6007-10-04 5/8" 14" Metric Swivel Female Tech Sheet 71481
60-6007-10-06 5/8" 3/8 0683 Male Thread Female Thread
60-6007-10-08 5/8" 12" 60-6025-04-12 14" M12x 15
60-6007-10-10 5/8" 5/8" 60-6025-04-14 1/4" M14x15 BSPP Male 60° Cone x
60-6007-10-12 5/8" 34 60-6025-04-16 1/4” M16x 15 ;
60-6007-12-04 34 4 60-6025-04-18 14" M18x 15 NPSM Swivel Female
60-6007-12-06 3/4" 3/8" 60-6025-06-14 3/8" M14x15 0683 Male Thread Female Thread
60-6007-12-08 3/4 12" 60-6025-06-16 3/8" M16x1.5 TR-31427 14 74
60-6007-12-10 3/4" 5/8" 60-6025-06-18 3/8" M18x15 TR-31429 14 3/8"
60-6007-12-12 3/4" 3/4" 60-6025-06-20 3/8" M20x 15 TR-31433 3/8" /4"
60-6007-12-16 3/4 & 60-6025-06-22 3/8” M22x15 TR-31434 3/8 3/8"
60-6007-12-20 3/4" 1.1/4" 60-6025-08-16 12" M16x15 Tech Sheet 71482
60-6007-12-24 3/4 112 60-6025-08-18 12" M18x 15
60-6007-16-06 ” 3/8 60-6025-08-20 12" M20x 15
60-6007-16-08 ” vz 60-6025-08-22 12" M22x 1.5
60-6007-16-12 1" 3/4" 60-6025-08-24 112" M24x15 BSPT Male x BSPP
60-6007-16-16 1 1" 60-6025-08-26 12" M26x 1.5 Swivel Femal 60° Cone
ngz::ﬂ 1 ’ 1 17; 60-6025-10-22 5/8“ M22x 15 = RS
-6007-16- : 60-6025-12-22 3/4 M22x15 - -
60-6007-16-32 (K 7 Tech Sheet 71480 %00 -2 s v
50-6007-20-08 T vz 60-6041-04-04 4 4"
60-6007-20-12 L1 a5 60-6041-06-06 e L
60-6007-20-16 T v 60-6041-06-08 e’ 112
50-6007-20-20 T e 60-6041-08-06 17 L
60-6007-20-24 114" 112" 60-6041-08-08 vz vz
60-6007-24-16 172" E 60-6041-10-10 L 58
60-6007-24-20 112 114" :g:g:: ::'1’: g/ j ;/ Z A
60-6007-24-24 112" 11/2" poesiiiigt 3; . { ! =
60-6007-24-32 112" 2" ’ . >
60-6007-32-24 Pz 112" :ggg:: :g:: 1 ; 3{ 4 o
60-6007-32-32 2" 2" -0931-15- . . =)
i T 60-6041-20-20 1.1/4 1.1/4 ;
60-6041-24-24 11/2" 11/2"
60-6041-32-32 2" 2

Tech Sheet 71483




HYDRAULIC ADAPTORS Iy BRENNAN

Male/Female Swivel Adaptors  Swivel Females

" Metric Male x BSPP
- H o
E |veI Female Ie ror— BSPP Swivel Female x Metric Swivel Female x
. 5 . .
é_ 50.6045.12-00 Mi2x1e Y BSPP Swivel Female 60° Cone Metric Swivel Female
=] 60-6045-14-04 M14x15 1/4" 0683 Thread Thread 0683 Thread Thread
= 60-6045-14-06 M14x15 3/8" 60-6008-02-02 1/8" 1/8" 60-6102-12-12 M12x1.5 M12x1.5
60-6045-16-04 M16x15 1/4" 60-6008-04-02 1/8" 1/4" 60-6102-12-14 M12x15 M14x15
60-6045-16-06 M16x 1.5 38" 60-6008-06-02 1/8" 3/8" 60-6102-14-14 M14x15 M14x15
60-6045-16-08 M16x1.5 1/2" 60-6008-04-04 1/4" 1/4" 60-6102-16-16 M16x1.5 M16x 1.5
60-6045-16-12 M16x15 34" 60-6008-06-04 1/4" 3/8" 60-6102-16-18 M16x 1.5 M18x 15
60-6045-18-06 M18x 1.5 3/8" 60-6008-06-06 3/8" 3/8" 60-6102-18-18 M18x 15 M18x 1.5
60-6045-18-08 M18x 1.5 172" 60-6008-12-06 38" 34" 60-6102-18-20 M18x 15 M20x 15
60-6045-20-06 M20x 15 3/8" 60-6008-16-06 3/8" 1" 60-6102-18-22 M18x 1.5 M22x 15
60-6045-20-08 M20x 1.5 1/2" 60-6008-08-04 1/2" 1/4" 60-6102-20-20 M20x 15 M20x 1.5
60-6045-20-12 M20x 15 34" 60-6008-08-06 12" 38" 60-6102-20-22 M20x 1.5 M22x 15
60-6045-22-08 M22x15 12" 60-6008-08-08 12" 12" 60-6102-22-22 M22x 1.5 M22x 15
60-6045-22-12 M22x 1.5 3/4" 60-6008-10-08 1/2" 5/8" Tech Sheet 71489
60-6045-26-06 M26x 1.5 3/8" 60-6008-12-08 12" 3/4"
60-6045-30-08 M30x 1.5 1/2" 60-6008-10-06 5/8" 3/8"
Tech Sheet 71484 60-6008-10-10 5/8" 5/8"
60-6008-12-10 3 5/8"
60-6008-12-12 34" 3/4"
60-6008-16-12 34" 1"
60-6008-16-08 1 12"
Metric Male x 60-6008-16-16 1 1" ;
. . 60-6008-20-16 1 1.1/4
Metric Swivel Female 60-6008-24-16 T 12
0683 Male Thread Female Thread 60-6008-20-12 1.1/4" 3/4"
60-6049-14-14 M14x15 M14x15 60-6008-20-20 1.1/4 1.1/4"
60-6049-16-16 M16x 1.5 M16x 1.5 60-6008-24-24 1.1/2" 11/2"
60-6049-16-18 M16x 1.5 M18x 15 60-6008-32-24 1.1/2" 2
60-6049-18-18 M18x 15 M18x 1.5 60-6008-32-32 2" 2"
60-6049-20-20 M20x 1.5 M20x 1.5 Tech Sheet 71487
60-6049-20-22 M20x 1.5 M22x 15
60-6049-22-18 M22x 1.5 M18x 15
60-6049-22-22 M22x 1.5 M22x 15
60-6049-22-20 M22x 15 M20x 15
Tech Sheet 71485

NPT Male x BSPP X BSPP Swivel Female

Swivel Female 60° Cone 60° Cone x Metric Swivel Female

[11:%] Male Thread Female Thread [11:%] Thread Thread

60-6028-02-02 1/8" 1/8" 60-6046-04-12 1/4" M12x15

60-6028-04-04 1/4" 1/4" 60-6046-04-14 1/4" M14x15

60-6028-06-04 3/8" 1/4" 60-6046-06-12 3/8" M12x15
<  60-6028-06-06 3/8" 3/8" 60-6046-06-14 3/8" M14x15
©  60-6028-06-08 3/8" 1/2" 60-6046-06-16 3/8" M16x 1.5
=  60-6028-08-06 1/2" 3/8" 60-6046-06-18 3/8" M18x15
< 60-6028-08-08 12" 12" 60-6046-06-20 3/8” M20x 15
g 60-6028-12-08 3/4" 1/2" 60-6046-06-22 38" M22x 15
> 60-6028-12-12 3/4" 3/4" 60-6046-08-16 1/2" M16x 1.5
T 60-6028-16-12 1 3/4" 60-6046-08-18 12" M18x15

60-6028-16-16 1 1 60-6046-08-22 12" M22x 1.5

Tech Sheet 71486 Tech Sheet 71488




HYDRAULIC ADAPTORS Ioj BRENNAN

Hexagon Female Sockets 90° Elbows

BSPP Swivel Female x BSPP Swivel
Female 90° Swept Elbow 60° Cone

(%]
2
BSPP Fixed Female x BSPP Male x BSPP Male §
H o o a =V (=}
BSPP Fixed Female 90° Swept Elbow 60° Cone 60-6010-06.-06 35" s
06010056 s E
60-6022-02-02 1/8" 60-6034-04-04 1/4" 60-6010-10-10 5/8" S
60-6022-04-04 1/4" 60-6034-06-06 3/8" 60-6010-12-12 3/4"
60-6022-06-06 3/8" 60-6034-08-08 1/2" 60-6010-16-16 1"
60-6022-08-08 1/2" 60-6034-10-10 5/8" 60-6010-20-20 1.1/4"
60-6022-10-10 5/8" 60-6034-12-12 3/4" 60-6010-24-24 11/2"
60-6022-12-12 3/4" 60-6034-16-16 1" Tech Sheet 71496
60-6022-16-16 1" 60-6034-32-32 2"
60-6022-20-20 1.1/4" Tech Sheet 71493
60-6022-24-24 1.1/2"
60-6022-32-32 2"

Tech Sheet 71490

BSPP Swivel Female 60° Cone x
Hose Tail 90° Swept Elbow

0683 LLIGED] To Suit Hose ID
TR-93000 14" 14"
TR-93001 3/8" 3/8"
o TR-93002 12" 12"
BSPP Male 60 Con_e_x TR-93003 5/6" 5/6"
BSPP Male 90° Positional Forged Elbow TR-93004 34" 34"
BSPP Fixed Female x 0683 Thread TR-83008 . .
. ; 60-2008-04-04 1/4" TR-93006 1.1/4 1.1/4
BSPP Fixed Female Reducing 50-2008-06-06 28" Tech Sheet 71497
0683 Thread Thread 60-2008-08-08 12"
60-6022-02-04 1/8" 1/4" 60-2008-12-12 3/
60-6022-04-06 14" 3/8" 60-2008-16-16 1
60-6022-04-08 174" 1/2" 60-2008-20-20 1.1/4" Female Elbow
60-6022-06-08 3/8" 12" Tech Sheet 71494 90° BSPP 60° Cone
60-6022-08-12 12" 3/4"
60-6022-10-12 12" 5/8" 0683 LLIGED] To Suit Hose ID
60-6022-12-16 3/4" 1" TR-09280 /4" /4
Tech Sheet 71491 TR-09281 38 38
TR-09282 12" 12"
TR-09283 5/8" 5/8"
TR-09284 3/4" 3/4"
TR-09285 17 17
Tech Sheet 71498
BSPP Male x BSPP Swivel Female
90° Swept Elbow 60° Cone
- 0683 Thread
. . 60-6009-04-04 14"
NPT Fixed Female x NPT Fixed Female 60-6009-06-06 3/8" BSPP Swivel Female 60° Cone x
60-6009-08-08 12" Hose Tail 90° Compact
50-5000-02-02 8 60-6009-10-10 5/8"
50-5000-04-04 1/4" 60-6009-12-12 3" 0683 Thread To Suit Hose ID 17
50-5000-06-06 38" 60-6009-16-16 1" TR-80001 174" 174" =
50-5000-08-08 2 60-6009-20-20 114" TR-80002 36" 36" =
50-5000-12-12 34" 60-6009-24-24 117" TR-80008 vz 38 <
50-5000-16-16 1" 60-6009-32-32 2" TR-80003 172" 172" =
50-5000-24-24 1.1/2" Tech Sheet 71495 TR-80004 5/8" 5/8" =

Tech Sheet 71492 TR-80005 3/4" 3/4"
TR-80006 1" 1"
Tech Sheet 71499




BEJ HYDRAULIC ADAPTORS hoj BRENNVAN

@ 90° Compact Elbows

= . N T

(X

E BSPP Male x BSPP Male 90° Compact BSPP Male for BSPP Female x

=] Elbow for Bonded Seal 60° Cone Bonded Seal x BSPP Swivel Female BSPP Female 90° Compact Elbow

E W 0ss Thread Thread 90° Compact Elbow 60° Cone 0683 Thread

bl 60-2003-02.02 178 8 0683 Male Thread  Female Thread 60-2004-04-04 74
60-2003-04-02 1/4" 1/8" 60-2006-BS-02-02 1/8" 1/8" 60-2004-06-06 3/8"
60-2003-04-04 1/4" 1/4" 60-2006-BS-04-04 1/4" 1/4" 60-2004-08-08 1/2"
60-2003-04-06 1/8" 3/8" 60-2006-BS-06-06 3/8" 3/8" 60-2004-12-12 3/4"
60-2003-06-06 3/8" 3/8" 60-2006-BS-06-04 3/8" 1/4" 60-2004-16-16 1"
60-2003-06-08 3/8" 1/2" 60-2006-BS-08-06 12" 3/8" 60-2004-20-20 1.1/8"
60-2003-08-08 172 1/2" 60-2006-BS-08-08 12" 1/2" Tech Sheet 71505
60-2003-08-12 172 3/4 60-2006-BS-08-12 12" 34
60-2003-12-12 3/4 3/4" 60-2006-BS-10-10 5/8" 5/8”
60-2003-16-12 & 34 60-2006-BS-12-12 34 3"
60-2003-16-16 & & 60-2006-BS-16-16 1 1 <
60-2003-20-20 (AL 114 60-2006-BS-20-20 1.1/4" 1.1/4" iq \ :
60-2003-32-32 2 z 60-2006-BS-24-24 11/2" 11/2" \ 8
Tech Sheet 71500 60-2006-BS-32-32 2" 2" \ \ . ¥
Tech Sheet 71503 o &

BSPP Swivel Female x BSPP Swivel
Female 90° Compact Elbow 60° Cone

0683 Thread Thread
60-2005-02-02 18" 1/8"
60-2005-02-04 18" 1/4"
- 60-2005-04-04 1/4" 1/4"
BSPP Male 60° COHe X & 60-2005-04-06 1/4" 3/8"
BSPT Male 90° Compact Elbow BSPP Male for 60-2005-04-08 i vz
. 60-2005-06-06 3/8 3/8
0683 r— r— Cone Seal x BSPP Swivel Female 60-2005-06-08 38" 12
60-2012-02-02 /8" 1/8" 60° Compact Elbow 60° Cone 60-2005-08-08 12" 12"
60-2012-04-02 14 178" = Mals Tirsad P——— 60-2005-10-10 5/8" 5/8"
60-2012-04-04 1 a8 50-2006-04-02 e 8" 60-2005-12-12 3/4" 3/4"
60-2012-06-06 38" 38 60-2006-04-06 e 38" 60-2005-12-16 3/4" 1"
60-2012-08-06 172 L 60-2006-06-04 g i 60-2005-16-16 1 1"
60-2012-08-08 12 172 60-2006.06-08 8 Va 60-2005-20-20 1.1/4" 1174
60-2012-12-12 3/4 34 60-2006-06-12 28" 3 60-2005-24-24 11/2" 11/2"
60-2012-16-16 1 1 60-2006-08-06 12 3" 60-2005-32-32 2’ 2
Tech Sheet 71501 60-2006-08-12 e 3 Tech Sheet 71506
60-2006-08-16 12" 1
60-2006-12-16 3/ 1
60-2006-16-12 1 3/8"
60-2006-32-32 2" 2"
Tech Sheet 71504

7]

< BSPP Male 60° Cone x

= NPT Male 90° Compact Elbow

é 0683 Thread Thread

S 60-2014-04-04 14" 14"

5= 60-2014-06-06 38" 38"
60-2014-08-08 12" 12"

Tech Sheet 71502




HYDRAULIC ADAPTORS Iy BRENNAN

90° Compact Elbows

. [}
&2
BSPP Male x NPT Male x BSPP Swivel Female NPT Male x NPT Fixed Female §
BSPP Swivel Female 90° 90° Compact Elbow 60° Cone 90° Compact Elbow =3
Forged Compact Elbow 60° Cone 0683 Male Thread _Female Thread 0683 Male Thread  Female Thread E
60-2051-02-02 18" 1/8" 50-5502-02-02 18" 1/8" =
60-2006-04-04 14" 60-2051-04-04 14" 1/4" 50-5502-04-04 14" 1/4"
60-2006-06-06 3/8" 60-2051-06-06 38" 3/8" 50-5502-06-04 3/8" 1/4"
60-2006-08-08 12" 60-2051-08-08 12" 1/2" 50-5502-06-06 3/8" 3/8"
60-2006-12-12 3" 60-2051-12-12 34" 3/4" 50-5502-08-06 12" 3/8"
60-2006-16-16 1 60-2051-16-16 1" 1 50-5502-08-08 12" 1/2"
60-2006-20-20 114" 60-2051-20-20 1.1/4” 1.1/4" 50-5502-12-12 34" 3/4"
60-2006-24-24 112" 60-2051-24-24 1.1/2" 11/2" 50-5502-16-16 1" 1
Tech Sheet 71507 Tech Sheet 71510 50-5502-20-20 1.1/4" 1.1/4"
50-5502-24-24 1.1/2" 1.1/2"
Tech Sheet 71512

BSPT Male x BSPT Male NPT Male x NPT Male
90° Compact Elbow 90° Compact Elbow .
[11:%] Thread 0683 Thread Thread NPT Fixed Female x
H o
50-2015-02-00 e 50-5500-04-00 e e NPT Fixed Female 90° Compact Elbow
60-2015-06-06 38 50-5500-06-06 38" 3/8" 0683 Thread Thread
60-2015-08-08 1/2" 50-5500-08-08 1/2" 1/2" 50-5504-02-02 1/8" 1/8"
60-2015-12-12 34" 50-5500-12-12 34" 3/4" 50-5504-04-04 1/4” 1/4°
60-2015-16-16 1 50-5500-16-16 1" 1 50-5504-06-06 38" 3/8"
60-2015-20-20 1.4/4" 50-5500-20-20 1.4/4" 1.1/4" 50-5504-06-08 3/8" 1/2"
Tech Sheet 71508 50-5500-24-24 11/2" 1.1/2" 50-5504-08-08 12" 1/2"
50-5500-32-32 2 2" 50-5504-12-12 34" 34"
Tech Sheet 71511 50-5504-16-16 1" 1"
50-5504-20-20 1474 1.1/
50-5504-24-24 1172 1172
50-5504-32-32 2 2
Tech Sheet 71513

BSPT Male x BSPP Swivel Female
90° Compact Elbow 60° Cone

0683 Male Thread Female Thread

60-2050-02-02 1/8" 1/8"

60-2050-04-04 1/4" 1/4"

60-2050-06-06 3/8" 3/8"

60-2050-08-08 172" 1/2" 8

60-2050-12-08 3/4" 1/2" o

60-2050-12-12 3/4" 3/4" <=:

60-2050-16-16 1" 1" oc

60-2050-24-24 1.1/2" 1.1/2" E
Tech Sheet 71509 = =




BEJ HYDRAULIC ADAPTORS hoj BRENNAN

45° Compact Elbows

(%)
&
E BSPP Male x BSPP Male BSPP Swivel Female x BSPP Swivel BSPP Male x BSPP Swivel Female 45°
=] 45° Swept Elbow 60° Cone Female 45° Swept Elbow 60° Cone Forged Compact Elbow 60° Cone
H = Thread
bl 60-6035-04-04 14" 60-6012-04-04 14" 60-4001-04-04 14"
60-6035-06-06 3/8" 60-6012-06-06 3/8 60-4001-06-06 3/
60-6035-08-08 12" 60-6012-08-08 12" 60-4001-08-08 12"
60-6035-10-10 5/8" 60-6012-10-10 5/8" 60-4001-12-12 3/8
60-6035-24-24 1172 60-6012-12-12 3/4 60-4001-16-16 1
Tech Sheet 71514 60-6012-16-16 1 Tech Sheet 71520
60-6012-20-20 1.1/4"
60-6012-24-24 11727
60-6012-32-32 2"
Tech Sheet 71517

BSPP Male x BSPP Swivel Female

45° Swept Elbow 60° Cone
0683 Thread
mmgg: ;;g BSPP Male x BSPP Male 45°
S0-5011-08-08 2 Positional Forged Elbow
60-6011-10-10 5/8" 0683 Thread
60-6011-12-12 3/4" 60-2010-04-04 /4"
60-6011-16-16 1 60-2010-06-06 3/8"
60-6011-20-20 1.1/4" 60-2010-08-08 12"
60-6011-24-24 1.1/2" 60-2010-12-12 3/4"
60-6011-32-32 2’ 60-2010-16-16 1
Tech Sheet 71515 Tech Sheet 71518

BSPP Swivel Female x Hose Tail

Female Elbow 45°
45° Swept 60° Cone

BSPP 60° Cone
45 o Thad o s“"m 1 0683 Thread To Suit Hose ID
A e —— TR-19280 1/4" 1/4"
echohee TR-19281 38" 38"
TR-19282 12" 12"
% TR-19283 58" 58"
= TR-19284 3/4" 3/4"
3 TR-19285 1 1
[-' Tech Sheet 71519
=)
>
T




HYDRAULIC ADAPTORS

Tees

BSPP Male x BSPP Male x BSPP Swivel

Female Branch Tee 60° Cone

0683

60-3002-02-02-02
60-3002-04-04-04
60-3002-06-06-06
60-3002-08-08-08
60-3002-12-12-12
60-3002-16-16-16
60-3002-20-20-20

BSPP Male x BSPP Swivel Female x
BSPP Male Branch Tee 60° Cone

0683 Thread

60-3003-02-02-02
60-3003-04-04-04
60-3003-06-06-06
60-3003-08-08-08
60-3003-10-10-10
60-3003-12-12-12
60-3003-16-16-16
60-3003-20-20-20

BSPP Male x BSPP Swivel Female x
BSPP Swivel Female Branch Tee

60° Cone
0683 LLIGED
60-3007-02-02-02 1/8"
60-3007-04-04-04 1/4"
60-3007-06-06-06 3/8"
60-3007-08-08-08 1/2"
60-3007-10-10-10 5/8"
60-3007-12-12-12 3/4"
60-3007-16-16-16 1"
60-3007-20-20-20 1.1/4"
Tech Sheet 71523

LLIGED

1/8"
1/4"
3/8"
12
3/4"
1

1.1/4"

Tech Sheet 71521

1/8"
1/4"
3/8"
1/2"
5/8"
3/4"
1

1.1/4"

Tech Sheet 71522

BSPP Male x

BSPP Swivel Female x BSPP Mélé
Branch Tee Reducing on Branch 60° Cone

Thread C
1/4"
1/4"
3/8"
1/4"
3/8"
1/2"
1/4"
3/4"

0683 Thread A Thread B
60-3003-06-06-04 3/8" 3/8"
60-3003-08-08-04 1/2" 1/2"
60-3003-08-08-06 1/2" 1/2"
60-3003-12-12-04 3/4" 3/4"
60-3003-12-12-06 3/4" 3/4"
60-3003-12-12-08 3/4" 3/4"
60-3003-16-16-04 1" 1"
60-3003-16-16-12 1" 1"
Tech Sheet 71524
AN ¥
BSPP Male x BSPP Swivel

Female x BSPP Male Branch

Tee Reducing on Run 60° Cone

0683
60-3003-06-08-08

BSPP Male x BSPP Swivel
Female x BSPP Male Branch
Tee Enlarging on Branch 60° Cone

0683
60-3003-06-06-08

BSPP Swivel Female

x BSPP Swivel Female

x BSPP Male Branch Tee 60° C
60-3006-04-04-04 174"
60-3006-06-06-06 3/8"
60-3006-08-08-08 12"
60-3006-10-10-10 5/8"
60-3006-12-12-12 3/4"
60-3006-16-16-16 1"
60-3006-20-20-20 1.1/4"

Thread A Thread B
3/8" 1/2"
Tech Sheet 71525

A

Thread A
3/8"

Thread B

3/8"

Tech Sheet 71526

Tech Sheet 71527

Thread C
1/2"

Thread C
1/2"

loj BRENNAN [

NPT Male x NPT Female x
NPT Male Branch Tee
0683 Thread
50-5603-04-04-04 1/4”
50-5603-06-06-06 38"
50-5603-08-08-08 1/2"
50-5603-12-12-12 34
50-5603-16-16-16 1"
50-5603-20-20-20 1.1/4"
50-5603-24-24-24 11/2"
Tech Sheet 71528
NPT Male x NPT Female x
NPT Female Branch Tee
0683 Thread
50-5602-02-02-02 1/8"
50-5602-04-04-04 1/4”
50-5602-06-06-06 3/8"
50-5602-08-08-08 1/2"
50-5602-12-12-12 3/4"
50-5602-16-16-16 1"
50-5602-20-20-20 1.1/4"
50-5602-24-24-24 11/2"
Tech Sheet 71529
NPT Female x NPT Female x
NPT Male Branch Tee
0683 Thread
50-5604-04-04-04 1/4"
50-5604-06-06-06 3/8"
50-5604-12-12-12 34"
50-5604-16-16-16 1"
50-5604-20-20-20 1.1/4"
50-5604-24-24-24 1172
Tech Sheet 71530

Components

(7]
=
=
=
<
cc
(=]
>
=




HYDRAULIC ADAPTORS Iy BRENNAN

Tees

" S
]
= H o i
| BSPP Male x BSPP Male x BSPP Swivel ~ Dor' Swivel Female Tee 60° Cone grsa':z,':" :c:e gs:eﬂeducmg o
= Female Branch Unequal Tee 60° Cone 004 02.02-02 T'”
S -3004-02-02- /8 0683 ThreadA Thread B Thread C
[X] 0683 Thread A Thread B Thread C 60-3004-04-04-04 1/4" 60-3001-04-04-02 14" 14" 1/8"
60-3002-06-08-08 3/8" 1/2" 1/2" 60-3004-06-06-06 3/8" 60-3001-06-06-04 3/8" 3/8" 1/4"
60-3002-04-08-08 174" 1/2" 12" 60-3004-08-08-08 1/2" 60-3001-08-08-04 12" 1/2" 1/4"
60-3002-08-12-12 1/2" 3/4" 3/4" 60-3004-10-10-10 5/8" 60-3001-10-10-08 5/8" 5/8" 172"
60-3002-08-12-16 172" 3/4" 1 60-3004-12-12-12 3/4" 60-3001-12-12-04 34" 3/4" 1/4"
Tech Sheet 71531 60-3004-16-16-16 1" 60-3001-12-12-08 3/4" 3/4" 172"
60-3004-20-20-20 1.1/4" 60-3001-16-16-12 1 1" 34"
60-3004-24-24-24 1.1/2" 60-3001-20-20-12 1.1/4" 1.1/4" 3/4"
60-3004-32-32-32 2 60-3001-20-20-16 1.1/4" 1.1/4" 1
Tech Sheet 71534 Tech Sheet 71537

BSPP Male Tee 60° Cone Seating
Enlarging on Branch

0683 Thread A Thread B h
60-3001-06-06-08 38" vz BSPP Female Tee BSPP Male Tee for Bonded Seal 60° Cone
Tech Sheet 71532

0683 Thread
60-3005-02-02-02 1/8" 60-3001-02-02-02 1/8"
60-3005-04-04-04 14" 60-3001-04-04-04 14"
60-3005-06-06-06 3/8" 60-3001-06-06-06 3/8"
60-3005-08-08-08 12" 60-3001-08-08-08 12"
60-3005-10-10-10 5/8" 60-3001-10-10-10 5/8"
60-3005-12-12-12 3/4" 60-3001-12-12-12 3/4”
60-3005-16-16-16 1 60-3001-16-16-16 1
60-3005-20-20-20 1.1/4" 60-3001-20-20-20 1.1/4"
60-3005-24-24-24 11/2" 60-3001-24-24-24 112"

NPT Male Tee 60-3005-32-32-32 2 60-3001-32-32-32 2

0683 Thread Tech Sheet 71535 Tech Sheet 71538

50-5600-02-02-02 1/8"

50-5600-04-04-04 14"

50-5600-06-06-06 3/8"

50-5600-08-08-08 12"

Tech Sheet 71533

NPTF Female Tee

0683 Thread

50-5605-02-02-02 178"
. 50-5605-04-04-04 14"
o 50-5605-06-06-06 3/8"
= 50-5605-08-08-08 12"
< 50-5605-12-12-12 3/4"
e 50-5605-16-16-16 1
> 50-5605-20-20-20 11/4
= 50-5605-24-24-24 112"

50-5605-32-32-32 2

Tech Sheet 71536




HYDRAULIC ADAPTORS Iy BRENNAN

Bulkheads Plugs

BSPP Male x BSPP Male Bulkhead BSPP Male x BSPP Male BSPP Solid Plug 2
complete with Locknut 60° Cone Bulkhead 60° Cone No Locknut g
0683 Thread Thread 0683 Thread A Thread B 60-6031-04 1/4" E’
60-6003-02-02 1/8" 1/8" 60-6003-02-02-M1 1/8" 1/8" 60-6031-06 3/8" S
60-6003-04-04 14" 14" 60-6003-04-04-M1 14" 1/4" 60-6031-08 12"
60-6003-04-06 1/4" 3/8" 60-6003-06-06-M1 3/8" 3/8" 60-6031-10 5/8"
60-6003-06-04 3/8" 1/4" 60-6003-08-08-M1 12" 12" 60-6031-12 3/4"
60-6003-06-06 3/8" 3/8" 60-6003-10-10-M1 5/8" 5/8" 60-6031-16 1"
60-6003-06-08 3/8" 12" 60-6003-12-12-M1 3/4" 3/4" 60-6031-20 1.1/4"
60-6003-08-06 12" 3/8" 60-6003-16-16-M1 1" 1 60-6031-24 11/2"
60-6003-08-08 1/2" 1/2" 60-6003-20-20-M1 1.1/4" 1.1/4" 60-6031-32 2"
60-6003-08-12 12" 3/4" 60-6003-24-24-M1 1.1/2" 11/2" Tech Sheet 71545
60-6003-10-10 5/8" 5/8" 60-6003-32-32-M1 2 2"
60-6003-12-08 34" 12" 60-6003-04-06-M1 1/4" 3/8"
60-6003-12-12 3/4" 3/8" 60-6003-06-04-M1 3/8" 1/4"
60-6003-16-16 1" 1 60-6003-06-08-M1 38" 1/2"
60-6003-20-20 11/8" 11/4" 60-6003-08-06-M1 12" 3/8"
60-6003-24-16 11/2" 1 60-6003-06-12-M1 12" 3/4"
60-6003-24-24 1.1/2" 14/2" 60-6003-12-08-M1 3/4" 12"
60-6003-32-32 2" 2" Tech Sheet 71541
60-6003-40-40 21/2" 21/2"
60-6003-48-48 3 3 BSPP 60° Coned Plug
Tech Sheet 71539
0683 LLIGED]
60-6006-02 18"
60-6006-04 1/4"
60-6006-06 3/8"
Metric Male x 60-6006-08 1/2"
. 60-6006-10 5/8"
Metric Male Bulkhead No Locknut 60-6006.12 v
0683 Thread Thread 60-6006-16 1"
60-6026-12-12-M1 M12x15 M12x15 60-6006-20 11/4"
BSPP Male x BSPP Male 60-6026-14-14-M1 M14x15 M14x15 60-6006-24 112"
° 60-6026-16-16-M1 M16x 1.5 M16x 1.5 60-6006-32 2"
Extended Bulkhead 60° Cone 60-6026-18-18-M1 M18x15 M18x 1.5 60-6006-40 212"
complete with Locknut 60-6026-20-20M1 M20 15 M20 x 1.5 Tech Sheet 71544
0683 E——y Thread B 60-6026-20-20-M1 M22x15 M22x 1.5
60-6003-L-04-08 e Wz 60-6026-24-24-M1 M24x15 M24x15
60-6003-L-06-06 3/8" 3/8" Tech Sheet 71542
60-6003-L-06-08 3/8" 12"
60-6003-L-08-06 12" 3/8"
60-6003-L-08-08 12" 12"
60-6003-L-10-10 5/8" 5/8"
60-6003-L-12-08 34" 1/2"
60-6003-L-12-12 3/4" 3/8" Metric Male x
60-6003-L-16-16 1" 1 o
e Metric Male Bulkhead BSPP 60° Coned Plug to DIN 3852 Form A
complete with Locknut
60-6006-DIN-04 1/4
60-6006-DIN-06 38 v
60-6026-12-12 M12x1.5 60-6006-DIN-08 172" =
60-6026-14-14 M14x1.5 60-6006-DIN-12 3/4" 5'
60-6026-16-16 M16x 1.5 60-6006-DIN-16 1" <
60-6026-18-18 M18x 15 60-6006-DIN-32 2 =
60-6026-20-20 M20x 1.5 Tech Sheet 71546 >=
60-6026-22-22 M22 x 1.5 =
60-6026-24-24 M24x15

Tech Sheet 71543




HYDRAULIC ADAPTORS Iy BRENNAN

Plugs
BSPP Socket Headed Metric Solid Plug
Plug for Bonded Seal 1.5mm Pitch
N = Thread 0683 Thread NPT Socket Headed Plug
44 TR-09025-02-SPG 18" 60-6021-10X1.5 M10x 15 0683 Er—
E TR-09026-04-SPG 14" 60-6021-12 M12x 15 50-5406-HP-01 18"
=]  TR-09027-06-SPG 3/8 60-6021-14 M14x15 50-5406-HP-04 14
5] TR-09028-08-SPG 12" 60-6021-16 M16x 15 50-5406-HP-06 38"
[x]  TR-09030-12-SPG 34" 60-6021-18 M18x 15 50-5406-HP-08 VR
Tech Sheet 71547 60-6021-20 M20x 1.5 50-5406-HP-12 3/4”
60-6021-22 M22 x 15 50-5406-HP-16 1
60-6021-24 M24x1.5 Tech Sheet 71554
60-6021-26 M26 x 1.5
Tech Sheet 71551
BSPP Socket Headed
Plug with ED Seal
[11:%] Thread
60-6030-02 /8"
60-6030-04 14" .
60-6030-06 e NPT Solid Plug
60-6030-08 12" Metric Socket Headed Plug 0683 Thread
60-6030-12 3/4" for Bonded Seal 50-5406-P-02 /8"
Tech Sheet 71548 50-5406-P-04 /4"
[11:%] Thread 50-5406-P-06 3/8"
TR-09179-M10-SPG M10x 1 50-5106-P-08 2
A TR-09173-M14-SPG M14x15 50-5406-P-12 Eg
N\ TR-09170-M16-SPG M16x15 50-5406-P-16 1
| . -09176-M22- .
N \\\\\\ TR-09176-M22-SPG M22x15 50-5406.P-20 1
Y n Tech Sheet 71552 50-5406-P-24 112"
\K \) ” 50-5406-P-32 2"
o 50-5406-P-40 21/2"
BSPT Solid Plug 50-5406-P-48 3"
Tech Sheet 71555
0683 Thread
60-6032-02 /8"
60-6032-04 14"
60-6032-06 3 Metric Socket Headed Plug
60-6032-08 12 ith ED Seal
60-6032-10 5/8" wi éa
60-6032-12 3/4" 0683 Thread
60-6032-16 1 60-6800-ED-10 Mi0x 1 SAE Boss Socket .
60-6032-24 112" 60-6800-ED-14 Mi4x 15 Head Male Plug with 0-Ring
60-6032-32 2 60-6800-ED-16 M16x 15 0683 Thread
Tech Sheet 71549 60-6800-ED-22 M22x1.5 37-2070-04 716"
60-6800-ED-26 M26 x 1.5 37-2070-05 1/2"
Tech Sheet 71553 37-2070-06 9/16"
37-2070-08 3/4"
37-2070-10 7/8"
37-2070-12 1.1/16”
37-2070-14 13/16”
37-2070-16 15/16”
Metric Solid Plug 1mm Pitch Tech Sheet 71556
7]
=) 0683 LLIGED
=  60-6021-08 M8 x 1
=  60-6021-10 M10x 1
g TR-09168 M12x1
>= Tech Sheet 71550
T




HYDRAULIC ADAPTORS Iy BRENNAN

Plugs Crosses

SAE 0-Ring Boss
Male Solid Plug with 0-Ring

’ 7}

_ 2
uso 02 T e BSPP Male Cross 60° NPT Female Cross s

-2060- /16 =
37-2060-04 716" Cone for Bonded Seal 0683 Thread 2
7200005 g 50552 I £
37-2060-06 9/16" 60-5000-02 1/8" 50-5652-06 3/8" o
37-2060-08 3/4" 60-5000-04 1/4" 50-5652-08 1/2"
37-2060-10 7/8" 60-5000-06 3/8" 50-5652-16 1"
37-2060-12 1.1/16" 60-5000-08 12" 50-5652-24 1.1/2"
37-2060-14 1.3/16" 60-5000-10 5/8" Tech Sheet 71564
37-2060-16 1.5/16" 60-5000-12 3/4"
37-2060-20 1.5/8" 60-5000-16 1"
37-2060-24 1.7/8" 60-5000-20 11/ Locknuts
31-2060-32 2.1/2" Tech Sheet 71561

Tech Sheet 71557

SAE 0-Ring Face

Plug with 0-Ring BSPP Locknut
0683 Thread . 0683 Thread
OR-2040-04 9/16” BSPP Female Cross 60-6004-02 1/8"
OR-2040-06 11/16" -6004- .
/ ' 0683 = 60-6004-04 1/4
OR-2040-08 13/16 - 60-6004-06 3/8"
. 60-5002-02 1/8 .
OR-2040-10 1 . 60-6004-08 1/2
. 60-5002-04 1/4
OR-2040-12 13/16 p 60-6004-10 5/8"
. 60-5002-06 3/8
OR-2040-16 1716 60-5002-08 vz 60-6004-12 3/4"
Tech Sheet 71558 e -6004- "
o
60-5002-16 r 60-6004-24 112
60-5002-20 1.1/4" so-s 0 04- » : 2{,
Tech Sheet 71562 Band
Tech Sheet 71565
JIS Solid Plug 30° Cone
(BSPP Threads)
0683 Thread
7588-P-04 1/4"
7588-P-06 3/8"
7588-P-08 12"
7588-P-12 3/4" .
Tech Sheet 71559 - o Metric Locknut
BSPP Swivel Female Cross 60° Cone
0683 Thread
0683 Thread 60-1001-12 M12x15
60-5001-02 18" 60-1001-14 M14x15
60-5001-04 s 60-1001-16 M16x 15
60-5001-06 38 60-1001-18 M18x 15
JIS Solid Plug 30° Cone 60-5001-08 172 60-1001-20 M20x 15
(Metric Threads) 60-5001-10 58 60-1001-22 M22x 15 «a
60-5001-12 3/4 60-1001-24 M24x 15 =
0683 Thread 60-5001-16 1" Tech Sheet 71566 =}
TR-9711-14 M14x1.5 60-5001-20 1.1/4" <t
TR-9711-18 M18x 1.5 60-5001-24 1.1/2" g
TR-9711-22 M22x 15 Tech Shest 71563 =
TR-9711-24 M24x 1.5
TR-9711-30 M30x 1.5

Tech Sheet 71560




HYDRAULIC ADAPTORS Iy BRENNAN

Blanking Cap Crimp Nuts Test Point Adaptors

" BSPP Swivel 60° Coned Blanking Cap BSPP Crimp Nut

2

g 0683 Throad BSPP Male x Swivel Female,

o 60600502 1/8 60-6033-04 1/4 ~ BSP Test Poi

=1 60-6005-04 14" 60-6033-08 12" 1/8” BSP Test Point

H wwnso 3 o010 51

= 60-6005-08 12" 60-6033-12 34 TR-01425-TP-B02 /8"
60-6005-10 5/8" 60-6033-16 1 SNA-04-04-02 4
60-6005-12 34 60-6033-20 114" SNA-06-06-02 38"
60-6005-16 1 60-6033-24 11/2" SNA-08-08-02 12"
60-6005-20 11/4" 60-6033-32 2 SNA-12-12-02 34"
60-6005-24 112" Tech Sheet 71571 SNA-16-16-02 1
60-6005-32 7 Tech Sheet 71574

Tech Sheet 71567

Metric Crimp Nut
Metric Swivel Blanking Cap 0683 Thread )
0683 — TR-08049 M10x 1.5 ~—

rea

TR-08050 M12x1.5 " P
:g:g;g:i mix 12 TR.08051 Midx 15 1/8” BSPP Male, M16 x 2 Test Point Fitting
00.6020.16 i X e TR-08053 M18x 15 0683 Thread

Pese x Tech Sheet 71572 R-002449006 1/8"
60-6020-18 MI8x 1.5 Tech Sheet 71575
60-6020-20 M20x 1.5
60-6020-22 M22x 1.5
Tech Sheet 71568
p o
. NPSM Crimp Nut
\
JIS Female Cap - 8004 T"
(BSPP Threads) ol TR-18000 o
0683 Thread TR-18001 38"
7688-C-04 174" TR-18002 12"
7688-C-06 38" TR-18003 34"
7688-C-08 1/2" TR-18005 1"
7688-C-12 34" TR-18007 14
Tech Sheet 71569 TR-18008 112"
TR-18009 2
Tech Sheet 71573

JIS Female Cap

(Metric Threads)
(7] 0683 Thread
g TR-9721-14 M14x1.5
=  TR9721-18 M18x 1.5
= T2 M22x15
o  TR-9721-24 M24x1.5
= TR9721-30 M30x 1.5

Tech Sheet 71570




ORFS HYDRAULIC ADAPTORS Iy BRENNAN

Straight Adaptors 90° Elbows

2 o
]

Male x Male Adaptor Bulkhead Locknut Male x Male 90° Forged Compact Elbow §

063 Thread =

OR-4000-04-04 9/16" OR-1001-04 9/16" OR-8000-04-04 9/16" E

OR-4000-06-06 11/16" OR-1001-06 11/16" OR-8000-06-06 11/16" ]

OR-4000-08-08 13/16" OR-1001-08 13/16" OR-8000-08-08 13/16"

OR-4000-10-10 1" OR-1001-10 1" OR-8000-10-10 1"

OR-4000-12-12 13/16" OR-1001-12 13/16" OR-8000-12-12 13/16"

OR-4000-16-16 17/16" OR-1001-16 17/16" OR-8000-16-16 17/16"

OR-4000-20-20 111/16" OR-1001-20 111/16" Tech Sheet 71363

Tech Sheet 71359 Tech Sheet 71361

’ o Male x Male 90° Forged Bulkhead
Male x Male Bulkhead c/w Locknut Male x Swivel Female c¢/w Locknut

0683 Thread 0683 Male Thread Female Thread
OR-4020-04-04 9/16" OR-4090-04-06* 9/16" 11/16" OR-8020-04-04 9/16"
OR-4020-06-06 11/16" OR-4090-06-08* 11/16" 13/16" OR-8020-06-06 11/16"
OR-4020-08-08 13/16" OR-4090-10-12* 13/16" 1 OR-8020-08-08 13/16"
OR-4020-10-10 1" OR-4090-12-16* 13/16" 17/16" OR-8020-10-10 1"
OR-4020-12-12 13/16" OR-4090-16-20* 17/16" 1.11/16" OR-8020-12-12 13/16"
OR-4020-16-16 1718 OR-4090-08-10 13/16" 1" Tech Sheet 71364
OR-4020-20-20 111/16" OR-4090-04-12 9/16" 13/16"

Tech Sheet 71360 OR-4090-06-12 11/16" 13/16"

Tech Sheet 71362

Items marked * are supplied crimp type / other items
supplied with loose nut

Male x Swivel Female 90°
Forged Compact Elbow

0R-8010-04-04 9/16"
OR-8010-06-06 11/16"
OR-8010-08-08 13/16”
0R-8010-10-10 1"
OR-8010-12-12 1.3/16"
OR-8010-16-16 1.7/16"
0R-8010-20-20 1.11/16"
OR-8010-24-24 2"
Tech Sheet 71365

HYDRAULICS




ORFS HYDRAULIC ADAPTORS Iy BRENNAN

90° Elbows Tees

(%]
£
E Male x UNF Male 90° Positional Forged Male Tee Male Tee Positional on B 0
H : ale lee Fositional on branc
= Forged Elbow with O-Rlng 0683 Thread Foraed with O-Rin
E 0683 Thread Thread OR-9000-04-04-04 9/16” 9 9
o OR-8050-04-04 9/16" 7/16" OR-9000-06-06-06 11/16" 0683 Thread A Thread B  Thread C
OR-8050-04-06 9/16" 9/16" OR-9000-08-08-08 13/16" OR-9120-06-06-06 11/16" 11/16" 9/16"
OR-8050-06-06 11/16" 9/16" OR-9000-10-10-10 1" OR-9120-08-08-08 13/16" 13/16" 3/4"
OR-8050-08-08 13/16" 3/4" OR-9000-12-12-12 1.3/16" 0R-9120-10-10-10 1" 1" 7/8"
OR-8050-10-10 1" 7/8" OR-9000-16-16-16 1.7/16" OR-9120-12-12-12  1.3/16" 1.3/16" 1.1/18"
OR-8050-10-12 1" 1.1/16" Tech Sheet 71368 Tech Sheet 71371
OR-8050-12-08 1.3/16" 3/4"
OR-8050-12-12 1.3/16" 1.1/16"
OR-8050-16-16 1.7/16" 1.5/16"
Tech Sheet 71366

Male x Male x Swivel Female Male Tee Positional on Run with 0-Ring
Forged Branch Tee 0683 Thread A Thread B Thread C
RWOUUM Y 5 I
OR-9020-04-04-04 9/16" 0R-9070-06-06-06 11/16" 11/16" 9/16"

Male x BSPP Male 90° Positional

OR-9020-06-06-06 11/16" OR-9070-08-08-08  13/16" 13/16" 3/4"
Forged Elbow with 0-Ring OR-9020-08-08-08 13/16" OR-9070-10-10-10 1" B 718"
0683 Thread Thread OR-9020-10-10-10 1" OR-9070-12-12-12  1.3/16" 1.3/16" 1.1/16"
OR-8040-04-04 9/16" 14" OR-9020-12-12-12 1.3/16" Tech Sheet 71374
OR-8040-08-06 13/16" 3/8" OR-9020-16-16-16 1.7/16"
OR-8040-10-08 1" 12" OR-9020-20-20-20 1.11/16" Ca ps
OR-8040-12-12 1.3/16" 3/4" Tech Sheet 71369
OR-8040-16-16 1.7/16" 1

Tech Sheet 71430
45° Elbows

Female Thread
Male x Male x Swivel Forged Run Tee
0683 Thread OR-2030-04 9/16"
0R-9010-04-04-04 9/16" OR-2030-06 11/16"
0R-9010-06-06-06 1/16" OR-2030-08 13/16"
Male x Swivel Female 45° OR-9010-08-08-08 13/16" OR-2030-10 1
Forged Compact Elbow 0R-9010-10-10-10 K OR-2030-12 13/16"
0R-9010-12-12-12 13/16" OR-2030-16 17/16"
0R-9010-16-16-16 17/16" OR-2030-20 1.11/16"
x g:'zgx'ggﬁ 191//1158" OR-9010-20-20-20 1.11/16" OR-2030-24 2
= P Tech Sheet 71370 Tech Sheet 71372
= OR-7040-08-08 13/16
= OR-7040-10-10 1"
£ oR-7040-1212 13/16"
> OR-7040-16-16 17/16"
T OR-7040-2020 1.11/16"
0R-7040-24-24 2

Tech Sheet 71367




JIC HYDRAULIC ADAPTORS Iy BRENNAN

Male/Male Adaptors

NPTF Male x BSPT Male x JIC Male x
JIC Male 37° Cone JIC Male 37° Cone 4 JIC Male 37° Cone
0683 Thread Thread 0683 Thread Thread 0683 Thread Thread
37-4010-04-02 18" 716" 37-4100-04-02 18" 716" 37-4000-02-02 5/16" 5/16"
37-4010-05-02 18" 12" 37-4100-05-02 18" 12" 37-4000-04-02 5/16" 16" £
37-4010-06-02 18" 9/16” 37-4100-06-02 18" 9/16” 37-4000-04-04 716" 716" o
37-4010-04-04 174" 716" 37-4100-04-04 174" 716" 37-4000-06-04 716" 9/16" =3
37-4010-05-04 14" 12" 37-4100-05-04 174" 12" 37-4000-05-04 12" 716" £
37-4010-06-04 14" 9/16" 37-4100-06-04 14" 9/16" 37-4000-05-05 12" 1/2" S
37-4010-08-04 14" 3/a" 37-4100-08-04 14" 3/a" 37-4000-06-05 12" 9/16"
37-4010-10-04 14" 7/8" 37-4100-04-06 3/8" 716" 37-4000-08-05 12" 3/4"
37-4010-04-06 3/8" 7/16" 37-4100-05-06 3/8" 12" 37-4000-10-05 12" 7/8"
37-4010-05-06 3/8" 12" 37-4100-06-06 3/8" 9/16" 37-4000-06-06 9/16" 9/16"
37-4010-06-06 3/8" 9/16" 37-4100-08-06 3/8" 3/4" 37-4000-10-06 9/16" 7/8"
37-4010-08-06 3/8" 3/4" 37-4100-06-08 12" 9/16" 37-4000-12-06 9/16" 1.1/16"
37-4010-10-06 3/8" 7/8" 37-4100-08-08 12" 3/4" 37-4000-14-06 9/16" 13/16"
37-4010-04-08 12" 716" 37-4100-10-08 12" 7/8" 37-4000-08-04 3/4" 716"
37-4010-06-08 12" 9/16" 37-4100-12-08 12" 1.1/16" 37-4000-08-06 3/a” 9/16"
37-4010-08-08 12" 3/4" 37-4100-08-12 3/4" 3/4" 37-4000-08-08 3/4" 3/4"
37-4010-10-08 12" 7/8" 37-4100-10-12 3/4" 7/8" 37-4000-10-08 3/4" 7/8"
37-4010-12-08 1/2" 1.1/16" 37-4100-12-12 3/a” 1.1/16" 37-4000-10-10 7/8" 7/8"
37-4010-16-08 12" 15/16" 37-4100-14-12 3/4" 13/16" 37-4000-12-10 7/8" 1.1/16"
37-4010-04-12 3/4" 716" 37-4100-16-12 3/4" 15/16" 37-4000-16-10 7/8" 15/16"
37-4010-06-12 3/4" 9/16" 37-4100-08-16 1 3/4" 37-4000-12-12 1.1/16" 1.1/16"
37-4010-10-12 3/a" 7/8" 37-4100-12-16 1 1.1/16" 37-4000-16-12 1.1/16" 15/16”
37-4010-12-12 3/4" 1.1/16" 37-4100-16-16 1 15/16" 37-4000-14-14 1.3/16" 13/16"
37-4010-20-12 3/4" 15/8" 37-4100-20-16 1 15/8" 37-4000-16-16 15/16" 15/16"
37-4010-08-16 1 3/4" 37-4100-16-20 1.1/4" 15/16” 37-4000-20-16 15/16" 15/8"
37-4010-10-16 1 7/8" 37-4100-20-20 1.1/4" 15/8" 37-4000-24-16 15/16" 17/8"
37-4010-16-16 1 15/16" 37-4100-20-24 11/2" 15/8" 37-4000-20-20 15/8" 15/8"
37-4010-20-16 1 15/8" 37-4100-24-24 11/2" 17/8" 37-4000-24-24 17/8" 17/8"
37-4010-24-16 1 17/8" 37-4100-24-32 2" 17/8" 37-4000-32-32 21/2" 21/2"
37-4010-12-20 1.1/4" 1.1/16" 37-4100-32-32 2" 21/2" Tech Sheet 71380
37-4010-16-20 11/4" 15/16” Tech Sheet 71379
37-4010-24-20 1.1/4" 17/8"
37-4010-32-20 1.1/4" 21/2"
37-4010-12-24 11/2" 1.1/16"
37-4010-16-24 1172 15/16”
37-4010-20-24 1.1/2" 15/8"
37-4010-24-24 11/2" 17/8" JIC Male 37° Cone x
37-4010-32-24 1.1/2" 2.1/2" JIS Male 30° Cone (BSPP Threads)
37-4010-20-32 z 158" 0683 Thread Thread
37-4010-24-32 z 17/8° TR-6811-04-04 716" 14"
37-4010-32-32 2 2172 TR-6811-06.06 816" 38"
Tech Sheet 71377 TR-6811-08-08 3/4” 12"
Tech Sheet 71381
)
EI%P;I "f“"s‘;f,‘c estrictor Blank Onl JIC Male 37° Cone x
ale one Restrictor Blank Only JIS Male 30° Cone (Metric Threads)
lod Thred Thred 0683 Thread LLIGET 8
60-6017-B-06-04 1/4 9/16 4 -
. - TR-8751-04-14 7/16 M14x15
60-6017-B-04-06 3/8 7/16 - =]
. . TR-8751-06-18 9/16 M18x15 <
60-6017-B-06-06 3/8 9/16 3 o=
50-6017-B.06.08 e o/16" TR-8751-08-22 w M22x15 =
Toch Sheet 71378 TR-8751-10-24 7/8 M24x 15 ;
TR-8751-12-30 1.1/16" M30x 15
TR-8751-16-33 15/16" M33x15

Tech Sheet 71382




JIC HYDRAULIC ADAPTORS Iy BRENNAN

Male/Male Adaptors

Metric Male x BSPP Male 60° Cone x Metric Male 24° Cone x
JIC Male 37° Cone JIC 37° Cone Male JIC Male 37° Cone ’
0683 Thread Thread 0683 Thread Thread TofitTube sy Theead
W 37-4060-04-10 M10x 15 716" 60-6017-04-02 1/8" 716" :
e 37-4060-08-12 M12x 15 716" 60-6017-05-02 18" 12" TR-41274-6 6 M12x1.5 Al
A 37-4060-06-12 M12x 15 9/16" 60-6017-06-02 1/8" 9/16" TR-41291-6 6 M14x1.5 ne
= 37-4060-08-12 M12x15 34" 60-6017-04-04 " 716" TR-41291-8 8 Mldx15  7/18°
=] 37-4060-03-13 M14x15 3/8" 60-6017-05-04 14" 12" TR-41295-8 8 M16x1.5 716
5] 3740600010 M14x15 716" 60-6017-06-04 174" 9/16" TR-41280-8 8 M16x1.5 916"
37-4060-06-14 M14x15 9/16" 60-6017-08-04 14" 3/4" TR-41280-10 10 M16x1.5 9/16"
37-4060-08-14 M14x15 34" 60-6017-10-04 14" 78" TR-41275-10 10 M16x 1.5 3/
37-4060-10-14 M14x15 78" 60-6017-12-04 14" 11/16" TR-41276-10 10 M18x1.5 916"
37-4060-04-16 M16x15 716" 60-6017-16-04 14" 15/16" TR-41276-12 12 M18x1.5 916"
37-4060-06-16 M16x 1.5 9/16" 60-6017-04-06 38" 716" TR-41281-10 10 M18x 1.5 3
37-4060-08-16 M16x15 34" 60-6017-05-06 38" 12" TR-41251-12 12 M18x1.5 /s
37-4060-10-16 M16x15 78" 60-6017-06-06 38" 9/16" TR-41263-12 12 M20x1.5 /s
37-4060-04-18 M18x15 716" 60-6017-08-06 3/8" 3" TR-41278-14 14 M20x1.5 3w
37-4060-06-18 M18x15 9/16" 60-6017-10-06 38" 78" TR-41278-15 15 M20x1.5 /i
37-4060-08-18 M18x15 3/4" 60-6017-12-06 38" 11/16" TR-41294-15 15 M20x15  1.1/16°
37-4060-10-18 M18x 1.5 78" 60-6017-16-06 38" 15/16" TR-21270-20 2 M30x15 11716
37-4060-12-18 M18x15 11/16" 60-6017-04-08 12" 16" TR-41270-22 2z M30x15  1.1/16°
37-4060-06-20 M20% 1.5 9/16" 60-6017-05-08 12" 12" TR-41262-28 28 M3x15  1.1/16°
37-4060-08-20 M20x 1.5 34" 60-6017-06-08 12" 9/16" TR-41296-35 35 M45x15  1.5/16°
37-4060-10-20 M20x 1.5 78" 60-6017-08-08 12 347 Tech Sheet 71385
37-4060-12-20 M20x 15 716" 60-6017-10-08 12" 78"
37-4060-06-22 M22x 15 9/16" 60-6017-12-08 12" 11/16"
37-4060-08-22 M22x 1.5 34" 60-6017-16-08 12" 15/16"
37-4060-10-22 M22x 15 78" 60-6017-06-10 5/8" 9/16"
37-4060-12-22 M22x 15 11/16" 60-6017-08-10 5/8" 34
37-4060-12-24 M24x 15 11/16" 60-6017-10-10 5/8" 78"
37-4060-10-26 M26x 1.5 78" 60-6017-12-10 5/8" 11/16"
37-4060-12-26 M26x 15 11/16" 60-6017-14-10 5/8" 13/16"
Tech Sheet 71383 60-6017-16-10 5/8" 15/16"
60-6017-04-12 34" 716"
60-6017-05-12 3/4” 12"
60-6017-06-12 3/4" 9/16"
60-6017-08-12 34" 34"
60-6017-10-12 3/4” 78"
60-6017-12-12 3/4" 11/16"
60-6017-14-12 34" 13/16"
60-6017-16-12 3/4” 15/16"
60-6017-20-12 3/4" 15/8"
60-6017-24-12 3/4" 17/8"
60-6017-08-16 1 3/4"
60-6017-10-16 1 78"
60-6017-12-16 1 11/16"
60-6017-14-16 1 13/16"
60-6017-16-16 1 15/16"
60-6017-20-16 B 15/8"
60-6017-24-16 1 17/8"
60-6017-12-20 11/4" 11/16"
60-6017-16-20 11/4 15/16"
60-6017-20-20 11/4" 15/8"
o 60-6017-24-20 11/4" 17/8"
Q 60-6017-32-20 11/4 21/2"
= 60-6017-16-24 11/2" 15/16"
= 60-6017-20-24 11/2" 15/8"
= 60-6017-24-24 11/2" 17/8"
> 60-6017-32-24 11/2" 21/2"
= 60-6017-24-32 2 17/8"
60-6017-32-32 2 21/2"

Tech Sheet 71384




JIC HYDRAULIC ADAPTORS Ioj BRENNAN

Male/Male Adaptors Male/Female Fixed Adaptors

SAE Boss Male x
JIC Male 37° Coneless 0-Ring , "
&2
L5 hroad JIC Male 37° Cone x NPT Male x JIC Swivel Female 37° Cone §
:;:g;gg:g: ;Q 2 v BSPP Female Extended 0683 Male Thread  Female Thread =
37-4070-06-04 716" 9/16" 0683 Male Thread Female Thread 37-4030-06-04 4 9/16" §
37-4070-04-05 12" 716" 37-4120-04-02 716" 18" 37-4030-08-06 38" 34 S
37_4070_05_05 1/2" 1/2” 37_4120_04_04 7/1 B“ ‘|/4" 37'4030'10'08 1/2” 7/8"
37-0070-06-05 e 916" Toch Sheet 71388 37-4030-12-12 34" 1.1/16"
37-4070-04-06 9/16" 716" 37-4030-16-16 & 15/16"
37-4070-05-06 9/16" 12" Tech Shest 71381
37-4070-06-06 9/16" 9/16"
37-4070-08-06 9/16" 34"
37-4070-10-06 9/16" 7/8"
37-4070-04-08 3/4" 716"
37-4070-06-08 3/4" 9/16"
37-4070-08-08 3/4" 3/4"
37-4070-10-08 3/4" /8"
pamwn s JICMale37° Conex
37-4070-08-10 e e NPT Female Extended BSPP Male 60° Cone x
37-4070-10-10 7/8" 7/8" 0683 Male Thread Female Thread JIC Swivel Female 37° Cone
37-4070-12-10 7/8" 1.1/16" 37-4170-04-02 7/16" 1/8"
37-4070-06-12 1.1/16" 9/16” 37-4170-04-04 7/16" 1/4" 0683 Male Thread Female Thread
37-4070-08-12 1.1/16" 3/4" 37-4170-04-06 7/16" 3/8" 31-4130-04-02 178 718"
37-4070-10-12 1.1/16" /8" 37-4170-06-04 9/16” 1/4" 37-4130-04-04 /4 16"
37-4070-12-12 1.1/16" 1.1/16" 37-4170-06-06 9/16" 3/8" 37-4130-05-04 S 12
37-4070-16-12 1.1/16" 15/16" 37-4170-06-08 9/16" 1/2" 31-4130-06-04 174 9/16"
37-4070-14-14 1.3/16" 1.3/16" 37-4170-08-06 34" 3/8" 37-4130-08-04 /4 3/4
37-4070-08-16 15/16" 3/4" 37-4170-08-08 34" 1/2" 31-4130-04-06 3/8" 86"
37-4070-10-16 15/16" 7/8" 37-4170-10-08 78" 1/2" 31-4130-05-06 3/8" 12
37-4070-12-16 15/16" 1.1/16" 37-4170-12-12 1.1/16” 34" 37-4130-06-06 38 9/16"
37-4070-16-16 15/16" 15/16" 37-4170-16-16 1.5/16" 1” 37-4130-08-06 3/8" 3/4
37-4070-20-16 15/16" 15/8" Tech Sheet 71389 31-4130-10-06 3/8" 778"
37-4070-16-20 1.5/8" 1.5/16" 37-4130-04-08 vz 716"
37-4070-20-20 15/8" 15/8" 37-4130-05-08 1z 17
37-4070-24-20 15/8" 17/8" 37-4130-06-08 7 9/16"
37-4070-16-24 17/8" 15/16" 37-4130-08-08 vz 34
37-4070-20-24 17/8" 15/8" 37-4130-10-08 1z 78"
37-8070-24-24 17/8" 17/8" 37-4130-12-08 1/2" 1.1/16"
37-4070-32-24 17/8" 21/2" 37-4130-08-10 5/8" 3/4"
37-4070-32-32 2.1/2" 21/2" 37-4130-10-10 5/8" 78
Tech Sheet 71386 37-4130-12-10 5/8" 1.1/16"
o 37-4130-08-12 3/4” 3/4"
JI(E Male 37° Cone x JI_S Female Extended 37-0130-10-12 e 8
60° Internal Seat (Metrlc Threads) 37-4130-12-12 3/4" 1.1/16"
0683 Male Thread Female Thread 31-4130-14-12 3/4” 1.3/16"
TR-8701-04-14 /16" M14x15 37-4130-16-12 374 1.5/16"
y TR-8701-06-18 9/16" M18x15 37-4130-12-16 1 1.1/18"
Metric Male 24° Cone x TR-8701-08-22 Al Mzzx15 31-0130-13-16 " 136
JIC Male 37° Cone TR-8701-12-30 1.1/16" M30x 15 37-4130-16-16 1" 1-5/16"
TR-8701-16-33 15/16" M33x15 37-4130-20-16 1 1.5/8 8
To Fit Tube Tech Sheet 71 37-4130-16-20 1.1/4" 15/16" =
0683 QRtTUe  Thread  Thread ech Sheet 71380 2.4130.20.20 e o =
TR-41270/2-22 22 M30x2 1.1/16" 37-4130-24-32 2" 17/8" <
TR-41262/2-25 25 M36 x 2 1.1/16" Tech Sheet 71392 g
TR-41267/2-30 30 Ma2 x 2 15/8" >
TR-41296/2-35 35 M45 x 2 15/16" =
TR-41268/2-38 38 M52 x 2 15/8"

Tech Sheet 71387




JIC HYDRAULIC ADAPTORS Iy BRENNAN

Male/Female Swivel Adaptors Female Swivel Adaptors

(%)
@8
E JIC Male 37° Cone x JIC Male 37° Cone x BSPP Swivel Female 60° Cone x
=] BSPP Swivel Female 60° Cone JIC Swivel Female 37° Cone JIC Swivel Female 37° Cone
E 0683 Male Thread Female Thread 0683 Male Thread Female Thread 0683 LLIGED LLIGED
bad  37-4140-04-02 716" 1/8" 37-4091-04-04 718" 716" 60-6027-04-04 1/4" 716"
37-4140-04-04 716" 1/4" 37-4091-04-06 716" 9/16" 60-6027-04-05 /4" 12"
37-4140-04-06 716" 3/8" 37-4091-04-08 716" 3/4" 60-6027-04-06 1/4" 9/16"
37-4140-04-08 716" 12" 37-4091-04-10 718" 7/8" 60-6027-06-04 3/8" 186"
37-4140-05-04 12" 1/4" 37-4091-05-05 12" 12" 60-6027-06-05 3/8" 12"
37-4140-05-06 12" 3/8" 37-4091-05-06 12" 9/16" 60-6027-06-06 3/8" 9/16"
37-4140-05-08 12" 12" 37-4091-06-04 9/16" 186" 60-6027-06-08 3/8" 3/4"
37-4140-06-04 9/16” 1/4" 37-4091-06-05 9/16" 12" 60-6027-06-10 3/8" 7/8"
37-4140-06-06 9/16" 3/8" 37-4091-06-06 9/16" 9/16" 60-6027-08-06 12" 9/16"
37-4140-08-06 34" 3/8" 37-4091-06-08 9/16" 3/4" 60-6027-08-08 12" 3/4"
37-4140-08-08 3/4” 12" 37-4091-06-10 9/16" 7/8" 60-6027-08-10 12" 7/8"
37-4140-08-10 3/4" 5/8" 37-4091-08-06 3/4" 9/16" 60-6027-08-12 12" 1.1/16"
37-4140-08-12 34" 3/4" 37-4091-08-08 34" 3/4" 60-6027-10-10 5/8" 7/8"
37-4140-10-06 7/8" 3/8" 37-4091-08-10 3/4” 7/8" 60-6027-12-08 3/4” 3/4”
37-4140-10-08 /8" 1/2" 37-4091-08-12 34" 1.1/16" 60-6027-12-12 3/4" 1.1/16"
37-4140-10-10 7/8" 5/8" 37-4091-10-08 7/8" 3/4" 60-6027-12-16 3/4" 15/16"
37-4140-10-12 7/8" 3/4" 37-4091-10-10 7/8" 7/8" 60-6027-16-12 1 1.1/16”
37-4140-12-12 1.1/16" 3/a" 37-4091-10-12 7/8" 1.1/16" 60-6027-16-16 1 15/16"
37-4140-16-16 15/16” 1 37-4091-12-08 1.1/16” 3/4" 60-6027-20-20 1.1/4" 15/8"
37-4140-20-20 15/8" 1.1/4" 37-4091-12-10 1.1/16” 7/8" Tech Sheet 71397
Tech Sheet 71393 37-4091-12-12 1.1/16" 1.1/16"
37-4091-12-16 1.1/16” 1.5/16"
37-4091-14-14 13/16” 1.3/16"
37-4091-16-20 15/16" 15/8"
37-4091-20-20 15/8" 15/8"
37-4091-20-24 15/8" 17/8"
Tech Sheet 71395

JIC Swivel Female 37° Cone x

JIC Male 37° Cone x JIC Swivel Female 37° Cone
Metric Swivel Female 0683 — —
0683 Male Thread Female Thread 37-6021-04-04 7/16" 7/16"
TR-01664 7/16" M12x1.5 37-6021-06-04 716" 9/16"
TR-01651 9/16" M14x1.5 37-6021-08-04 7/16" 3/4"
TR-01652 9/16" M16x1.5 Metric Male x :;gg::gzgz 1;; 91//126
TR-01653 9/16" M18x 1.5 . o - -Uo-
TR-01654 9/16" M20x 1.5 JIC Swivel Female 37° Cone 37-6021-06-06 9/16" 9/16"
TR-01655 9/16" M22x15 0683 Male Thread Female Thread 37-6021-08-06 9/16" 3/4"
TR-01656 3/4" M16x1.5 60-6101-12-05 M12x1.5 1/2" 37-6021-08-08 3/4" 3/4"
TR-01657 3/4" M18x15 60-6101-14-06 M14x1.5 9/16" 37-6021-10-06 7/8" 9/16"
TR-01659 3/4" M22x15 60-6101-16-06 M16x1.5 9/16" 37-6021-10-08 7/8" 3/4"
TR-01661 7/8" M18x 15 60-6101-16-08 M16x 1.5 3/4" 37-6021-10-10 7/8" 7/8"
TR-01662 7/8" M20x 1.5 60-6101-18-08 M18x 1.5 3/4" 37-6021-12-12 1.1/16" 1.1/16"
8 TR-01663 7/8" M22x15 Tech Sheet 71396 37-6021-16-12 1.1/16" 1.5/16"
= Tech Sheet 71394 37-6021-14-14 1.3/16" 1.3/16"
= 37-6021-16-16 1.5/16" 1.5/16"
é 37-6021-20-20 1.5/8" 1.5/8"
[=] Tech Sheet 71398
>=
=




JIC HYDRAULIC ADAPTORS Iy BRENNAN

90° Elbows

‘t \ g
JIC Male x JIC Male JIC Male 37° Cone x BSPP Male NPT Male x JIC Swivel Female

(%)

£

=

90° Forged Compact Elbow 90° Positional Forged Elbow 90° Compact Elbow 37° Cone g

0683 Thread 0683 Thread Thread 0683 Male Thread Female Thread E'

37-8000-04-04 7/16" 37-8040-04-04 /16" 14" TR-99001 3/8" 9/16" 3

37-8000-05-05 12" 37-8040-06-04 9/16" 14" Tech Sheet 71405

37-8000-06-06 9/16” 37-8040-06-06 9/16" 38
37-8000-08-08 3/4" 37-8040-08-06 344" 38
37-8000-10-10 78" 37-8040-08-08 3/4” 12"
37-8000-12-12 1.1/16" 37-8040-10-08 7/8" 12"
37-8000-14-14 13/16" 37-8040-12-12 1.1/16" 34"
Tech Sheet 71399 37-8040-16-16 15/16" 1

Tech Sheet 71402

NPT Male x SAE Male
90° Compact Elbow 45° Cone

v 0683 Thread LLIGED
NPTF Male x JIC Male =z TR-07020 18" 716"
90° Forged Compact Elbow . TR-07021 18 1
o e _— JIC Male x JIC Swivel Female 90° TR-07022 1 7/16°

o ¥
ey T e Forged Compact Elbow 37° Cone s 1; . ;ﬁ z
37-8030-04-02 18" /16" TR-07025 e a
37-8030-05-02 1/8" 1/2" 37-8010-04-04 7/16" TR-07026 3/8" 7/16"
37-8030-06-02 1/8" 9/16" 37-8010-05-05 12" TR-07027 38" 12"
37-8030-04-04 14" 7/16" 37-8010-06-06 9/16" TR-07028 38" 5/8"
37-8030-05-04 74" 12" 37-8010-08-08 34" TR-07029 38" 3/4"
37-8030-06-04 14" 9/16" 37-8010-10-10 7/8" TR-07030 38" 7/8"
37-8030-08-04 14" 3/4" 37-8010-12-12 1.1/16” TR-07031 12" 5/8"
37-8030-03-06 3/8" 3/8" 37-8010-16-16 15/16" Tech Sheet 71406
37-8030-04-06 3/8" 7/16" Tech Sheet 71403
37-8030-05-06 3/8" 12"
37-8030-06-06 3/8" 9/16”
37-8030-08-06 3/8" 34
37-8030-10-06 3/8" 7/8"
Tech Sheet 71400

JIC Male 37° Cone x Metric Male

ch sWiVeI Female x ch sWiVeI Female 90° Positional Forged Elbow

90° Compact Elbow 37° Cone

0633 e — 0683 Thread Thread

Ied Icd 37-8070-04-12 7/16" M12x15
JIC Male x Male Bulkhead 90° Forged 37-8110-04-04 7/16" 7/16" 37-8070-04-14 6" MI2x15
37-8110-06-06 e 9" 37-8070-06-16 9/16" M16x 15
37-8020-03-03 38" 31-8110-08-08 s s 37-8070-06-18 9/16" M18x 15 o
37-8020-04-06 716" 37-8110-10-10 e 18 37-8070-08-18 3/4" M18x 15 (£}
37-8020-05-05 12" 37-8110-12-12 11/16” 11/16" 37-8070-08-20 34" M20x 15 =
37-8020-06-06 9/16" 37-8110-13-14 1.3/16" 13/16" 37-8070-08-22 3/4" M22x15 =
37-8020-08-08 3/4" 37-8110-16-16 15/16” 15/16" 37-8070-10-22 7/8" M22x15 =
37-8020-10-10 7/8" Tech Sheet 71404 37-8070-12-22 1.1/16" M22x1.5 >
37-8020-12-12 11/16" Tech Sheet 71407 =

37-8020-16-16 1.5/16"
Tech Sheet 71401




JIC HYDRAULIC ADAPTORS Iy BRENNAN

90° Elbows

4 o
i1 JIC Male 37° Cone x JIC Swivel Female BSPP Male 60° Cone x JIC Male BSPT Male x JIC Male
4 90° Swept Elbow 90° Compact Elbow 37° Cone 90° Compact Elbow 37° Cone
2 0683 Thread Thread 0683 Thread
67010004 7/16" 37-8090-04-04 14" 7/16" 37-8060-04-02 1/8" 16"
bl 6701-06-06 9/16" 37-8090-05-04 14" 12" 37-8060-05-02 1/8" 12"
6701-08-08 3/4 37-8090-06-04 14" 9/16" 37-8060-06-02 18" 9/16"
6701-10-10 78" 37-8090-06-06 3/8" 9/16" 37-8060-04-04 14" /16"
6701-12-12 1.1/16" 37-8090-08-06 38" 34" 37-8060-05-04 174" 12"
6701-16-16 15/16" 37-8090-08-08 12" 34" 37-8060-06-04 14" 9/16"
6701-20-20 15/8" 37-8090-10-08 12" 78 37-8060-08-04 14" 3/4"
Tech Sheet 71408 37-8090-10-12 34" 78 37-8060-04-06 38 716"
37-8090-12-12 34 1.1/16" 37-8060-05-06 3/8" 12"
37-8090-12-16 1 1.1/16" 37-8060-06-06 3/ 9/16"
37-8090-16-16 1 15/16" 37-8060-08-06 38 34
37-8090-20-20 1.1/4" 15/8" 37-8060-10-06 3/ 78
37-8090-24-24 112" 17/8" 37-8060-04-08 12" /16"
Tech Sheet 71411 37-8060-06-08 12" 9/16"
37-8060-08-08 12" 34"
37-8060-10-08 12" 78
W 37-8060-12-08 12" 1.1/16"
JIC Male 37° Cone x UNF Male jponigipn Ve o
oD s
90° Positional Forged Elbow 37-8060-08-12 3 4
0683 Thread Thread 37-8060-10-12 34" /8"
37-8050-04-04 716" 716" 37-8060-12-12 34" 1.1/16"
37-8050-06-06 9/16" 9/16" 37-8060-16-12 3/4" 15/16"
37-8050-08-08 34" 3/4" 37-8060-08-16 5 34"
37-8050-10-10 78 78 37-8060-10-16 1 7/8"
37-8050-12-12 1.1/16" 1.1/16" 37-8060-12-16 1 1.1/16"
37-8050-16-16 15/16" 15/16" 37-8060-16-16 5 15/16"
Tech Sheet 71409 37-8060-20-16 5 15/8"
37-8060-16-20 11/4" 15/16"
37-8060-20-20 11/4" 15/8"
37-8060-24-20 11/4" 17/8"
37-8060-20-24 11/2" 15/8"
37-8060-24-24 11/2" 17/8"
37-8060-32-32 2 2.1/2"
Tech Sheet 71412

BSPP Male 60° Cone x JIC Swivel Female
37° Cone 90° Compact Elbow

0683 Male Thread Female Thread z 4
37-8031-04-06 14" 9/16" -
37-8031-06.06 I 916" JIC Male 37° Cone x BSPP Swivel Female
37-8031-06-08 38" 34 90° Compact Elbow 60° Cone
¢  31-8031-08-08 /2" 34 0683 Thread Thread
<  37-8031-08-10 12" 7/8" 37-8032-04-04 /16" 1/4"
= 300 5/8 7/8 37-8032-06-06 9/16" 3/8"
=  31-803112-12 34" 1.1/16" 37-8032-08-08 34" 3/8"
g Tech Sheet 71410 TR-09606 3/4" 1/2"
> 37-8032-12-12 11/16" 3/4"
= 37-8032-16-16 15/16" 1
37-8032-24-24 17/8" 11/2"

Tech Sheet 71413




JIC HYDRAULIC ADAPTORS Iy BRENNAN

45° Elbows

(%)
JIC Male x JIC Swivel Female JIC Male x JIC Swivel Female NPT Male x JIC Male H
45° Swept Elbow 45° Forged Compact Elbow 37° Cone 45° Forged Compact Elbow 37° Cone §_
0683 Thread 0683 Thread Thread E
6702-12-12 11/16" 37-7040-04-04 7/16" 37-7030-04-04 14 7/16" o
6027-16-16 15/16" 37-7040-06-06 9/16" 37-7030-06-06 3/8" 9/16"
Tech Sheet 71414 37-7040-08-08 34" 37-7030-08-06 38" 34"
37-7040-10-10 78 37-7030-08-08 12" 3/4"
37-7040-12-12 11/16" 37-7030-10-08 12" 8
37-7040-16-16 15/16" 37-7030-12-12 34" 11/16"
Tech Sheet 71417 37-7030-16-16 1" 15/16"
Tech Sheet 71418

Bulkheads

JIC Male x JIC Male Bulkhead 45° Forged

0683 Thread
37-7000-04-04 16"
37-7000-05-05 12"
37-7000-05-06 916" JIC Male 37° Cone x UNF Male
37-7000-08-08 3/4" 45° Positional Forged Elbow
37-7000-10-10 78 0683 Thread Thread
e I e e JIC Male x JIC Male Bulkhead
37-7010-08-08 e e 37° Cone c¢/w Locknut
37-7010-10-10 78 78
37-7010-12-12 1.1/18" 1.1/16" 37-4020-03-03 3/8"
37-7010-16-16 15/16" 15/16" 37-4020-04-04 716"
Tech Sheet 71416 37-4020-05-05 12"
37-4020-06-06 9/16"
37-4020-08-08 3/4"
37-4020-10-10 7/8"
37-4020-12-12 1.1/16"
37-4020-14-14 13/16"
37-4020-16-16 15/16"
37-4020-20-20 15/8"
37-4020-24-24 17/8"
Tech Sheet 71419

HYDRAULICS




Components

HYDRAULICS

JIC HYDRAULIC ADAPTORS

Tees

JIC Male x JIC Male x UNF Male Forced
Positional On Run with 0-Ring

0683 LLIGED]
37-9070-04-04-04 7/18"
37-9070-05-05-05 1/2"
37-9070-06-06-06 9/16"
37-9070-08-08-08 3/4"
37-9070-10-10-10 7/8"
37-9070-12-12-12 1.1/18"
Tech Sheet 71420

JIC Male x JIC Swivel Female x
JIC Male Branch Tee 37° Cone

0683 LLIGED]
37-9010-04-04-04 7/18"
37-9010-05-05-05 1/2"
37-9010-06-06-06 9/16"
37-9010-08-08-08 3/4"
37-9010-10-10-10 7/8"
37-9010-12-12-12 1.1/18"
37-9010-16-16-16 1.5/16"
37-9010-20-20-20 1.5/8"
37-9010-24-24-24 1.7/8"
Tech Sheet 71421

JIC Male x JIC Swivel Female x
JIC Swivel Female Branch Tee 37° Cone

0683 Thread
37-9170-04-04-04 716"
37-9170-05-05-05 1/2"
37-9170-06-06-06 9/16"
37-9170-08-08-08 3/4"
37-9170-10-10-10 /8"
37-9170-12-12-12 1.1/16"
37-9170-16-16-16 1.5/16"
Tech Sheet 71422

JIC Swivel Female x JIC Swivel Female
x JIC Male Branch Tee 37° Cone

37-9180-04-04-04 7/16"
37-9180-05-05-05 1/2"
37-9180-06-06-06 9/16"
37-9180-08-08-08 3/4"
37-9180-10-10-10 7/8"
37-9180-16-16-16 1.1/18"
37-9180-12-12-12 1.5/16"
Tech Sheet 71423

JIC Male x JIC Male x UNF Male Forged
Positional On Branch with 0-Ring

0683 Thread
37-9120-04-04-04 7/16"
37-9120-05-05-05 1/2"
37-9120-06-06-06 9/16"
37-9120-08-08-08 3/4"
37-9120-10-10-10 /8"
37-9120-12-12-12 1.1/16"
Tech Sheet 71424

JIC Male Tee 37° Cone

[11:%] Thread
37-9000-04-04-04 7/16"
37-9000-06-06-06 9/16"
37-9000-08-08-08 3/4"
37-9000-10-10-10 /8"
37-9000-12-12-12 1.1/16"
37-9000-14-14-14 1.3/16"
37-9000-16-16-16 1.5/16"

Tech Sheet 71425

Iy BRENNAN

JIC Male x JIC Male x JIC Swivel Female
Branch Tee 37° Cone

0683 LLIGED

37-9020-04-04-04 7/16"

37-9020-06-06-06 9/16"

37-9020-08-08-08 3/4"

37-9020-10-10-10 /8"

37-9020-12-12-12 1.1/16"

37-9020-20-20-20 1.5/8"
Tech Sheet 71417

JIC Swivel Female Tee 37° Cone

37-9080-04-04-04 7/16"
37-9080-05-05-05 1/2"
37-9080-06-06-06 9/16"
37-9080-08-08-08 34"
37-9080-10-10-10 78"
37-9080-12-12-12 1.1/16"
37-9080-16-16-16 15/16"
Tech Sheet 71418
Crosses
JIC Male Cross 37° Cone
0683 Thread
37-5000-04 716"
37-5000-05 12"
37-5000-06 9/16"
37-5000-08 3/4"
37-5000-10 /8"
37-5000-12 1.1/16"
37-5000-16 15/16"
37-5000-20 15/8"
Tech Sheet 71419



JIC HYDRAULIC ADAPTORS Ioj BRENNAN

Plugs Locknuts Hose Inserts
JIC Male 37°
Cone x Push-in
Straight -
0683 LLIGED To Suit Hose ID
TR-09711 716" 1/4"
o
JIC Plug 37° Cone JIC Locknut TR.09712 916" o8
0683 Thread 0683 Thread Tech Sheet 71424 "
37-2040-02 5/16" 37-1001-04 716" =
37-2040-04 716" 37-1001-05 12" JIC Swivel Female o
37-2040-05 1/2" 37-1001-06 9/16" 37° Cone x Push-in =3
37-2040-06 916 37-1001-08 3 Straight g
37-2040-08 3/4 37-1001-10 7/8 o
37-2040-10 7/8" 37-1001-12 1.1/16" 0683 Thread To Suit Hose ID
37-2040-12 1.1/16" 37-1001-16 15/16" TR-09700 16" 174"
37-2040-14 1.3/16" 37-1001-20 15/8" TR-09701 9/16" 3/8"
37-2040-16 1.5/16" 37-1001-24 17/8" TR-09705 34" 3/8"
37-2040-20 1.5/8" Tech Sheet 71422 TR-09702 34 12
37-2040-24 1.7/8" TR-09703 /8 5/8"
37-2040-32 2.1/2" . TR-09704 1.1/16" 3/4"
Tech Sheet 71420 Crimp Nuts TR-09707 1.5/16" [
Tech Sheet 71425
Blanking Caps
JIC Swivel Female
37° Cone x Push-in
| 90° Swept Elbow .
JIC Swivel 37° \ a8 0683 Thread To Suit Hose ID
wivel 3/ . TR-09301 716" 14"
Coned Blankmg Cap N o Jic Crlmp Nut TR-09302 9/16" 3/8"
0683 Thread 0683 Thread TR-09303 3/4 12
37-2030-04 7/16" 37-1002-04 716" TR-09300 78" 5/8"
37-2030-05 1/2" 37-1002-05 1/2" TR-09304 1.1/16 3/4
37-2030-06 9/16" 37-1002-06 9/16" TR-09305 15/16 1
37-2030-08 3/4" 37-1002-07 5/8" Tech Sheet 71426
37-2030-10 7/8" 37-1002-08 3/4"
37-2030-12 1118 37-1002-10 7/8" i
37-2030-14 13/16" 37-1002-14 13/16" JIC Swivel
37-2030-16 1.5/16" 37-1002-16 1.5/16" Female x Push-in 45°
37-2030-20 15/8" 37-1002-20 15/8" Swept Elbow 37° Cone
37-2030-24 17/8" 37-1002-24 17/8" .
37-2030-32 2172 37-1002-32 217" 0663 lhireac fLoiSnitHosall}
Tech Shest 71421 Tech Sheet 71423 TR-09320 116 1/4
TR-09321 9/16" 3/8"
TR-09322 34" 12"
TR-09323 7/8" 5/8"
TR-09324 1.1/16" 34"
Tech Sheet 71427
Tube Nuts Tube Sleeves
Universal Metric & Imperial ‘ Imperial Metric
To Suit Hose To Suit 0683 To Suit Hose 0D 0683 To Suit Hose 0D mm
0683 Thread !
— TubE 0D - 32000 /4" 37-2010-04-06 6
37-2000-04 7)1 B 6 1/4 i e 37-2020-05 5.1/6" 37-2010-05-08 8 .
37-2000-05  1/2 ; 8 516 g 37-2020-06 3/8" 37-2010-06-10 10
37-200069/16 10 3/8: 37-2020-08 12 37-2010-08-12 12 o
37-200008 34" 12 1/2" 37202010 5/8" 37-2010-10-14 14 %
vaa . =
el 37-2020-16 1" =
37-2000-16 15/16" 2% 1 o090 . 37-2010-12-18 18 §
37-2020-20 1174 37-2010-12-20 20
37-2000-20 158" 28,30&32  1.1/4" o090 P -2010-12- =)
. 37-2020-24 1.1/2 37-2010-16-25 2 >
37-200024 178" 35&38  1.1/2" Toch Sheet 71429 =
Tech Sheet 71428 37-2010-20-30 30
37-2010-24-38 38

Tech Sheet 71431




High Pressure
Hydraulic Adaptors

e Superior quality range of Hydraulic Adaptors
® High grade materials manufactured to

extremely high tolerance
® 1/8"-3/4" up to 680 bar
e 1"-2" up to 500 bar

High quality Hydraulic
Adaptors for high pressure
applications completing the

798

Over 25 years of proven
high performance with a
comprehensive history of

product approvals and 3rd
party accreditations.

integrity of any hose assembly.




HYDRAULIC ADAPTORS . . wm - 2 n
1/8"-3/4" 680 BAR 1"-2" 500 BAR 500

Standard hydraulic adaptors do not adhere to the working pressure of multi spiral hose. (?) Maximum Working Pressure:
Please use KR500 Hydraulic Adaptors for high pressure and multi spiral applications. 1{’8t0t;’321(lmizorbar
Also available in stainless steel and Hiduron upon request.

Equal Male Unions Unequal Male Unions Reducing Bushes

NN

.g
\ -M‘b 2
) (=]
BSPP BSPP BSPP W 2
0450 Thread Thread 0450 Thread Thread S
KREU2 1/8" KRUU4-2 14 1/8" KRRB4-2 4 1/8"
KREU4 14" KRUUG-4 38" 14" KRRB6-2 3/8" 18" -
KREUS 38" KRUUS-4 12" 1/4" KRRB6-4 3/8" 1/4" ¢
KREUS 12" KRUUS-6 12" 38" KRRBS-2 12" 1/8"
KREU10 5/8" KRUU10-4 5/8" 14" KRRBS-4 12" 14"
KREU12 34" KRUU10-6 5/8" 38" KRRBS-6 12" 38"
KREU16 1" KRUU10-8 5/8" 12" KRRB10-8 5/8” 12"
KREU20 114 KRUU12-6 3/4" 38" KRRB12-4 3/4” 14"
KREU24 11/2" KRUU12-8 3/4" 12" KRRB12-6 3/4" 3/8"
KREU32 2 KRUU12-10 3/4" 5/8" KRRB12-8 3/4” 12"
Tech Sheet 10728 KRUU14-12 8 34" KRRB16-4 1 14"
KRUU16-8 1 12" KRRB16-6 1 3/8"
KRUU16-10 1 5/8" KRRB16-8 1 12"
KRUU16-12 1 3/4" KRRB16-12 1 3/4"
KRUU16-14 1 78" KRRB20-4* 11/4" 14"
AN KRUU20-12 11/4" 3/4" KRRB20-6 11/4" 38"
\ ) KRUU20-16 11/4" 1 KRRB20-8 1174 12"
BSPP x BSPT - KRUU24-16 11/2" 1" KRRB20-12 11/4" 3/4"
KRUU24-20 11/2" 11/4" KRRB20-16 11/4" 1"
KREUPT2 1/8" KRUU32-16 3 1 KRRB24-8 112" 12"
KREUPT4 14" KRUU32-20 2 11/4" KRRB24-12 11/2" 3/4"
KREUPT6 38" KRUU32-24 2 11/2" KRRB24-16 11/2" 1
KREUPT8 1/2" Tech Sheet 10731 KRRB24-20 112" 11/4"
KREUPT12 34" KRRB32-16 2 1
KREUPT16 1" . KRRB32-20 3 11/4"
KREUPT20 11 Equal Male Bulkhead Unions KRRB32-24 73 11/2"
KREUPT24 112" Tech Sheet 10733
KREUPT32 2
Tech Sheet 10729
Bleed Valve
BSPP
BSPP x NPT
0450 Thread KREUBH4 1/4"
KREUPAT2 1/8" KREUBHG 38" BSPP
KREUPATA 3 KREuBHG 4
KREUPAT6 38" KREUBH10 5/8" KRBV2 178"
KREUPAT8 1/2" KREUBH12 3/4" Tech Sheet 10799
KREUPAT12 34" KREUBH16 1
KREUPAT16 1" KREUBH20 1.1/4" *Minimum order quantity on these items may apply
KREUPAT20 11/4" KREUBH24* 11/2"
Tech Sheet 10730 Tech Sheet 10732 17
=
—
=)
<<
ec
S
For Bonded Seals T

see pages 832-836




HYDRAULIC ADAPTORS T
1/8”-3/4" 680 BAR 1”-2" 500 BAR E s

4 Standard hydraulic adaptors do not adhere to the working pressure of multi spiral hose. (7) Maximum Working Pressure:
. : . . : . 1/8" to 3/4” 680 bar

Please use KR500 Hydraulic Adaptors for high pressure and multi spiral applications. 1" 10 2" 500 bar

Also available in stainless steel and Hiduron upon request.

Male Elbows Fixed Bushes Female Tees

- /
=
-]
[—
(-]
£ A P
£ y
BSPP BSPT Male x BSPP Female BSPP
0450 Male Thread ____Female Thread
KREME4* 1/4" KRAB4T-4 1/4" 1/4" KREFT2 1/8"
KREME6* 3/8" KRABG6T-4 3/8" 1/4" KREFT4 1/4"
KREMES 1/2" KRABG6T-6 3/8" 3/8" KREFT6 3/8"
KREME12 3/4" KRABST-8* 1/2" 1/2" KREFT8 1/2"
KREME16* 1" KRAB12T-12* 3/4" 3/4" KREFT12 3/4"
KREME20 1.1/4" KRAB16T-16* 1" 1" KREFT16 1"
KREME24 1.1/2" KRAB20T-20* 1.1/4" 1.1/4" KREFT20 1.1/4"
Tech Sheet 10734 KRAB24T-24* 1.1/2" 1.1/2" KREFT24 1.1/2"
KRAB32T-32* 2" 2" KREFT32 2"
Tech Sheet 10736 Tech Sheet 10738
Female Elbows
Female Hexagon Sockets Female Branch Tees

(Y

BSPP
KREFE2* 18" BSPP BSPP
KREFE4 4 0450 Thread Thread
KREFEG 3/8" KRFA4-2 /4" 1/8" KRFOMT4 /4"
KREFE8 7 KRFA4-4 /4" 1/4" KRFOMT6 3/8"
KREFE12 34" KRFA6-2* 3/8" 1/8" KRFOMT8 1/2"
KREFE16 1 KRFA6-4 3/8" 1/4" KRFOMT12 34"
KREFE20 1174 KRFA6-6 3/8" 3/8" KRFOMT16 1"
KREFE24 1z KRFA8-2 1/2" 1/8" KRFOMT20* 1.1/4"
KREFE32* 2’ KRFA8-4 12" 1/4" KRFOMT24* 1.1/2"
Tech Sheet 10735 KRFA8-6 1/2" 3/8" Tech Sheet 10739
KRFA8-8 1/2" 1/2"
KRFA12-12 3/4" 3/4" *Minimum order quantity on these items may apply
KRFA16-16 1 1
KRFA20-20 1.1/4" 1.1/4"
Tech Sheet 10737

HYDRAULICS




HYDRAULIC ADAPTORS
1/8"-3/4" 680 BAR 1”-2" 500 BAR

Standard hydraulic adaptors do not adhere to the working pressure of multi spiral hose.
Please use KR500 Hydraulic Adaptors for high pressure and multi spiral applications.
Also available in stainless steel and Hiduron upon request.

500

@ Maximum Working Pressure:
1/8" to 3/4” 680 bar
1" to 2" 500 bar

Plugs Stud Standpipes
A o
e N\ =
A A g
Qg =L
=
(=]
BSPP 0D Imperial to BSPP 0D Metric to BSPP ©
0450 0D Thread 0450 0D mm Thread VS
KRP2 18" KR4-2SSAR 14" 18" KRMG-2SSAR 6 18" L
KRP4 174 KR4-4SSAR 14" 174 KRMG-4SSAR 6 174
KRP6 38" KR5-2SSAR* 5/16" 18" KRM8-2SSAR 8 18"
KRP8 12" KR5-4SSAR* 5/16" 174 KRM8-4SSAR 8 /4
KRP10 5/8" KR5-6SSAR 5/16" 38" KRM8-6SSAR 8 38"
KRP12 34" KR6-4SSAR 3/8" 14 KRM10-4SSAR 10 4
KRP16 1" KR6-6SSAR 38" 38" KRM10-6SSAR 10 38"
KRP20 114 KR8-4SSAR 12" 74 KRM12-4SSAR 12 /4
KRP24 11/2" KR8-6SSAR 12" 38" KRM12-6SSAR 12 38"
KRP32 2 KR8-8SSAR 12" 12" KRM12-8SSAR 12 12"
Tech Sheet 10740 KR10-6SSAR 5/8" 38" KRM16-6SSAR 16 38"
KR10-8SSAR* 5/8" 12" KRM16-8SSAR 16 12"
KR10-128SAR* 5/8" 34" KRM16-12SSAR 16 34"
KR12-8SSAR 34" 12" KRM20-8SSAR 20 12"
KR12-128SAR 34 3/4" KRM20-12SSAR 20 3/4”
KR14-8SSAR* 78" 12" KRM22-8SSAR 2 12"
KR14-128SAR* 78" 3/4" KRM22-12SSAR 2 3/4"
KR14-16SSAR 78" 1 KRM22-16SSAR 2 1
S KR16-12SSAR 1" 3/4" KRM25-12SSAR % 3/4"
BSPT KR16-16SSAR 1" 1 KRM25-16SSAR 25 1
0450 Thread KR20-12SSAR 11/4" 3/4" KRM30-12SSAR 0 3/4”
KRPT2 18" KR20-16SSAR 1.1/4" 1 KRM30-16SSAR 0 1
KRPT4 14" KR20-20SSAR 11/4" 1.1/4" KRM30-20SSAR 0 1.1/4"
KRPT6 38" KR24-16SSAR* 11/2° 1 KRM38-16SSAR 38 1
KRPTS 12" KR24-20SSAR* 11/2" 11/4" KRM38-20SSAR 38 11/4"
KRPT12 34" KR24-24SSAR* 11/2" 11/2" KRM38-24SSAR 38 11/2"
KRPT16 1 KR32-24SSAR 3 11/2" KRMS50-24SSAR 50 1172
KRPT20 11/4" KR32-32SSAR 2 3 KRMS50-32SSAR 50 2
Tech Sheet 10741 Tech Sheet 10743 Tech Sheet 10744
Gauge Adaptors Banjos Bleed Plugs (Air)
Seals sold separately
A %
A
\ -
! \ 'ﬁ““!u
- L™
BSPP
BseR %
0450 Thread Thread KRA4-4BJ 1/4" =
KRGA4-4 /4" 14" KRAG-6BJ 38" BSPP =
=)
KRGAG-4 38’ 17 KRAS-88J 112 <
KRGAS-4 12" 14" KRA12-12BJ 34" KRP2AB 18" =
Tech Sheet 10742 Tech Sheet 10745 Tech Sheet 10746 ;

*Minimum order quantity on these items may apply




802

El PANAM

Stainless Steel
Adaptors




R[Y)DAIR:¢3I%ISC STAINLESS STEEL zzgg}less ®PANA’W 2

Male x Male Straight Adaptors

T
6 N '
£y W
BSPP x BSPP BSPP x BSPT BSPT x BSPT .g
0044 LLIGED Thread 0044 Thread 0044 LLIGED] Thread g
2025-1401 1/8" 1/8" 2033-9693 1/4" 2025-1708 1/8" 1/8" 2
2025-1419 1/4" 1/8" 2033-9761 3/8" 2025-1715 1/4" 1/8" g
2025-1427 1/4" 1/4" 2033-9719 12" 2025-1724 1/4" 1/4" o
2025-1435 3/8" 1/8" 2033-9727 34" 2025-1727 3/8" 1/8"
2025-1443 3/8" 1/4" 2033-9735 1 2025-1732 3/8" 174"
2025-1450 3/8" 3/8" Tech Sheet 20884 2025-1740 3/8" 3/8"
2025-1468 12" 1/4" 2025-1845 12" 1/8"
2025-1476 12" 3/8" 2025-1852 12" 174"
2025-1484 12" 1/2" .- 2025-1856 12" 3/8"
2025-1495 5/8" 172" \;\ 2025-1865 12" 12"
2025-1505 5/8" 58" “j« ‘&\ 3 N 2025-1881 34 18"
2025-1520 34 14" ii‘\\\‘ =% W 2025-1885 3/4" 174"
2025-1526 3/4" 3/8" ; i) 2025-1889 38" 3/8"
2025-1534 3/4" 12" W el 2025-1894 34" 1/2"
2025-1538 3/4" 5/8" 2025-1898 3/4" 3/4"
2025-1559 38" 3/4" 2025-1905 1 1/8"
2025-1567 1 12" BSPP x NPT 2025-1910 1 1/4"
2025-1572 1 5/8" 0044 BSPP Thread NPT Thread 2025-1915 1 3/8"
2025-1583 1 3/4" 2025-1633 1/8" 1/8" 2025-1920 1 12
2025-1591 1 1" 2025-1636 1/8" 1/4" 2025-1925 1 3/4"
2025-1595 1.1/4" 34" 2025-1639 1/4" 1/8" 2025-1931 1 1"
2025-1600 1.1/4" 1" 2025-1641 1/4" 1/4" 2025-1935 1.1/4" 1"
2025-1609 1.1/4" 1.1/4" 2025-1643 1/4" 38" 2025-1940 1.1/4" 1.1/4"
2025-1611 11/2" 1" 2025-1656 3/8" 1/4" 2025-1945 11/2" 1"
2025-1615 1.1/2" 1.1/4" 2025-1658 3/8" 3/8" 2025-1950 1.1/2" 1.1/2"
2025-1617 11/2" 1.1/2" 2025-1661 3/8" 172" 2025-1956 2 1"
2025-1620 2 1.1/2" 2025-1671 12" 3/8" 2025-1960 2" 1172
2025-1625 2" 2 2025-1674 12" 172" 2025-1965 2" 2
Tech Sheet 20884 2025-1677 5/8" 12" Tech Sheet 20884
2025-1679 5/8" 3/4"
2025-1681 3/4” 12
2025-1682 38" 3/4"
2025-1684 3/4" 1"
2025-1687 1" 3/4"
2025-1690 1" 1"
2025-1700 1.1/4" 1.1/4"
2025-1710 11/2" 11/2"
2025-1720 2" 2
Tech Sheet 20884
stainless
steel

For 10,000 psi Rated, 316 Stainless Steel Adaptors
see pages 808-812

HYDRAULICS




R[Y)DAE¢3I%ISC STAINI.ESS STEEL :::Lr:less PANAM

Male x Female Straight Adaptors Elbows
«x@\i
N "&_& | »x( M
<8 )
g A’“\‘ “\ ¥
Q)
(%] -
i1 Male x Female Swivel, BSPP .
g Male x Female Fixed, BSPP Equal Elbow, BSPP
S [ 0044 Male Thread Female Thread
=% 2025-1930 18" 18" 0044 Male Thread Female Thread 0044 Thread
E 2025-1948 " 14" 2025-8121 1/8” 1/8" 2033-9922 1/8"
bl 20251955 1/4" 3/8" 2025-8131 1/4" 1/8" 2033-9933 1/4"
2025-1961 e 12 2025-8142 1/4" 1/4" 2033-9941 3/8"
2025-1963 38" 14" 2025-8151 3/8" 1/8" 2033-9958 1/2"
2025-1971 38" 38" 2025-8161 3/8" 1/4" 2033-9962 5/8"
2025-1989 38" 12 2025-8171 3/8" 3/8" 2033-9963 34"
2025-1997 Y2 2" 2025-8181 12" 1/4" 2033-9974 1"
2025-2003 12 a 2025-8201 12" 3/8" 2033-9982 144
2025.2020 2 e 2025-8211 2 12 2033-9992 112"
2025-2029 N 12" 2025-8191 34 1/4" Tech Sheet 20884
2025-2037 3/4” 3/4" 2025-8221 el 38"
2025-2043 Ve 1" 2025-8231 3/4" 12"
2025-2060 I 1 2025-8241 34" 34"
Tech Shest 20884 2025-8251 v vz y- N
2025-8261 1" 1"
2025-8271 1" 34"
. 2025-8281 1.4/4" 12"
Female Swivel, BSPP x BSPT Male 2025-8291 e G
0044 Thred 2025-8301 1.1/4” 1 : Male X Female sWiVeI, BSPP
2033-9862 1/8 2025-8311 1.1/4 1.1/4
2033-9867 1/4" 2025-8321 1.1/2" 3/4" 0044 Thread
2033-9875 3/8" 2025-8331 1.1/2" 1" 2025-2185 178
2033-9883 1/2" 2025-8341 1.1/2" 1.1/2" 2025-2193 174
2033-9891 3/4" 2025-8351 11/2" 1.1/4" 2025-2201 38"
2033-9896 1 2025-8361 2" 2 2025-2219 12
Tech Sheet 20884 Tech Sheet 20884 2025-2223 5/8"
2025-2227 34"
. 2025-2232 1"
Female x Female Straight Adaptors 20252240 1
2025-2245 1172
Tech Sheet 20884

Swivel, BSPP Fixed Female Hexagon Socket, BSPP /
0044 Thread Thread .
2025-2078 14" 14" 2025-2466 /8" Female Swivel, BSPP
2025-2082 38" 14 2025-2474 K3
2025-2086 38" 38" 2025-2482 38" 2025-2128 1/8"
2025-2089 12 14" 2025-2490 12" 2025-2136 14
2025-2003 12" 38" 2025-2508 34 2025-2151 12"
2025-2094 12 12 2025-2516 1 2025-2169 34

vy 20252100 5/8" 58" Tech Sheet 20884 Tech Sheet 20884

S asnn 34 12"

S 052132 34" 34"

= a0 1 1

[=] Tech Sheet 20884

>

T




R[Y)DAIR:¢gIIiISC STAINI.ESS STEEI. :::Lr:less PANAM

Tees Plugs
< = Qﬁ“\
& S?"'" \@;\»‘ & R 'ﬁ‘ R
v\‘“""(‘ - ,,al‘ a‘*”(\ — Wy \E
FAX T o VD
a = | wv
o RS o i, Q
N BSPP ¢
Male, BSPP Female Swivel Branch, BSPP 0044 Thread "
0044 Thread 0044 Thread 2033-4002 18 E
2025-2321 18" 2025-4001 18" 2033-4012 174 £
2025-2326 174" 2025-4011 14" 2033-4022 3/8 =3
2025-2334 38" 2025-4021 38" 2033-4032 12 E
2025-2342 12" 2025-4031 12" 2033-4042 5/8 o
2025-2449 3/ 2025-4041 3/ 2033-4052 3/4
2025-2354 1 2025-4051 1 2033-4062 !
Tech Sheet 20884 Tech Sheet 20884 2033-4072 1.1/4
2033-4082 1.1/2"
2033-4092 2"
N Tech Sheet 20884
-+ %, 2 W
pe o) | A B\ — .
b5 g WP L
4
\ ]
Q W"- TLALRRE\
,\ W}
Female Swivel, BSPP Female Swivel Run, BSPP )““"
0044 Thread 0044 Thread BSPT o
5-225 LN 54511 Ui 2025-2524 18
uos 2273 e uos 4551 e 2125 2532 e
2025-2283 3/4" 2025-4541 3/4" 20252500 38
- /4 - /4 20252557 12"
S Tech Sheet 20884 1 e Tech Sheet 20884 1 20252565 e
EC| eet ecl eet 2025-2573 1"
2025-2582 1.1/4"
2025-2502 1172
Bl.llkhead complete 2ot 2000 ”
with Locknut Tech Sheet 20834
Caps
v { \ . %
BSPP | =
0044 Thread y =
2025-2391 14" BSPP
2025-2409 3/8" 0044 Thread
2025-2417 12" 2033-8301 18"
2025-2425 5/8" 2033-8311 14"
2025-2433 34" 2033-8321 3/8"
2025-2441 1" 2033-8331 12"
2025-2445 1.1/4" 2033-8341 34"
2025-2450 1172 2033-8351 1"
Tech Sheet 20884 Tech Sheet 20884

HYDRAULICS




(%]
2
[—
)
=
(=]
=4
=
S
o

HYDRAULICS

316 PRECISION INSTRUMENTATION

PIPE FITTINGS

Hexagon Nipples

A

Male x Male, NPT
PHN-01 1/16"
PHN-02 1/8”
PHN-04 1/4"
PHN-06 3/8"
PHN-08 1/2"
PHN-12 3/4"
PHN-16 1
Tech Sheet 20885
Hexagon Nipples, Long
o
‘\;"{(iiw
Male x Male, NPT
0342 Thread Length
PHNL-02-L1.5 1/8" 15"
PHNL-02-12 1/8" 2
PHNL-02-L3 1/8" 3
PHNL-02-L4 1/8" 4
PHNL-02-L6 1/8" 6"
PHNL-04-11.5 1/4" 15"
PHNL-04-12 1/4" 2
PHNL-04-L3 1/4" 3
PHNL-04-L4 14" g
PHNL-04-L6 1/4" 6"
PHNL-06-L1.5 3/8" 15"
PHNL-06-12 3/8" 2
PHNL-06-L3 3/8" 3
PHNL-06-L4 3/8" 4
PHNL-06-L6 3/8" 6"
PHNL-08-L1.5 12" 15"
PHNL-08-L2 12" 2
PHNL-08-L3 12" 3
PHNL-08-L4 12" g
PHNL-08-L6 12" 6"
PHNL-12-12 34" 2
PHNL-12-13 34" 3
PHNL-12-L4 34" 4
PHNL-12-L6 34" 6"
PHNL-16-L1.5 1" 15"
PHNL-16-L2 1 2
PHNL-16-L3 1" 3
PHNL-16-L4 1" g
PHNL-16-L6 1" 6"
Tech Sheet 20885

Reducing Hexagon Nipples

Ve

N '*tﬂ

Male x Male, NPT
0342 Thread Thread
PRHN-02-01 1/8" 1/16"
PRHN-04-02 174" 18"
PRHN-06-02 3/8" 18"
PRHN-06-04 3/8" 14
PRHN-08-02 12" 18"
PRHN-08-04 12" 14
PRHN-08-06 12" 3/8°
PRHN-12-06 34" 14
PRHN-12-08 3/4" 12"
PRHN-16-08 1 120
PRHN-16-12 1 3/4"

Tech Sheet 20885
Hexagon Coupling

N \

Female x Female, NPT
PHC-02 1/8"
PHC-04 14"
PHC-06 3/8"
PHC-08 12"
PHC-12 3/4"
PHC-16 1"

Tech Sheet 20885

Reducing Hexagon Couplings

A

Female x Female, NPT

0342 Thread Thread
PRC-04-02 1/8" 1/8"
PRC-06-04 3/8" 1/4"
PRC-08-02 1/2" 1/8"
PRC-08-04 1/2" 1/4"
PRC-08-06 1/2" 3/8"
PRC-12-04 3/4" 1/4"
PRC-12-08 3/4" 1/2"
PRC-16-08 1" 1/2"

Tech Sheet 20885

stainless
steel

El PANAM

Equal Male x Female Adaptors

Male x Female, NPT

PPA-02 1/8"
PPA-04 1/4"
PPA-06 3/8"
PPA-08 12"
PPA-12 3/4"
PPA-16 1

Tech Sheet 20885

Reducing Male x Female
Adaptors

o
&

Male x Female, NPT
0342 Male Thread Female Thread
PRA-02-01 1/16" 1/8"
PRA-04-02 1/8" 1/4"
PRA-06-02 1/8" 3/8"
PRA-06-04 1/4" 3/8"
PRA-08-02 1/8" 1/2"
PRA-08-04 1/8" 1/2"
PRA-08-06 3/8" 1/2"
PRA-12-04 1/4" 3/4"
PRA-12-06 3/8" 3/4"
PRA-12-08 1/2" 3/4"
PRA-16-04 1/4" 1"
PRA-16-08 1/2" 1"
PRA-16-12 3/4" 1"
Tech Sheet 20885
Gauge Adaptor
Male NPT x Female, BSPP
0342 Male Thread Female Thread
PGA-04-04 1/4" 1/4"
PGA-06-06 3/8" 3/8"
PGA-08-08 1/2" 1/2"
Tech Sheet 20885



316 PRECISION INSTRUMENTATION

stainless i
PIPE FITTINGS st PANAM g

Reducing Bushes Equal Elbows Equal Tees
e -
4 X WY @ D
“w i
.
Q\ H d \ / /\ /’ \
> W ‘} \Z
Male x Female, NPT Female, NPT Female, NPT
0342 Male Thread Female Thread 0342 Thread 1)
PRB-02-01 1/8" 1/16" PPFE-02 1/8" PFT-02 1/8" =
PRB-04-02 174" 18" PPFE-04 14" PFT-04 14" =
PRB-06-02 3/8" 18" PPFE-06 3/8" PFT-06 3/8" g
PRB-06-04 3/8" 14" PPFE-08 12" PFT-08 12" S
PRB-08-02 12" 1/8" PPFE-12 3/4" PFT-12 3/4"
PRB-08-04 12" 14" PPFE-16 1 PFT-16 1
PRB-08-06 1/2" 3/8" Tech Sheet 20885 Tech Sheet 20885
PRB-12-04 3/4” /4"
PRB-12-06 3/4" 3/8"
PRB-12-08 3/4" 12"
PRB-16-04 1" /4"
PRB-16-06 1" 3/8"
PRB-16-08 1" 12"
PRB-16-12 1" 3/4"
Tech Shest 20885 Male, NPT Male, NPT
PPME-02 1/8" PMT-02 1/8"
: X " PMT-04 14"
PI e Ca S PPME-04 1/4
P p PPME-06 3/8" PMT-06 3/8"
PPME-08 12" PMT-08 12"
Tech Sheet 20885 Tech Sheet 20885
‘ \o v %
) o g Branch Tees
o
NPT
0342 Thread
PCP-02 1/8" Male x Female, NPT
P e o Tweas
PCP-06 e 4 0 T 5'
PCP-08 12" PSE-02 8" Female x Male, NPT
PCP-12 34 a
gt 1.. PsE.4 e
PSE-06 3/8" PBT-02 18"
Tech Sheet 2
ech Sheet 20885 PSE-08 12" PBT-04 14"
PSE-12 34 PBT-06 3/8"
Pipe P|ugs PSE-16 1 PBT-08 12"
Tech Sheet 20885 Tech Sheet 20885
TN Equal Crosses
| % W ]
‘\ ':.W ¢
\ s
NPT ~ 3 X
0342 Thread \ ] l f/
PP-01 1/16" y
PP-02 1/8" Female, NPT o
PP-04 (a8 e
PP-06 3/8" PPC-02 18" =
PP-08 12" . =
PPC-04 1/4 =
PP-12 Les PPC-06 38" -3
PP-16 1 . ~
PPC-08 12 >
Tech Sheet 20885 PPC-12 3 =
PPC-16 1

Tech Sheet 20885




10,000 PSI RATED, 316 I
STAINLESS STEEL ADAPTORS oo PANAM

Male x Male Straight Adaptors

These fittings within the industry are known as 10K fittings

-
*‘R 'ﬁwi\ 3\ ) \ which have a 10,000 psi working pressure rating.
e ‘}\ 3 W < ‘“\\ 3 e All BSPP fittings are 60° coned for connection to hoses.
E Y N Vi
) e | A) » Maximum Working
| 'y ey
y }’llll~ % < Y=, @ Pressure: . S
BSPP x BSPP BSPP x JIC 10,000 psi (690 bar) ,‘@g\ ettt
\ \SURAY
'2 0339 Thread Thread 0339 Thread Thread *}“ %
] 26-2G-MM-10K 18" 1/8" 2G-4J-MM-10K 18" 716" “ wr
=] 26-46-MM-10K 18" 14" 2G-6J-MM-10K 18" 9/16" NPT x JIC =
] 2G-6G-MM-10K 1/8" 3/8" 4G-4J-MM-10K 1/8" 7/16" X
8 2G-8G-MM-10K 1/8" 1/2" 4G-6J-MM-10K 1/8" 9/16" 0339 LLIGED] Thread
2G-12G-MM-10K 1/8" 3/4" 4G-8J-MM-10K 1/8" 3/4" 2N-2J-MM-10K 1/8" 5/16"
2G-16G-MM-10K 1/8" 1" 6G-4J-MM-10K 3/8" 7/16" 2N-4J-MM-10K 1/8" 7/16"
4G-4G-MM-10K 1/8" 1/4" 6G-6J-MM-10K 3/8" 9/16" 4N-4J-MM-10K 1/8" 7/16"
4G-6G-MM-10K 1/4" 3/8" 6G-8J-MM-10K 3/8" 3/4" 4N-6J-MM-10K 1/4" 9/16"
4G-8G-MM-10K 1/8" 1/2" 6G-10J-MM-10K 3/8" 7/8" 4N-8J-MM-10K 1/8" 3/4"
4G-12G-MM-10K 1/8" 3/4" 6G-12J-MM-10K 3/8" 1.1/16" 6N-4J-MM-10K 3/8" 7/16"
4G-16G-MM-10K 1/4" 1" 8G-4J-MM-10K 1/2" 7/16" 6N-6J-MM-10K 3/8" 9/16"
6G-6G-MM-10K 3/8" 3/8" 8G-8J-MM-10K 1/2" 3/4" 6N-8J-MM-10K 3/8" 3/4"
6G-8G-MM-10K 3/8" 1/2" 8G-10J-MM-10K 1/2" 7/8" 6N-12J-MM-10K 3/8" 1.1/16"
6G-12G-MM-10K 3/8" 3/4" 8G-12J-MM-10K 1/2" 1.116" 8N-4J-MM-10K 1/2" 7/16"
6G-16G-MM-10K 3/8" 1" 8G-16J-MM-10K 1/2" 1.5/16" 8N-6J-MM-10K 1/2" 9/16"
8G-8G-MM-10K 1/2" 1/2" 12G-8J-MM-10K 3/4" 3/4" 8N-8J-MM-10K 1/2" 3/4"
8G-12G-MM-10K 1/2" 3/4" 12G-10J-MM-10K 3/4" 7/8" 8N-12J-MM-10K 1/2" 1.116"
8G-16G-MM-10K 1/2" 1" 12G-12J-MM-10K 3/4" 1.1/16" 12N-8J-MM-10K 3/4" 3/4"
12G-12G-MM-10K 3/4" 3/4" 12G-16J-MM-10K 3/4" 1.5/16" 12N-12J-MM-10K 3/4" 1.116"
12G-16G-MM-10K 3/4" 1" 16G-10J-MM-10K 1" 7/8" 12N-16J-MM-10K 3/4" 1.5/16"
16G-16G-MM-10K 1" 1" 16G-12J-MM-10K 1" 1.1/16" 16N-12J-MM-10K 1" 1.1/16"
Tech Sheet 20887 16G-16J-MM-10K 1" 1.5/16" 16N-16J-MM-10K 1" 1.5/16"
Tech Sheet 20887 Tech Sheet 20887
- _
. S
AN ;i N
3 / 7% W
: g 7 DRatEL
\
| » W
N P
BSPP x NPT v .\J¢ .
0319 Thread Thread JIC x JIC
;gi:mm:gﬁ 1? g }; i 0339 Thread Thread
2G-6N-MM-10K 3 38" NPT x NPT 4J-4J-MM-10K 716" 7/16"
4J-6J-MM-10K 7/16" 9/16"
26-8N-MM-10K 18" 2 0339 Thread Thread 0080 MM10K 7% o 3/ -
2G-12N-MM-10K 1/8" 3/4" 2N-2N-MM-10K 1/8" 1/8" 6J-6J-MM-10K 9/16" 916"
2G-16N-MM-10K 1/8" 1" 2N-4N-MM-10K 1/8" 1/4" 6J-8J-MM-10K 916" 34"
46-2N-MM-10K 14" 1/8" AN-4N-MM-10K 14" 14" 50-10J-MM-10K T e
4G-4N-MM-10K I3 14" AN-6N-MM-10K I3 38" 5080 MM-10K o e
46-6N-MM-10K 5 38’ 4N-8N-MM-10K 4 12 80100 MM-10K 3 77
46-8N-MM-10K " 12 6N-2N-MM-10K 38" 18" 8012 MNAOK e s
46-12N-MM-10K 14" 34 6N-6N-MM-10K 38" 38" 1010 MM-10K e e
4G-16N-MM-10K 1/4" 1" 6N-8N-MM-10K 3/8" 1/2" 10J-12J-MM-10K /8" 11/16"
6G-4N-MM-10K 3/8" 1/4" 8N-2N-MM-10K 1/2" 1/8" 100-16J-MM-10K 78" 1.5/16"
66-6N-MM-10K 38" 38" 8N-8N-MM-10K 12 12 12161 MIML10K s LS
6G-8N-MM-10K 3/8" 1/2" 12N-2N-MM-10K 3/4" 1/8" 16J-16J-MM-10K 1 '5/1 6" 1.5/1 6"
6G-12N-MM-10K 3/8" 3/4" 12N-4N-MM-10K 3/4" 1/8" Tech Sheet 20887 '
6G-16N-MM-10K 3/8" 1" 12N-6N-MM-10K 3/4" 3/8"
(7, 8G-4N-MM-10K 1/2" 1/4" 12N-8N-MM-10K 3/4" 1/2"
= 8G-6N-MM-10K 1/2" 3/8" 12N-12N-MM-10K 3/4" 3/4"
5' 8G-8N-MM-10K 1/2" 1/2" 16N-2N-MM-10K 1" 1/8"
< 8G-12N-MM-10K 1/2" 3/4" 16N-4N-MM-10K 1 1/4"
g 8G-16N-MM-10K 1/2" 1" 16N-6N-MM-10K 1" 3/8"
>= 12G-12N-MM-10K 3/4" 3/4" 16N-8N-MM-10K 1" 1/2"
= 12G-16N-MM-10K 3/4" 1" 16N-12N-MM-10K 1 3/4"
16G-16N-MM-10K 1" 1" 16N-16N-MM-10K 1" 1"

Tech Sheet 20887 Tech Sheet 20887




10,000 PSI RATED, 316 stainless i
STAINLESS STEEL ADAPTORS stec rpANnAv B

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating. @ Maximum Working Pressure:
All BSPP fittings are 60° coned for connection to hoses. 10,000 psi (690 bar)

Male x Female Straight Adaptors

5. SR X | o ""& 3
n e M m = ~ X \! ‘ia .
m o
| v ! & | W % ) 7
N N &8
NS ¢ =
BSPP x BSPP JIC x NPT JIC x JIC, Swivel g
-9
w33 ote, e Wlus ol [T TR
26-2G-MF-A-10K 1/8" 18" 4J-2N-MF-A-10K 7/16"-20 1/8" 4-60-MF-10K e 916"
2G-4G-MF-A-10K 18" 14" 4J-4N-MF-A-10K 7/16"-20 14" 1)-80-MF-10K 6" T -
2G-6G-MF-A-10K 18" 3/8" 6J-4N-MF-A-10K 9/16"-18 14 6J-80-MF-10K 96" 6" o7
2G-8G-MF-A-10K 1/8" 12" 4J-6N-MF-A-10K 7/16"-20 3/8" 6J-60-MF-10K 916" 916"
26-12G-MF-A-10K 1/8" 3/4" 6J-6N-MF-A-10K 9/16™-18 3/8" 6.-80-MF-10K 916" a8
4G-4G-MF-A-10K 14" 14" 8.-6N-MF-A-10K 3/4"-16 3/8" 8J4J-MF-10K e "
4G-6G-MF-A-10K 18" 3/8" 8J-8N-MF-A-10K 9/16"-18 12" BJGI-MF-10K G 916"
4G-8G-MF-A-10K 14" 12" 10J-8N-MF-A-10K 3/4"-16 12" 100-8J-MF-10K 78 I
4G-12G-MF-A-10K 14" 34" 12J-8N-MF-A-10K 7/8"-14 12" 12J-80-MF-10K 116" e
4G-16G-MF-A-10K 1/4" 1 12J-12N-MF-A-10K 3/4"-16 12" 12I12J-NIE10K 116" L116"
6G-6G-MF-A-10K 3/8" 3/8" 16J-16N-MF-A-10K 7/8"-14 12" 100-12J-MF-10K 131" 116"
6G-8G-MF-A-10K 3/8" 12" Tech Sheet 20887 1612J-MF-10K 15/16" 116"
gg:zgmﬁm gﬁg 3{4 16J-16J-MF-10K 15/16" 15/16"
8G-8G-MF-A-10K 12 Vi BSPP x JIC, Swivel Tech Sheet 20887
8G-12G-MF-A-10K 12" 3" 0339 Male Female
86-166-MF-A-10K 12 1" [hroad lhread
126-126-MF-A-10K Y " 4G-4J-MF-10K ol ne
12G-16G-MF-A-10K 4 1 46-5J-MF-10K Ui vz
16G-16G-MF-A-10K B 1 4G-6J-MF-10K 14 916
e —r 6G-6J-MF-10K 3/8" 9/16"
8G-6J-MF-10K 12" 9/16”
6G-8J-MF-10K 3/8" 3"
8G-8J-MF-10K 12" 3/a”
Y 6G-10J-MF-10K 3/8" /8"
o 8G-10J-MF-10K 12" 7/8"
126-10J-MF-10K 3/4" 7/8"
86-12J-MF-10K 12" 1.1/16"
126-12J-MF-10K 3/ 1.1/16"
16G-12J-MF-10K 1 1.1/16"
NPT x NPT 12G-16J-MF-10K 34 1.5/16"
16G-16J-MF-10K 1" 15/16" R
0339 Thiend Thread Tech Sheet 20887 K
2N-2N-MF-A-10K 1/8" 18" —500—
2N-4N-MF-A-10K 18" 14" _
2N-6N-MF-A-10K 18" 3/8" o N
2N-8N-MF-A-10K 1/8" 12" S NeR
2N-12N-MF-A-10K 1/8" 34" am AN
g . \ T
4N-4N-MF-A-10K 1/ 1/4 N
4N-6N-MF-A-10K 14" 3/8" W
4N-8N-MF-A-10K 14" 12" 1
4N-12N-MF-A-10K 14" 3/4" NPT x JIC, Swivel
4N-16N-MF-A-10K 14" 1 o NS e
6N-6N-MF-A-10K 3/8" 3/8" Thread Thread
6N-8N-MF-A-10K 3/8" 12" 4N-4J-MF-10K 1/4" 7/16"
6N-12N-MF-A-10K 3/8" 34" 6N-6J-MF-10K 3/8" 9/16" »
6N-16N-MF-A-10K 3/8" 1 6N-8J-MF-10K 3/8" 3/4" o
8N-8N-MF-A-10K 12" 12" 8N-10J-MF-10K 12" 7/8" =
8N-12N-MF-A-10K 12" 3" 8N-12J-MF-10K 12" 1.1/16" <
8N-16N-MF-A-10K 12" 1 12N-12J-MF-10K 3 1.1/16" =
12N-12N-MF-A-10K 3 3" 12N-14J-MF-10K 34 1.3/16" For Hydraulic Adaptors >
12N-16N-MF-A-10K 3/ 1 12N-16J-MF-10K 3/4" 15/16"
16N-16N-MF-A-10K 1" 1 16N-16J-MF-10K 1" 1.5/16" See pages 702-704

Tech Sheet 20887 Tech Sheet 20887




10,000 PSI RATED, 316 I
STAINLESS STEEL ADAPTORS oo PANAM

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating. @ Maximum Working Pressure:
All BSPP fittings are 60° coned for connection to hoses. 10,000 psi (690 bar)

Male x Female Straight Female x Female Male x Male Elbows
Reducers Straight Adaptors
g?@m
™\ ' ';",,(i‘ \ - .;
s N b\ 4 =
£ Aad™ NI B WV/a, %)
= 4 - Swivel, BSPP S BSPP
E BSPP 0339 LLIGED Thread 0339 LLIGED
© 0339 Male Thread  Female Thread 4G-4G-FF-10K 1/4" 14" 2G-E-MM-10K 18"
4G-2G-MF-B-10K 14" 1/8" 4G-6G-FF-10K 174" 3/8" 4G-E-MM-10K 14"
6G-2G-MF-B-10K 3/8" 18 4G-8G-FF-10K 174" 12" 6G-E-MM-10K 3/8"
6G-4G-MF-B-10K 3/8" 14" 6G-6G-FF-10K 3/8" 3/8" 8G-E-MM-10K 12"
8G-2G-MF-B-10K 12" 18" 6G-8G-FF-10K 3/8" 12" 12G-E-MM-10K 3/4"
8G-4G-MF-B-10K 12" 174 8G-8G-FF-10K 12" 12" 16G-E-MM-10K 1"
8G-6G-MF-B-10K 12" 3/8" 126-12G-FF-10K 34" 3/4" Tech Sheet 20887
12G-26-MF-B-10K 3/4" 18" 16G-16G-FF-10K 1" 1
12G-4G-MF-B-10K 3/ 14" Tech Sheet 20887
12G-6G-MF-B-10K 34" 3/8"
12G-8G-MF-B-10K 3/4" 12" -
AN
16G-2G-MF-B-10K 1 18" o
16G-4G-MF-B-10K 1 1/4 ‘% |
16G-6G-MF-B-10K 1 3/8" - \
16G-8G-MF-B-10K 1 12" Fixed, NPT NPT
166-12G-MF-B-10K 1 3 0339 Thread Thread
Tech Sheet 20887 2N-2N-FF-10K 18" 18" 2N-E-MM-10K 18"
2N-4N-FF-10K 1/8" 14" 4N-E-MM-10K 174"
2N-6N-FF-10K 1/8" 3/8" 6N-E-MM-10K 3/8"
2N-8N-FF-10K 1/8" 12" 8N-E-MM-10K 12"
. “/, 2N-12N-FF-10K 18" 34 12N-E-MM-10K 34
A W 2N-16N-FF-10K 1/8" 1 16N-E-MM-10K 1"
is W 4N-4N-FF-10K e 14" Tech Sheet 20887
Y 4N-6N-FF-10K 174" 3/8"
NPT ~ 4N-8N-FF-10K 14" 12
0339 Male Thread  Female Thread AN-12N-FF-10K 1/4" 3/?,'
4N-2N-MF-B-10K 1/4" 1/8" AN-16N-FF-10K 1/4,, v
6N-2N-MF-B-10K 38" 18" GN-GN-FF-10K LS 3/
6N-N.MF-B.10K PP v 6N-8N-FF-10K W 17
8N-2N-MF-B-10K 1/2" 1/8" GN-1ZN-FF-10K 3/ 8,, i 4
8N-4N-MF-B-10K 1/2" 1/4" 6N-16N-FF-10K 3 i v
8N-6N-MF-B-10K 1/2" 38" 8N-8N-FF-10K Lz 2,, V 2,,
12N-2N-MF-B-10K 3 18" 8N-1ZN-FF-10K vz 34
12N-4N-MF-B-10K 3/4" 1/4" 8N-1GN-FF-10K J 2,, ! -
12N-6N-MF-B-10K 3/8" 3/8" 12N-12N-FF-10K Al n
12N-8N-MF-B-10K 3 12 12N-16N-FE-10K 5 r
16N-2N-MF-B-10K 1 18" 16N-16N-FF-10K 1 1
16N-4N-MF-B-10K 1 174 Toch Sheet 20867
16N-6N-MF-B-10K 1 3/8" S
16N-8N-MF-B-10K 1 12" )
16N-12N-MF-B-10K 1 34 n B
Tech Sheet 20887 \% ;)
Swivel, JIC <
0339 Thread Thread
n 4J-4J-FF-10K 7/16" 7/16"
] 4J-6J-FF-10K 7/16" 9/16”
5' 4J-8J-FF-10K 9/16” 34"
< 6J-6J-FF-10K 9/16" 9/16"
e 6J-8J-FF-10K 9/16" 3/4"
> 8J-8J-FF-10K 34" 3/4"
= 12J-12J-FF-10K 1.1/16" 1.1/16"
16J-16J-FF-10K 15/16" 15/16"

Tech Sheet 20887




10,000 PSI RATED, 316 I
STAINLESS STEEL ADAPTORS oo PANAM E

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating. @ Maximum Working Pressure:
All BSPP fittings are 60° coned for connection to hoses. 10,000 psi (690 bar)

Male x Female Elbows Female x Female Elbows Male x Male Tees
3 > S
P A < ( xR 2o W
/ < -
LY i P
. # W
Swivel, BSPP BSPP BSPP §
0339 Thread 0339 Thread 0339 Thread 8_
2G-E-MF-10K 1/8" 2G-E-FF-10K 1/8" 2G-T-MM-10K 1/8" g
4G-E-MF-10K 1/4" 4G-E-FF-10K 1/4" 4G-T-MM-10K 1/4" ]
6G-E-MF-10K 3/8" 6G-E-FF-10K 3/8" 6G-T-MM-10K 3/8"
8G-E-MF-10K 1/2" 8G-E-FF-10K 1/2" 8G-T-MM-10K 1/2"
12G-E-MF-10K 3/4" 12G-E-FF-10K 3/4" 12G-T-MM-10K 3/4"
16G-E-MF-10K 1" 16G-E-FF-10K 1" 16G-T-MM-10K 1"
Tech Sheet 20887 Tech Sheet 20887 Tech Sheet 20887
>
P i =
\ z & ™
< o ( /\\ / X
2 YY)
- ‘ 4
Fixed, NPT NPT € NPT
0339 LLIGED 0339 LLIGED 0339 Thread
2N-E-MF-10K 1/8" 2N-E-10K 1/8" 2N-T-MM-10K 1/8"
4N-E-MF-10K 1/4" 4N-E-10K 1/4" 4N-T-MM-10K 1/4"
6N-E-MF-10K 3/8" 6N-E-10K 3/8" 6N-T-MM-10K 3/8"
8N-E-MF-10K 1/2" 8N-E-10K 1/2" 8N-T-MM-10K 1/2"
12N-E-MF-10K 3/4" 12N-E-10K 3/4" 12N-T-MM-10K 3/4"
16N-E-MF-10K 1" 16N-E-10K 1" 16N-T-MM-10K 1"
Tech Sheet 20887 Tech Sheet 20887 Tech Sheet 20887
=
2
2 3 PN G W
p . AW T
P " N A 4 “\ z\,& "/'. \
2 /
@ plile iy Y # y
. L ) > 0339 Thread
Swivel, JIC Jic A T-MIM-10K e
0339 LLIGED 0339 Thread 5J-T-MM-10K 1/2"
4J-E-MF-10K 7/16" 2J-E-FF-10K 716" 6J-T-MM-10K 9/16"
6J-E-MF-10K 9/16" 4J-E-FF-10K 9/16" 8J-T-MM-10K 3/4"
8J-E-MF-10K 3/4" 6J-E-FF-10K 3/4" 10J-T-MM-10K 7/8"
10J-E-MF-1 0K 7/8" 8J-E-FF-10K 7/8" 12J-T-MM-10K 1.1/16"
12J-E-MF-10K 1.1/16" 12J-E-FF-10K 1.1/16" 14J-T-MM-10K 1.3/16"
16J-E-MF-10K 1.5/16" 16J-E-FF-10K 1.5/16" 16J-T-MM-10K 1.5/16"
Tech Sheet 20887 Tech Sheet 20887 Tech Sheet 20887

NPT x JIC

0339 Male Thread Female Thread
4N-4J-E-MF-10K 1/4" 7/16"
6N-6J-E-MF-10K 3/8" 9/16”
8N-8J-E-MF-10K 172" 3/4"
12N-12J-E-MF-10K 3/4" 1.1/16"

Tech Sheet 20887

HYDRAULICS




10,000 PSI RATED, 316 I
STAINLESS STEEL ADAPTORS oo PANAM

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating. @ Maximum Working Pressure:
All BSPP fittings are 60° coned for connection to hoses. 10,000 psi (690 bar)

Female x Female Tees Plugs Caps
= R D
e Whgh |V - - :
( d \ zi ” .EE
£ 5 4
S BSPP BSPP ¢ BSPP -
8_ 0339 LLIGED] 0339 LLIGED 0339 Thread
= 26-TFF-10K 1/8" 2G-P-10K 1/8" 2G-C-10K 18"
(X} 4G-T-FF-10K 14" 4G-P-10K 14" 4G-C-10K 14"
6G-T-FF-10K 3/8” 6G-P-10K 3/8” 6G-C-10K 3/8”
8G-T-FF-10K 12" 8G-P-10K 12" 8G-C-10K 12"
12G-T-FF-10K 34 126-P-10K 34 126-C-10K 3/4"
16G-T-FF-10K 1" 16G-P-10K 1" 16G-C-10K 1"
Tech Sheet 20887 Tech Sheet 20887 Tech Sheet 20887
NPT ' NPT - NPT o
0339 Thread 0339 Thread 0339 Thread
2N-T-10K 1/8" 2N-P-10K 1/8" 2N-C-10K 1/8"
4N-T-10K 1/4" 4N-P-10K 1/4" 4N-C-10K 1/4"
6N-T-10K 3/8" 6N-P-10K 3/8" 6N-C-10K 3/8"
8N-T-10K 1/2" 8N-P-10K 1/2" 8N-C-10K 1/2"
12N-T-10K 3/4" 12N-P-10K 3/4" 12N-C-10K 3/4"
Tech Sheet 20887 16N-P-10K 1 16N-C-10K 1"
Tech Sheet 20887 Tech Sheet 20887
N\ N " ) A
ot o™ \
m \ ¥ y }\ %
: )‘6 J‘ b &x b
Jic - Jic ¢ Jic -
0339 LLICET] 0339 Thread 0339 LLICET]
2J-T-FF-10K 7/16" 4J-P-10K 7/16" 4J-C-10K 7/16"
4J-T-FF-10K 9/16" 6J-P-10K 9/16" 6J-C-10K 9/16"
6J-T-FF-10K 3/4" 8J-P-10K 3/4" 8J-C-10K 3/4"
8J-T-FF-10K 7/8" 10J-P-10K 7/8" 10J-C-10K 7/8"
12J-T-FF-10K 1.1/16" 12J-P-10K 1.1/16" 12J-C-10K 1.1/16"
16J-T-FF-10K 1.5/16" 16J-P-10K 1.5/16" 16J-C-10K 1.5/16"
Tech Sheet 20887 Tech Sheet 20887 Tech Sheet 20887

Female Equal Cross

NPT
n
=R 0339 Thread
— "
= 2NX0K 1/8
= ANX-10K "
£ BNX-10K 38
> BN-X-10K 2
T 12NX-10K 3"
16N-X-10K 1

Tech Sheet 20887




37° JIC STAINLESS STEEL —_
FLARE FITTINGS o PANAM g

Male Stud Couplings
2 *‘\\\ w\ % ‘\\\‘\
"3_\ ‘”‘ T\ ) &\ '»“‘\

UNF UNF x BSPP UNF x NPT @
0215 Thread Thread 0215 Thread Thread §
205BM6 7/16"-20 210SM6G18 7/16"-20 1/8" 214BM6N18 7/16"-20 1/8" =
205BM8 1/2"-20 210SM6G14 7/16"-20 14" 214BM6N14 7/16"-20 14" =
205BM10 9/16"-18 210SM6G38 7/16"-20 3/8" 214BM8N18 1/2"-20 18" =
205BM12 3/4"-16 210SM6G12 7/16"-20 1/2" 214BM8N14 1/2"-20 /4"
205BM16 7/8"14 210SM8G18 1/2"-20 1/8" 214BM10N18 9/16"-18 1/8"
205BM20 1.1/16"-12 210SM8G14 1/2"-20 14" 214BM10N14 9/16"-18 14"
205BM22 1.3/16"-12 210SM8G38 1/2"-20 3/8" 214BM10N38 9/16"-18 3/8"
205BM25 15/16™12 210SM10G18 9/16"-18 1/8" 214BM10N12 9/16"-18 1/2"
205BM32 15/8"-12 210SM10G14 9/16"-18 14" 214BM12N14 3/4"-16 14"
Tech Sheet 20886 210SM10G38 9/16"-18 3/8" 214BM12N38 3/4"-16 3/8"
210SM10G12 9/16"-18 112" 214BM12N12 3/4"-16 12"
210SM12G14 3/4"-16 174" 214BM12N34 3/4"-16 3/4"
210SM12G38 3/4"-16 3/8" 214BM16N12 7/8"14 12"
S 210SM12612 3/4"-16 12" 214BM20N12 1.1/16™12 12"
p ‘\ o peee® 210SM12G34 3/4"-16 3/a" 214BM20N34 1.1/16"12 3/4"
"\\“‘ {22 210SM16G38 7/8"14 3/8" 214BM20N1 1.1/16"12 1"
‘ = W 210SM16G12 7/8"-14 12" 214BM25N34 15/16™12 3/4"
- ' 210SM16G34 7/8"14 3/4" 214BM25N1 15/16"-12 1"
y 210SM20G12 1.1/16"-12 12" 214BM32N1 15/8"-12 1"
UNF x BSPT 210SM20G34 1.1/16"12 3/4” 214BM32N114 15/8"-12 1174
210SM20G1 1.1/16"12 1" 214BM38N114 1.7/8"12 1.1/4"
M oR1S 0 T" 210SM22G34 13/16"12 34" 214BM38N112 17/8"12 11/2"
. . 210SM25G34 15/16"-12 3/4” Tech Sheet 20886
210BMGR14 1620 174 210SM25G1 15/16"-12 1"
210BMGR12 620 I8 210SM25G114 15/16"-12 1.1/4"
210BMBR13 1220 18 210SM32G1 15/8"-12 1"
210BM8R14 1/2"-20 1/4" . .
; B 210SM32G114 15/8"-12 1.1/
210BM10R14 SN16™18 14 210SM38G114 1.7/8"12 1.1/4"
210BM10R18 9/16"-18 1/8" . .
. . 210SM38G112 1.7/8"12 1172
210BM10R38 9/16"-18 3/8 "
210BM10R12 9/16"-18 12"
210BM12R14 3/4"-16 /4"
210BM12R38 3/4"-16 3/8"
210BM12R12 3/4"-16 112" .
210BM16R12 7/8"-14 12" stainless
210BM16R34 7/8"-14 3/4" steel
210BM20R12 1.1/16"-12 12"
210BM20R34 1.1/16"-12 3/
210BM20R1 1.1/16™12 1"
210BM22R34 1.3/16"-12 3/4"
210BM25R34 15/16"-12 3/4"
210BM25R1 15/16™12 1"
210BM32R1 15/8"-12 1" - -
210BM32R114 o2 e For 316 Stainless Steel Tubing
210BM38R112 1.7/8"12 172" seepage744
Tech Sheet 20886

For Flaretite Seals see page 835

HYDRAULICS




37° JIC STAINLESS STEEL B
FLARE FITTINGS e PANAM

Female Stud Couplings
S5XY =
&\ m%
' w
Male UNF x Female BSPP Male UNF x Female NPT Male UNF x Female BSPT
(%]
2
S [0 Thread Thien 0215 Thread Thiend 0215 Thread Thiend
=] 230BM6G18 7/16"-20 1/8" 232BM6N18 7/16"-20 1/8" 231M6R18 7/16"-20 1/8"
=]  230BM6G14 7/16"-20 1/4" 232BM6N14 7/16"-20 1/4" 231M6R14 7/16"-20 1/4"

I 230BM6G12 7/16"-20 1/2" 232BM8N14 1/2"-20 1/4" 231M6R12 7/16"-20 1/2"
230BM8G14 1/2"-20 1/4" 232BM10N14 9/16"-18 1/4" 231M8R18 1/2"-20 1/8"
230BM10G18 9/16"-18 1/8" 232BM10N38 9/16"-18 3/8" 231M8R14 1/2"-20 1/4"
230BM10G14 9/16"-18 1/4" 232BM12N12 3/4"-16 1/2" 231M10R18 9/16"-18 1/8"
230BM10G38 9/16"-18 3/8" 232BM20N12 1.1/16"-12 1/2" 231M10R14 9/16"-18 1/4"
230BM10G12 9/16"-18 1/2" 232BM20N34 1.1/16"-12 3/4" 231M10R38 9/16"-18 3/8"
230BM12G14 3/4"-16 1/4" 232BM25N1 15/16"-12 1 231M10R12 9/16"-18 1/2"
230BM12G38 3/4"-16 3/8" 232BM32N114 15/8"12 1.1/4" 231M12R14 3/4"-16 1/4"
230BM12G12 3/4"-16 1/2" 232BM38N112 17/8"12 11/2" 231M12R38 3/4"-16 3/8"
230BM12634 3/4"-16 3/4" Tech Sheet 20886 231M12R12 3/4"-16 12"
230BM16G38 7/8"-14 3/8" 231M12R34 3/4"-16 34"
230BM16G12 7/8"-14 12" 231M16R38 7/8"-14 3/8"
230BM16G34 7/8"-14 34" 231M16R12 7/8"-14 12"
230BM18G1 1.1/16"-12 1 231M16R34 7/8"-14 34"
230BM22G34 1.3/16"-12 34" 231M18R34 1.1/16"-12 34"
230BM25G34 15/16"-12 3/4" 231M18R1 1.1/16"-12 1"
230BM25G1 15/16"-12 1" 231M22R34 1.3/16"-12 34"
230BM3261 15/8"-12 1" 231M25R34 15/16"-12 34"
230BM32G114 15/8"-12 1.1/4" 231M25R1 15/16"-12 1"
230BM38G114 17/8"12 1.1/2" 231M32R1 15/8"-12 1"
230BM38G112 17/8"12 1.1/2" 231M32R114 15/8"-12 1.1/4"

Tech Sheet 20886 231M38R114 1.7/8"-12 1.1/4"
231M38R112 17/8"12 1.1/2"
Tech Sheet 20886
Female Swivel Connectors
- ~ - R B
O\ L e e S L e S L
* i % m\ )% f s T f AN
\ W % s \%\. P %\ |
\ » \ =0 L\ -y
) E /A i
Male NPT x Female UNF
0215 Male Female
Thread Thread Male BSPT x Female UNF
Male UNF x Female UNF Male BSPP x Female UNF 276M6N18 1/8" 7/16"-20 el =
276M8N18 1/8" 1/2"-20 0215 Thread Theead
0215 Male Female 0215 Male Female - - . 2
Thread Thread Thread Thread 276M6N14 1/4 7/16"-20 273M6R18 1/8 7/16"-20
213M6UT16  7/16"-20 7/16"-20 273M6G18 1/8" 7/16"-20 276M8N14 1/4" 1/2"-20 2713M8R14 14" 1/2"-20
213M8U716 1/2"-20 7/16"-20 273M8G18 18" 1/2"-20 276M10N14 14" 9/16"-18 213M10R14 174 9/16-18
2713M8U12 1/2"-20 1/2"-20 273M8G14 1/4" 1/2"-20 276M10N38 38" 9/16"-18 213M12R14 14" 3/4"-16
213M10U716  9/16"-18 7/16"-20 273M10G14 1/4" 9/16"-18 276M12N38 3/8" 3/4"-16 2713M12R38 3/8" 3/4"-16
213M10U916  9/16™-18 9/16"-18 273M10638 3/8" 9/16"-18 276M16N12 12" 7/8"-14 213M16R12 12" 7/8"-14

& 23m2ude /416 9/16"-18 273M12G38 3/8" 3/4"-16 276M20N12 1/2" 1.1/16"-12 273M20R12 12" 1.1/16"-12

= 2I13M16U34 7/8"-14 3/4"-16 273M16G12 1/2" 7/8"-14 276M20N34 34" 1.1/16"-12 2713M20R34 34" 1.1/16"-12

= 213M18U38  1.1/16"-12  3/4"-16 273M20G34 3/4" 1.1/16"-12 276M22N34 3/4" 1.3/16"-12 213M22R34 34" 13/16"-12

é 23M18UI116  1.1/16"-12  1.1/16"-12 273M22G34 3/4" 1.3/16"-12 276M25N34 34" 1.5/16"-12 2713M25R34 34" 15/16"-12

g 23M2UI116  1.3/16"-12  1.1/16"-12 273M2561 1 15/16"-12 276M25N1 1 1.5/16"-12 2713M25R1 1" 15/16"-12

o= 213M25UM116  15/167-12  1.1/16™-12 213M326114  1.1/4" 15/8"-12 276M32N114  1.1/4" 15/8"-12 213M32R114  1.1/4" 15/8"-12
213M25U1516  15/16"-12  15/16™-12 213M38G112  1.1/2" 17/8"12 276M38N112  1.1/2" 1.7/8"12 213M38R112  1.1/2" 17/8"12

Tech Sheet 20886 Tech Sheet 20886 Tech Sheet 20886 Tech Sheet 20886




37° JIC STAINLESS STEEL B
FLARE FITTINGS e PANAM

Bulkhead Unions Fixed Elbows
?,«n
X T
M \ % ! @t z 7"“ Sty
‘ ) T, “e I (1
‘ o 7y ‘
‘M < >
Bulkhead complete with Locknut, UNF UNF UNF Male x 45° NPT Male é
0215 Thread Thread S
204M6U716 7/16"-20 206BM6 7/16"-20 285M6N18 7/16"-20 1/8" g
204M8U12 1/2"-20 206BM8 1/2"-20 285M8N14 1/2"-20 18" S
204M10U916 9/16"-18 206BM12 3/4"-16 285M10N12 9/16"-18 14"
204M12U34 3/4"-16 206BM20 1.1/16"12 285M12N18 3/4"-16 3/8"
204M16U78 7/8"-14 206BM22 13/16"-12 285M16N14 7/8"-14 12"
204M18U1116 1.1/16™12 206BM25 15/16™12 285M18N18 1.1/16™12 3/4"
204M22U1316 1.3/16"-12 206BM32 15/8"-12 285M22N14 1.3/16"-12 3/4"
204M25U1516 15/16"-12 206BM38 17/8"12 285M25N38 15/16"-12 1
204M32U158 15/8"-12 Tech Sheet 20886 285M32N12 15/8"-12 1.1/4"
204M38U178 1.7/8"12 285M38N14 17/8"12 11/2"
Tech Sheet 20886 Tech Sheet 20886
UNF Male x BSPT Male

Bulkhead Locknuts 0215 Thread Thread
meheh 5 I
199M6U716 7/'\6"-20 206M6R14 7/1 6"-20 1/4”
199M8U12 1/2"-20 206M6R12 7/1 6"-20 1/2"
199M10U916 9/16"-18 206MER18 1/2"-20 1/8°
199M12U34 34716 206M8R14 1/2"-20 14"
199M16U78 7/8"-14 206M10R18 9/1 6"-18 1/8"

199M18U1116 1.1/16™12 206M10R14 9/16"-18 14
199M22U1316 13/16"-12 206M10R38 9/16"-18 38"
198M25U1516 15/16"-12 206M10R12 9/16™18 Vs
199M320158 15/8-12 206M1ZR14 3/4"-16 /4
199M38U178 17/8"12 206M12R38 3/4"-16 38"
Tech Sheet 20886 206M12R12 3/4"-16 112
206M12R34 3/4"-16 34
206M16R38 7/8"-14 38"
206M16R12 7/8"-14 12
206M16R34 7/8"-14 34
206M18R34 1.1/16™12 34
206M18R1 1.1/16™12 1"
206M22R34 1.3/16™12 34
206M25R34 15/16™-12 34
206M25R1 15/16™12 1
206M32R1 15/8-12 1"
206M32R114 15/8"12 11/4" For Hydraulic Oil
206M38R114 1.7/8"12 114" :
206M38R112 1.7/8"12 11/2" see section 6 page 975
Tech Sheet 20886

HYDRAULICS

For Flaretite Seals see page 835




37° JIC STAINLESS STEEL B
FLARE FITTINGS e PANAM

Swivel Elbows Fixed Tees

e

Ay £
£ \\" / #
vk P L\
Male x Female, UNF Equal Female, UNF UNF
(%]
H CE Thread
§ 275M6U716 7/16"-20 265M6U716 7/16"-20 207BM6 7/16"-20
=4 275M8U12 1/2"-20 265M8U12 1/2"-20 207BM8 1/2"-20
E 275M10U916 9/16"-18 265M10U916 9/16"-18 207BM10 9/16"-18
ol 275M12034 3/4°-16 265M12U34 3/4°-16 207BM12 3/4°-16
275M16U78 7/8"-14 265M16U78 7/8"-14 207BM16 7/8"-14
275M18U1116 1.1/16"-12 265M18U1116 1.1/16"-12 207BM20 1.1/16"-12
275M22U1316 1.3/16™12 265M22U1316 1.3/16™12 207BM22 1.3/16™12
275M25U1516 1.5/16"-12 265M25U1516 1.5/16"-12 207BM25 1.5/16"-12
275M32U158 15/8"-12 265M32U158 15/8"-12 207BM32 15/8"-12
275M38U178 1.7/8°-12 265M38U178 1.7/8°12 Tech Sheet 20886
Tech Sheet 20886 Tech Sheet 20886
-
ayn e
. 90° Position Elbows PSS,
pe 77 P\ \)\
\ fl %)
&\ ﬂ\“\ if ‘ ‘ ”‘,z\\_\‘
NPT Male x UNF Female UNF Male x NPT Male Branch
0215 LLIGED LLIGET 0215 LLIGED] LLIGED]
275M6N18 7/16"-20 1/8" 307M6N18 7/16"-20 1/8"
275M6N14 7/16"-20 1/4" 307M6N14 7/16"-20 1/4"
275M6N12 7/16"-20 1/2" UNF x BSPP 307M6N12 7/16"-20 1/2"
275M8N18 1/2"-20 1/8" 0215 Thread Thread 307M8N18 1/2°-20 1/8"
275M8N14 1/2"-20 1/4" 216SM6G18 7/16"-20 1/8" 307M8N14 1/2"-20 1/4"
275M10N18 9/16"-18 1/8" 216SM6G14 7/16"-20 1/4" 307M10N18 9/16"-18 1/8"
275M10N14 9/16"-18 1/4° 216SM8G18 1/2"-20 1/8" 307M10N14 9/16"-18 1/4"
275M10N38 9/16"-18 3/8" 216SM10G38 9/16"-18 3/8" 307M10N38 9/16"-18 38"
275M10N12 9/16"-18 1/2" 216SM12G14 3/4"-16 1/4" 307M10N12 9/16"-18 1/2"
275M12N14 3/4°-16 1/4° 216SM12638 3/4"-16 3/8" 307M12N14 3/4"-16 1/4°
275M12N38 3/47-16 3/8" 216SM12G12 3/47-16 12" 307M12N38 3/47-16 3/8"
275M12N12 3/4"-16 12" 2165M12634 3/4"-16 34" 307M12N12 3/4"-16 1/2"
275M12N34 3/4°-16 34" 216SM16G14 7/8"-14 1/4° 307M12N34 3/47-16 34"
275M16N38 7/8°-14 3/8" 216SM16G38 7/8"-14 3/8" 307M16N38 7/8°-14 3/8"
275M16N12 7/8"-14 1/2" 216SM16612 7/8"-14 1/2" 307M16N12 7/8"-14 12"
275M16N34 7/8"14 34" 216SM16G34 7/8°-14 34" 307M16N34 7/8"-14 34"
275M18N34 1.1/16™12 34 216SM20G12 1.1/16™12 12" 307M18N34 1.1/16"12 34"
275M18N1 1.1/16™-12 1" 216SM20634 1.1/16"-12 34" 307M18N1 1.1/16™-12 1"
275M22N34 1.3/16"-12 3/4" 216SM22G12 1.3/16"-12 12" 307M22N34 1.3/16"-12 3/4"
275M25N34 1.5/16"-12 34" 216SM22634 1.3/16™12 34 307M25N34 1.5/16"-12 3/4"
275M25N1 1.5/16"-12 1" 216SM22G1 1.3/16™-12 12" 307M25N1 1.5/16"-12 1"
275M32N1 15/8"-12 1" 216SM25G12 15/16"-12 1/2" 307M32N1 15/8"12 1"
275M32N114 1.5/8°-12 1.1/4" 216SM25G1 1.5/16"-12 1" 307M32N114 1.5/8°-12 1.1/4
275M38N114 1.7/8"12 1.1/4" 216SM32G1 1.5/8"-12 1" 307M38N114 1.7/8"12 1.1/4"
275M38N112 17/8"12 1.1/2" 216SM38G112 17/8"12 1.1/2" 307M38N112 17/8"12 1.1/2"
Tech Sheet 20886 Tech Sheet 20886 Tech Sheet 20886

HYDRAULICS

For Flaretite Seals see page 835




37° JIC STAINLESS STEEL B
FLARE FITTINGS e PANAM

Fixed Tees Swivel Tees Position Tees
%,ﬁ »;
< - W A *.?—-'\.J
- A ) A \¥ ]
0 (N )“Q
N 4
UNF Male x NPT Male Run Female Swivel, UNF UNF Male x BSPP Male »
&
0215 Thread Thread 0215 Thread 0215 Thread Thread g
309MEN18 7/16"-20 1/8" 310M6U716 7/16"-20 308MEG18 7/16"-20 1/8" =
309MEN14 7/16"-20 14" 310M8U12 1/2"-20 308M6G14 7/16"-20 14" g
309M6N12 7/16"-20 12" 310M10U916 9/16"-18 308M8G18 1/2"-20 18" S
309M8N18 1/2"-20 18" 310M12U34 3/4"-16 308M8G14 1/2"-20 14"
309M8N14 1/2"-20 14" 310M16U78 7/8"-14 308M10G14 9/16"-18 14" -
309M10N18 9/16"-18 1/8" 310M18U1116 1.1/16"12 308M10638 9/16"-18 3/8" ST
309M10N14 9/16"-18 14" 310M22U1316 13/16™12 308M12G14 3/4"-16 14"
309M10N38 9/16"-18 3/8" 310M25U1516 15/16"-12 308M12638 3/4"-16 3/8"
309M10N12 9/16"-18 12" 310M32U158 15/8"-12 308M12612 3/4"-16 12"
309M12N14 3/4"-16 14" 310M38U178 17/8"12 308M12G34 3/4"-16 34"
309M12N38 3/4"-16 3/8" Tech Sheet 20886 308M16G14 7/8"-14 14"
309M12N12 3/4"-16 12" 308M16G38 7/8"-14 3/8"
309M12N34 3/4"-16 3/4" - 308M16G12 7/8"-14 12"
309M16N38 7/8"-14 3/8" S g 308M16G34 7/8"-14 3/4"
309M16N12 7/8"-14 12" v L 308M20G12 11/16"12 12"
309M16N34 7/8"-14 3/ NN 308M20634 1.1/16"12 34"
309M18N34 11/16"12 3/4" L 1L ﬂd 308M22G34 13/16"12 12"
309M18N1 11/16"12 1 308M22G1 13/16™12 3"
309M22N34 13/16"12 3/4" . 308M22612 13/16"12 1
309M25N34 15/16™12 3 Female Swivel Branch, UNF 308M25634 15/16™12 12"
309M25N1 15/16"12 1 308M25G1 15/16"12 3"
309M32N1 1.5/8"-12 1" 314M6U716 7/16"-20 308M32G1 1.5/8"-12 1"
309M32N114 1.5/8"-12 1.1/4" 314M8U12 1/2"-20 308M32G114 1.5/8"-12 1"
309M38N114 17/8"12 114" 314M10U916 9/16"-18 308M38G114 17/8"12 114"
309M38N112 17/8"-12 112" 314M12U38 3416 308M38G112 17/8"-12 112"
Tech Sheet 20886 314M16U78 7/8"-14 Tech Sheet 20886
314M18U1116 1.1/16"12
314M22U1316 13/16"12
314M25U1516 15/16"12 Cross
314M32U158 15/8"-12
314M38U178 17/8"12 .
Tech Sheet 20886 Uy & =S
- W *
il 4%
- / L)) IR
<2 U )
- 3 Male, UNF
320M6U716 7/16"-20
Female Swivel Run, UNF 320M8U12 1/2°-20
e Ine-I8
312M6U716 7/16™20 320M12U34 Y416
312M8U12 11220 320M16U78 7/814
3120100916 8/1618 320M18U1116 11/16"12
312M12034 3418 320M22U1316 13/16"12
312016078 YN 320M25U1516 15/16712
312M18U1116 11/16"12 iﬁgmggmgz 1%21; o
312M22U1316 13/16"12 : o
312M25U1516 15/16™12 lEciiStice 220550 =
312M32U158 15/8"-12 =
312M38U178 17/8"12 &
Tech Sheet 20886 >
T

For Flaretite Seals see page 835




37° JIC STAINLESS STEEL B
FLARE FITTINGS e PANAM

Swivel Caps Reducing Adaptors Flare Sleeves
SN 2
/ “‘;\Q“m \/K ‘
B '( 2 / — ‘
S * o ==
— — \ 4 /
i7] UNF h UNF Tube x UNF Male Metric
E 0215 Thread 0215 0D mm 0D mm Male Thread
=] 289m6uU716 7/16"-20 303M6U716 10 6 7/16"-20 203M6 6
= 289M8U12 1/2"-20 303M6U34 12 6 3/4"-16 203M8 8
= 289m10u916 9/16"-18 303M10U34 12 10 3/4"-16 203M10 10
289M12U34 3/4"-16 303M6U78 16 6 7/8"-14 203M12 12
289M16U78 7/8"14 303M10U78 16 10 7/8"-14 203M14 14
289M22U1316 1.3/16"-12 303M6U1116 18 6 1.1/16"-12 203M15 15
289M25U1516 15/16"-12 303M10U1116 18 10 1.1/16"-12 203M16258 16
289M32U158 15/8"-12 303M12U1116 18 12 1.1/16"-12 203M18 18
289M38U178 1.7/8"12 303M10U1316 2 10 13/16"-12 203M20 2
Tech Sheet 20886 303M16U1316 2 16 13/16"-12 203M25 2%
303M6U1516 % 6 15/16"-12 203M30 30
. 303M10U1516 % 10 15/16"-12 203M32 32
Blanking Plugs 303M12U1516 25 12 15/16"12 203M382112 38
303M16U1516 % 16 15/16"-12 Tech Sheet 20886
303M18U1516 % 18 15/16"-12
= S 303M18U158 32 18 15/8"-12 .
g ) 303M25U158 R 25 15/8"12 Imperial
L Mz 5 e v [ TR
S 303M18U178 38 18 17/8"12 203714 14"
303M25U178 38 2 17/8"12 2037516 5/16"
4 Tech Sheet 20886 203238 3/8"
203212 12"
UNF 203M15258 5/8"
Tube Nuts sz e
299M6 7/16"-20 20321 1
299M18 1/2"-20 Tech Sheet 20886
299M10 9/16"-18
299M12 3/4"-16 A
299M16 7/8"-14 / 0
299M20 1.1/16"-12 —\ ot ¢
299M22 1.3/16"-12 \
299M25 15/16"-12 Fr)
299M32 1.5/8"-12 <
299M38 1.7/8"12 UNF
T
201M6U716 7/16"-20
201M8U12 1/2"-20
201M10U916 9/16"-18
201M12U34 3/4"-16
201M16U78 7/8"-14
201M20U1116 1.1/16"12
201M22U1316 1.3/16™12
201M25U1516 1.5/16"-12
201M32U158 15/8"-12
201M38U178 1.7/8"12

Tech Sheet 20886

HYDRAULICS

For Flaretite Seals see page 835




We make big things move
- worldwidel

HYDRAULICS you can count on!

) [2] spradow

sssssss

= german engineering at your service

819



(%]
2
[—
)
=
(=]
=4
=
S
o

HYDRAULICS

TEST POINT COUPLINGS

Piston Valve Type, M16 x 2

Media Application:
Hydraulic and other oils on mineral oil basis.

Test Coupling

0330 Thread Max Pressure Bar
1-Z06-28-11-600 1/8" BSPP 400
1-Z06-29-11-600 1/4" BSPP 400
1-206-30-11-600 3/8" BSPP 400
1-Z06-22-11-600 M10x 1.0 630
1-206-23-11-600 M12x1.5 630
1-206-24-11-600 M14x1.5 630
1-Z06-43-00-600 1/8" NPT 400
1-206-44-00-600 1/4" NPT 400
1-206-39-30-600 7/16" UNF 630
1-Z06-40-30-600 9/16" UNF 630

Tech Sheet 10292

Bulkhead Coupling
0330 Max Pressure Bar
1-Z80-48-60-040 630

Tech Sheet 10292

<

Wi

In-line Tee, BSPP

0330 LLIGED Max Pressure Bar
1-210-68-00-600 174" 400
1-210-69-00-600 3/8" 400
1-210-70-00-600 1/2" 630
1-Z10-72-00-600 3/4" 630
1-210-73-00-600 1" 630

Tech Sheet 10292

Metal Cap -30°C to +100°C Sealings Buna N
Metal Cap -20°C to +200°C Sealings Viton

stainless
steel

316 Stainless Steel, BSPP

0330 0D mm Max Pressure Bar
1-912-28-12-660 1/8" 400
1-912-29-12-660 1/4" 630

Tech Sheet 10292

DIN 2353 DKO Light-duty, Metric

0330 0D mm Burst Pressure Bar
1-Z08-00-10-600 6L 1000
1-208-02-10-600 8L 1000
1-208-04-10-600 10L 1000
1-Z08-06-10-600 12L 1000

Tech Sheet 10292

DIN 2353 DKO Heavy-duty, Metric

0330 0D mm Burst Pressure Bar
1-208-03-10-600 8S 1890
1-208-05-10-600 108 1890
1-208-07-10-600 128 1890

Tech Sheet 10292

B spradow

german engineering at your service

Gauge Adaptors

stainless
steel

316 Stainless Steel, BSPP

0330 Thread Max Pressure Bar
1-940-31-22-080 1/2" 630
Tech Sheet 10292

Direct, BSPP

0330 Thread Max Pressure Bar
1-927-29-01-020 1/4" 630
1-927-31-01-020 1/2" 630

Tech Sheet 10292

Hose/Gauge, BSPP
0330 LLIGED Max Pressure Bar
1-918-29-01-240 174" 630
1-918-31-01-240 1/2" 630

Tech Sheet 10292



TEST POINT COUPLINGS El spradow

german engineering at your service

Ball Valve Type, M16 x 2 400 bar Microbore Test Point
Hose Assemblies

Maximum Working Pressure:
630 bar

2
—
@
=
=)
g
. . M16 x 2
Test Coupling DIN 2353 DKO Heavy-duty, Metric S
0330 Length mm
0330 Thread Max Pressure Bar 0330 0D mm Burst Pressure Bar 1-970-04-04-010 200
1-906-22-11-600 M10x1.0 630 1-908-03-20-600 8s 1890 1-970-04-04-040 200
1-906-23-11-600 M12x1.5 630 1-908-05-20-600 10S 1890 1-970-04-04-060 630
1-906-24-11-600 M1 étx 15 630 1-908-07-20-600 128 1890 1-970-04-04-080 800
1-906-28-11-600 61/8" BSPP 630 Tech Sheet 10292 1-970-04-04-090 1000
enten e LIS 10 10
906.43.00- . 316 Stainless Steel Test Points ~ 1-970-04-04-110 2000
1-906-43-00-600 1/8" NPT 630 1-970-00-04-120 2500
1-906-44-00-600 1/4” NPT 630 1-970-04-04-130 2200
1-906-39-30-600 7/16" UNF 630 Sealing by an elastomer captive profiled ring - Viton 1-970-04-04-140 4000
1-906-40-30-600 9/16" UNF 630 Test connection: M16 x 2 Tech Sheet 10292
Tech Sheet 10292 . .
@ Maximum Working Pressure:
630 bar
stainless
steel
=
1/4" BSPP
; 0330 Length mm
Bulkhead Coupling Form C, BSPP 1-970-02-04-010 200
0330 Thread 1-970-02-04-030 300
1-980-48-60-040 MAS-G1/8-WD 18" 1-970-02-04-050 500
Tech Sheet 10292 MAS-G1/4-WD 4 1-970-02-04-060 630
MAS-G3/8-WD 3/8" 1-970-02-04-080 800
. . ) MAS-G1/2-WD 12" 1-970-02-04-090 1000
@ Maximum Working Pressure: Toch Sheet 10292 1-970-02-04-100 1500
135 bar 1-970-02-04-110 2000
1-970-02-04-120 2500
1-970-02-04-140 4000
Tech Sheet 10292

DIN 2353 DKO Light-duty, Metric g
0330 0D mm Burst Pressure Bar 1/2" BSPP S
1-908-00-20-600 6L 630 o
1-908-02-20-600 8L 630 0330 Length mm =)
1-908-04-20-600 10L 630 1-970-04-25-090 1000 =
1-908-06-20-600 12 630 1-970-04-25-100 1500

o —— 1-970-04-25-110 2000

Tech Sheet 10292




TEST POINT COUPLINGS B spradow

End Fitting to suit DN2 and DN4 Hose

Bespoke assemblies available on request

..:arm

i my
Y | BSPP Male, DN3852
NPT Female 0330 Thread DN
. 0330 Thread DN 2-971-33-00-001 1/8" 2
Test Female Straight
" g 2-971-26-00-001 1/4" 2 2-971-33-04-001 1/8" 4
< 0330 Thread Type DN 2-971-26-04-001 1/4" 4 Tech Sheet 60388
o 2-971-04-02-001  M16x2 Knurled 2 2-971-27-00-001 12" 2
g_ 2-971-04-04-001 M16 x 2 Knurled 4 2-971-27-04-001 1/2" 4
£ 2-971-10-02-001 M16x 1.5 Knurled 2 Tech Sheet 60388 N\
8 2-971-10-04-001 M16x 1.5 Knurled 4 ch SAE J541 Female q
2-971-12-02-001  S12x15 Knurled 2 ! !
2-971-12-04-001  S12x15 Knurled 4 0330 Thread DN
Tech Sheet 60388 2-971-41-02-001 7/16" 2
: ‘ 2-971-41-04-001 7/16" 4
g Tech Sheet 60388
| .
M Metric Female, DN2353 ’
0330 Thread Type DN Bani )
. _971-19-02- anjo ’ ¢
Test Female Straight 2-971-19-02-001 M12x15 6L 2 ]
2-971-19-04-001 M12x15 6L 4 0330 0D mm DN
0330 Thread Type DN 2-971-20-02-001  M14x15 6S 2 2-971-75-00-001 8 2
2-971-03-02-001 M16 x 2 Hex 2 2-971-20-04-001 M14x15 6S 4 2.971-75-04-001 )
2-971-09-02-001 M16x 1.5 Hex 2 2-971-21-02-001 M14x 1.5 8L 2 Tech Sheet 60388
Tech Sheet 60388 2-971-21-04-001 M14x15 8L 4
2-971-22-02-001 M16x 15 8S 2 Lo .
2:971-22-04-001  M16x15 8s 4 Anti-kink Sprlng A E\
2-971-23-02-001 M16x 15 10 2 ~F 1 \:@ﬂ
e 2-971-23-04-001 M16x 1.5 10L 4 ALY A AN
: 2.971-24-02001  Mi8x15 108 2 DN2 @l\\ :
9 2-971-24-04-001 M18x 15 108 4 0330 To Suit
Test 90° Elbow ’ Tech Sheet 60388 4-946-00-05-020 DN2 Hose
0330 LLIGET] Type DN
2-971-50-02-001  M16x2 Knurled 2
2-971-50-04-001  M16x2 Knurled 4 Ferrule
2-971-57-02-001  S12x15 Knurled 2 R \ \
2-971-57-04-001  S12x15 Knurled 4 - y
Tech Sheet 60388 DN2 & DN4
e I TR
Lo \ 4-999-03-01-160 2
Metric 90° Elbow, DN2353 6-999-03-01-010 4
. ‘) - 0330 Thread Type DN
BSPP Female ll 2-971-44-02-001 M12x 15 6L 2 Test H
0330 — DN 2-971-44-04-001 M12x15 6L 4 est nose
D 02.000 1 ” 2.971-45-02-001  M14x15 6S 2 )
2-971-02-04-004 14" 4 Z971-45-04-001  M14x15 6 4 E:: |[I); t!(li Z?msfem 2!:
2'971'25'02'001 T ) 2-971-46-02-001 M14x15 8L 2 Pin pricked quest.
~17-29-02 g 2.971-46-08-001  M14x15 8L 4 In pricke %
2-971-25-04-001 172 4 2-971-48-02-001 M16x 15 10L 2 DN2 & DN4 Pin Pricked. Per M
: 4 Pin Pricked, Per Metre
IEE S EE 2-971-48-04-001  M16x15 100 4
Tech Shest 60388 0330 Max Fressure  Type DN
9-946-02-00-012 400 Pin Pricked 2
; 9-946-02-01-020 630 Pin Pricked 2
)l 9-946-04-00-010 500 PinPricked 4
™ Tech Sheet 10487
. s .
a ) & e .
—i BSPP 90° Elbow \ Metric Straight Standpipe
=)
é 0330 LLIGED DN 0330 0D mm DN
2-971-58-02-001 1/4" 2 2-971-13-00-001 6 2
=)
> 2-971-58-04-001 14" 4 2-971-13-04-001 6 4 DN2 Per Metre
T 2.971-54-02-0M 12" 2 2-971-15-00-001 8 2 0330 Max Pressure Bar DN
2-971-54-04-001 12" 4 2-971-15-04-001 8 4 9-946-02-00-020 630 2

Tech Sheet 60388 Tech Sheet 60388 Tech Sheet 10487




) spradow

german engineering at your service

TEST POINT COUPLINGS

Spradow - Innovative Measuring Systems

The Spradow test coupling enables you to connect a pressure gauge or

other measuring instruments in seconds - even if the system is still under pressure.
The connection can be applied without any further tools.

The non-return valve inside the test coupling opens only after being connected
with the measuring instrument to allow a secure and clean pressure measurement.
Pressure is an important parameter for a successful preventing service

and maintenance or, if necessary, trouble-shooting.

With Spradow test couplings you can reduce your service and

maintenance costs considerably.

The Spradow test box is the perfect tool for hydraulic systems offering service
and maintenance engineers an easy mobile pressure test solution.

The complete Spradow test equipment is of course compatible with all other
manufactures and fulfils all current important industrial standards.
Furthermore Spradow offers a comprehensive range of measuring systems
for pneumatic braking systems.

Pressure Test Kits

Contents:

1 x Microbore Hose DN2-400 1620
Gauge Connection 1/4” BSPP 400 bar

1 x Pressure Gauge 0-40 bar 1/4” BSPP
1 x Pressure Gauge 0-400 bar 1/4” BSPP
1x Gauge Connection 1620 1/4” BSPP

1 x Test Point 1620 1/4” BSPP Metal Cap
1x Test Point 1620 M10 x 1

1 x Adaptor 1/4” Female x 3/8" Male

1 x Adaptor 1/4” Female x 1/2" Male

1x Cleaning Cloth

1x1/4” Bonded Seal

1x 3/8" Bonded Seal

1x1/2" Bonded Seal

400 bar, Pressure Test Kit

HYD-KIT1
Tech Sheet 10292

Deluxe Pressure Test Kits

400 bar, Pressure Test Kit

HYD-KIT4
Tech Sheet 10292

400 bar, Test Kit BSPP with In-line Tees

HYD-KIT5
Tech Sheet 10292

Contents:

1 x SNA 1620 Adaptor 1/4” Male x Female
1 x SNA 1620 Adaptor 3/8” Male x Female
1 x SNA 1620 Adaptor 1/2" Male x Female
1 x Test Point 1620 1/4” BSPP Metal Cap
1 x Pressure Gauge 0-40 bar 1/4” BSPP

1 x Pressure Gauge 0-400 bar 1/4” BSPP
1 x Adaptor 1/4” Female x 1/2" Male

1 x Adaptor 1/4” Female x 3/8” Male

1 x Microbore Hose DN2-400 1620/
Gauge Connection 1/4” BSPP 400 bar

1 x Cleaning Cloth

1x 1/4” Bonded Seal
1x3/8” Bonded Seal
1x1/2" Bonded Seal

400 bar, Test Kit BSPP with In-line Tees

HYD-KIT2
Tech Sheet 10292

» 3*3* e ¢
400 bar, Test Kit BSPP/
Metric with In-line Tees

HYD-KIT6
Tech Sheet 10292

Contents:
1 x SNA 1620 Adaptor 1/4” Male x Female
1 x SNA 1620 Adaptor 3/8” Male x Female
1 x SNA 1620 Adaptor 1/2" Male x Female
1 x Test Point 1620 1/4” BSPP Metal Cap
1 x Test Point 1620 1/8” BSPP Metal Cap
1x Test Point 1620 M10 x 1

1 x Test Point 1620 M12 x 1.5 Metal Cap

1 x Adaptor 1/4” Female x 1/2” Male

1 x Adaptor 1/4” Female x 3/8” Male

1 x Pressure Gauge 0-400 bar 1/4” BSPP
1 x Pressure Gauge 0-40 bar 1/4” BSPP
1x Microbore Hose DN2-400 1620/
Gauge Connection 1/4"BSP 400 bar

1 x Cleaning Cloth

1x 1/4" Bonded Seal

1x3/8” Bonded Seal

1x1/2" Bonded Seal

400 bar, Test Kit BSPP/
Metric with In-line Tees

HYD-KIT3
Tech Sheet 10292

hufitt

You might also need
Glycerine Gauges
see pages 945-949

(%)
2]
=
@
s
(=]
=5
=
S
o

HYDRAULICS




SAE FLANGES

haviT

824

Closed Flanges

Split Flange Half

90° Threaded Flanges

Threaded Flanges

Threaded Flanges-Companion (Counter)
Socket Weld Flanges

Socket Weld Flanges 90°

Butt Weld Flanges

Butt Weld Flanges 90°

Butt Weld Flanges-Companion (Counter)
Socket Weld Coupling Set

Bolts & Spring Washers

0-Rings



SAE FLANGES

Closed Flanges

Bolts, washers and 0-Rings are not included
and must be purchased separately
Please see page 831

3000 psi
0300 Flange Size
AFC080 1/2"
AFC100 3/4"
AFC102 1"
AFC104 1.1/4"
AFC106 1.1/2"
AFC108 2"
AFC110 21/2"
AFC112 3"
AFC114 3.1/2"
AFC116 4"
AFC118 5"

Tech Sheet 1625
6000 psi
0300 Flange Size
AFC401 1/2"
AFC402 3/4"
AFC403 1"
AFC404 1.1/4"
AFC405 1.1/2"
AFC406 2"
AFC407 2.1/2"

Tech Sheet 1625
Split Flange Half

Bolts, washers and 0-Rings are not included
and must be purchased separately
Please see page 831

3000 psi
0300 Flange Size Bolt Type Metric
FH3001 1/2" M8 x 25
FH3002 3/4" M10x 30
FH3003 1" M10x 30
FH3004 1.1/4" M10x 35
FH3005 1.1/2" M12 x 35
FH3006 2" M12 x 35
FH3007 21/2" M12 x 40
FH3011 5" M16 x 50
Tech Sheet 1626
6000 psi
0300 Flange Size Bolt Type Metric
FH6001 1/2" M8 x 30
FH6002 3/4" M10x 35
FH6003 1" M12 x 45
FH6013 1" -
FH6004 1.1/4" M14 x 50
FH6044 1.1/4" -
FH6005 1.1/2" M16 x 55
FH6006 2" M20 x 65

Tech Sheet 1626

Bolt Type Metric

M8 x 30
M10x 35
M10 x 35
M10 x 40
M12 x 45
M12 x 45
M12 x 45
M16 x 50
M16 x 50
M16 x 50
M16 x 50

Bolt Type Metric

M8 x 30
M10x 35
M12 x 45
M14 x 45
M16 x 50
M20 x 65
M24 x 80

Bolt Type UNC

5/16" x 1.1/4"
3/8" x1.1/4"
3/8" x1.1/4"
7/16" x1.1/2"
1/2"x1.1/2"
1/2"x1.1/2"
1/2"x1.1/2"
5/8" x 2"

Bolt Type UNC

5/16" x 1.1/4"
3/8"x1.1/2"

7/16" x1.1/4"
1/2" x 1.3/4"
5/8"x2"
3/4" x2.1/2"

90° Threaded Flanges

Bolts, washers and 0-Rings are notincluded
and must be purchased separately
Please see page 831

3000 psi, BSPP
0300 Fone: Thread Wl Bone® £
AFS080/90G-038 1/2" 3/8" M8 x 30 5/16" x 1.1/4" g
AFS100/90G 3/4" 3/4" M10 x 35 3/8"x1.1/2" =%
AFS102/90G 1" 1" M10 x 35 3/8"x1.1/2" E
AFS104/90G 1.1/4" 1.1/4" M10x 35 3/8"x1.1/2" ©
AFS106/90G 1.1/2" 1.1/2" M12 x 45 1/2" x 1.3/4"
AFS/90G 2" 2" M12 x 45 1/2" x 1.3/4"

Tech Sheet 1628
6000 psi, BSPP
e e SIS
AFS401/90G-038 1/2" 3/8" M8 x 30 5/16" x 1.1/4"
AFS401/90G-012 1/2" 1/2" M8 x 30 5/16" x 1.1/4"
AFS402/90G 3/4" 3/8" M10 x 35 3/8"x1.1/2"
AFS403/90G 1" 1" M12 x 45 7/16" x 1.3/4"
AFS405/90G 1.1/2" 1.1/2" M16 x 50 5/8" x 2"
AFS406/90G 2" 2" M20 x 110 -

Tech Sheet 1628

Code Information: AFS = Flange with 0-Ring Groove

GFS = Flange with Flat Face

(7]
=
|
=
<<
ec
a
>
==




SAE FLANGES havit

Threaded Flanges

Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 831

2
[—
2
2
£
8
3000 psi, BSPP 3000 psi, NPT
0300 Flange Thread Bolt Type SBHNTO 0300 Thread Bolt Type I
AFS080G-038 12 R M8 30 5/16"x11/4"  AFSOBON-038 12 38’ M x 30 5/16"x 1.1/4"
AFS080G 12 12" MB x 30 5/16"x11/4"  AFSOBON 12" 12" M8 x 30 B/16" X 1.1/4"
AFS100G-012 3 12 M1035 3/8°x1.1/2" AFS100N-012 3 12" M1035 3/8" x1.1/2"
AFS1006 3 3 M1035 3/8" x1.1/2" AFS102N-034 i 3 M1035 308" x1.1/2"
AFS1026-012 ik 12 M10 %35 38 x11/2" AFS102N ik ik M10x 35 3/8"x1.1/2"
AFS102G-034 & 3 M1035 3/8" x1.1/2" AFS104N-100 RIZE 1" MI0X40 T8 X112
AFS1026 1 & M1035 3/8" x1.1/2" AFS104N R RIE MI0X40 16" X112
AFS1046-034 RIZE e MIOx40  7/16°x11/2°  AFS106N-114 172" RI% M12x45 172 X 134"
AFS104G-100 114" & M0x40  7/16°x13/4°  AFS106N 11/2" 112" M12x 45 12" x1.3/4°
AFS1046 114" 114" M0x40  7/16°x11/2°  AFS108N-112 P2 112" M12x 45 12" x 134"
AFS1066-034 1172 e M12x45 112" x1.3/4" AFS108N 2 7 M12x45 112 x 134"
AFS106G-100 112" ik M12x 45 12X 1.3/8° AFS110N 212" 2172 M12x 45 12" x1.3/48°
AFS106G-114 112" 114" M12x 45 12X 1.3/8° AFS112N 3 3 M16 x50 5/8" x2"
AFS1066 1172 1172 M12x45 112" x1.3/4" AFST1AN 317 37 M16 x 50 5/8"x2"
AFS108G-100 z " M12x 45 12 X1.3/8° AFS116N & g M16 x50 /8" x2"
AFS108G-114 r RIZE M12x45 112" x1.3/4" Tech Shest 1629
AFS1086-112 r 1172 M12x45 112" x1.3/4"
AFS108G r 3 M12x 45 12 X1.3/8° .
AFS110G-200 2172 r M12x 45 yrwiyy 5000 psi, NPT
AFS110G 21/2" 21/2" M12 x 45 1/2" x1.3/4" Flange Bolt Type Bolt Type
AFS112G-212 ¥ 212" M16x 50 5/6"x2" b Size Tread Metric "E ”
AFS1126 e 5 1550 2 AFS401N-038 " I M8 x 30 /16" 1.1/
AFS1146-300 32 3 M16 x 50 5/ x 2" AFSA0IN-012 1z l/z M x 30 SNE"x 1.1/
AFSTI4G S s 1650 2" AFS402N-012 I 177 M10x35 3B 1172
AFS116G-312 r 32 M16 x50 5/8"x2" AFSA02N 3 o M10.x35 38" x1.1/2°
AFS1166 e e 16050 2" AFS403N-034 & s MIZxds 7161 34"
o Shest 1629 AFS403N 1 1 Mi2x4s  7/16"x13/4
AFS404N-100 RIZE 1" M14x 45 12" x1.348°
AFSA05N-114 11/2" RIE M16 x 50 5/8" x2"
6000 psi, BSPP AFS405N 1.1/2" 1.1/2" M16 x50 5/8"x2"
AFSA06N-112 z 112" M20 x 65 34" x21/2"
0300 Flange Thread Btie Boline"® AFS406N 7 7 Mz20 x 65 34" x21/2"
AFS4016-038 12" 38’ M8 30 5/16" x1.1/4" Tech Sheet 1629
AFS401G-012 12" 12" M8 x 30 /167 x 1.1/4°
AFS402G-012 3 12 M1035 3/8" x1.1/2"
AFS4026 3 e M10x35 38 x1.1/2"
AFS403G-034 K 3 Mi2x45 716" x 134"
AFS4036 & & Mi2x45 716" x134°
AFS4046-100 RIZE ik M14x45 112" x1.3/4"
AFS4046 1.1/ 114" M4 x 45 12 X1.3/4°
¢»  AFSH05G-114 112" 118" M16 x50 5/8"x2"
& AFs4056 112" 1172 M16 x 50 5/8"x2"
= AFSM0G-112 g 11/2" M20 x 65 34 x21/2"
< AFS406G r r M20 x 65 34" x21/2"
nn: Tech Sheet 1629
>
T

Code Information: AFS = Flange with 0-Ring Groove GFS = Flange with Flat Face




SAE FLANGES

Threaded Flanges-Companion (Counter)

Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 831

Components

3000 psi, BSPP, Metric Mount 3000 psi, BSPP, UNC Mount
0300 Flange Size Thread Bolt Type Metric 0300 Flange Size Thread Bolt Type Metric
GFS080GM-038 1/2" 3/8" M8 GFS080GU-038 1/2" 3/8" 5/16"
GFS080GM 1/2" 1/2" M8 GFS100GU-012 3/4" 1/2" 3/8"
GFS100GM-012 3/4" 1/2" M10 GFS100GU 3/4" 3/4" 3/8"
GFS100GM 3/4" 3/4" M10 GFS102GU-034 1" 3/4" 3/8"
GFS102GM-034 1" 3/4" M10 GFS102GU 1" 1" 3/8"
GFS102GM 1" 1" M10 GFS104GU-100 1.1/8" 1" 716"
GFS104GM-100 1.1/4" 1" M10 GFS104GU 1.1/4" 1.1/4" 7/16"
GFS104GM 1.1/4" 1.1/4" M10 GFS106GU-114 1.1/2" 1.1/4" 1/2"
GFS106GM-114 1.1/2" 1.1/4" M12 GFS106GU 1.1/2" 1.1/2" 1/2"
GFS106GM 1.1/2" 1.1/2" M12 GFS108GU-112 2" 1.1/2" 1/2"
GFS108GM-112 2" 1.1/2" M12 GFS108GU 2" 2" 1/2"
GFS108GM 2" 2" M12 GFS110GU-200 21/2" 2" 1/2"
GFS110GM-200 21/2" 2" M12 GFS110GU 2.1/2" 2.1/2" 1/2"
GFS110GM 2.1/2" 2.1/2" M12 GFS112GU-212 3" 2.1/2" 5/8"
GFS112GM-212 3" 2.1/2" M16 GFS112GU 3" 3" 5/8"
GFS112GM 3" 3" M16 GFS114GU-300 3.1/2" 3" 5/8"
GFS114GM-300 3.1/2" 3" M16 GFS114GU 3.1/2" 3.1/2" 5/8"
GFS114GM 3.1/2" 3.1/2" M16 GFS116GU-312 4" 3.1/2" 5/8"
GFS116GM-312 4" 3.1/2" M16 GFS116GU 4" 4" 5/8"
GFS116GM 4" 4" M16 Tech Sheet 1631

Tech Sheet 1631
6000 psi, BSPP, Metric Mount 6000 psi, BSPP, UNC Mount
0300 Flange Size Thread Bolt Type Metric 0300 Flange Size Thread Bolt Type Metric
GFS401GM-038 1/2" 3/8" M8 GFS401GU-038 1/2" 3/8" 1/2"
GFS401GM-012 1/2" 1/2" M8 GFS401GU-012 1/2" 1/2" 5/16"
GFS402GM-012 3/4" 1/2" M10 GFS402GU-012 3/4" 1/2" 3/8"
GFS402GM 3/4" 3/4" M10 GFS402GU 3/4" 3/4" 3/8"
GFS403GM 1" 1" M12 GFS403GU 1" 1" 7/18"
GFS404GM-100 1.1/4" 1" M14 GFS404GU-100 1.1/8" 1" 1/2"
GFS404GM 1.1/4" 1.1/4" M14 GFS404GU 1.1/4" 1.1/4" 1/2"
GFS405GM-114 1.1/2" 1.1/4" M16 GFS405GU-114 1.1/2" 1.1/4" 5/8"
GFS405GM 1.1/2" 1.1/2" M16 GFS405GU 1.1/2" 1.1/2" 5/8"
GFS406GM-112 2" 1.1/2" M20 GFS406GU-112 2" 1.1/2" 3/4"
GFS406GM 2" 2" M20 GFS406GU 2" 2" 3/4"

Tech Sheet 1631 Tech Sheet 1631

(7]
=
|
=
<<
ec
a
>
==

Code Information: AFS = Flange with 0-Ring Groove GFS = Flange with Flat Face

27




SAE FLANGES

havit

Socket Weld Flanges

Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 831

3000 psi, Metric Mount 3000 psi, UNC Mount
0300 iy Uk PMee 0300 e’ i Penie
GFS080SM-038 12" 175 M8 GFS080SU-038 12" 175 5/16"
BN GFS080SM-A20 12" 203 M8 GFS080SU-A20 12" 203 5/16"
4= GFS080SM 12" 216 M8 GFS080SU 12" 216 5/16"
=] GFS100SM-A25 34 253 M10 GFS100SU-A25 34" 253 38
] GFs100SM 3/4" 27.2 M10 GFS100SU 34" 272 38"
=l GFs1025M-A30 1 30.3 M10 GFS102SU-A30 1 30.3 38"
() GFS102SM 1 34 M10 GFS102SU 1 34 38
GFS104SM-A38 11/4" 38.3 M10 GFS104SU-A38 1.1/4" 38.3 716"
GFS104SM 114 4238 M10 GFS104SU 14 428 716"
GFS106SM 11/2" 486 M12 GFS106SU 1172 4856 12"
GFS106SM-A50 11/2" 50.5 M12 GFS106SU-A50 1172 50.5 12"
GFS108S 2 61 M12 GFS108SU g 61 12"
GFS110SM 2172 76.6 M12 GFS110SU 2112 766 12"
GFS112SM 3 %05 M16 GFS1128U 3 905 5/8"
GFS114SM 31/2 103 M16 GFS1145U 31/2" 103 5/8"
GFS116SM & 1155 M16 GFS116SU & 1155 5/8"
Tech Sheet 1632 Tech Sheet 1632
6000 psi, Metric Mount 6000 psi, UNC Mount
0300 P’ Wi Petie 0300 e’ i Penie
GFS401SM-038 12" 175 M8 GFS401SU-038 1/2" 175 5/16"
GFS401SM-A20 12" 203 M8 GFS401SU-A20 12" 203 5/16"
GFS401SM-012 12" 216 M8 GFS401SU-012 12" 216 5/16"
GFS402SM-A25 3/4" 253 M10 GFS402SU-A25 3/4" 253 38"
GFS402SM 3" 21.2 M10 GFS402SU 3/ 272 38"
GFS403SM-A30 1 303 M12 GFS403SU-A30 1 303 716"
GFS403SM 1 34 M12 GFS403SU 1 34 716"
GFS404SM-A38 14 383 M14 GFS404SU-A38 1./4" 38.3 12"
GFS404SM 1174 428 M14 GFS404SU 14" 428 12"
GFS405SM 11/2" 486 M16 GFS405SU 117" 4856 5/8"
GFS405SM-A50 1172 50.5 M16 GFS405SU-A50 1172 505 5/8"
GFS406SM 11/2" 61 M20 GFS406SU 1172 61 34
GFS407SM 2172 76.6 M24 Tech Sheet 1632
Tech Sheet 1632
Socket Weld Flanges

Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 831

3000 psi

0300 . A 6000 psi

AFS080S-038 1/2" 175 M8 x 30 5/16" x 1.1/4" 0300 Flange Boss Weld Bolt Type Bolt sze

AFS080S-A20 1/2" 203 M8 x 30 5/16" x 1.1/4" Size Diameter Metric UN

AFS080S 1/2" 216 M8 x 30 5/16" x 1.1/4" AFS401S-038 1/2" 17.5 M8 x 30 5/16" x 1.1/4"

AFS100S-A25 3/4" 253 M10x 35 3/8" x1.1/2" AFS401S-A20 1/2" 20.3 M8 x 30 5/16" x 1.1/4"

AFS100S 3/4" 212 M10x 35 3/8"x1.1/2" AFS401S-012 1/2" 216 M8 x 30 5/16" x 1.1/4"

AFS102S-A30 1" 303 M10 x 35 3/8"x1.1/2" AFS402S-A25 3/4" 25.3 M10 x 35 3/8" x1.1/2"
(7, AFS1028 1" 34 M10 x 35 3/8" x1.1/2" AFS402S 3/4" 27.2 M10 x 35 3/8" x1.1/2"
€ AFS104S-A38 1.1/4" 383 M10 x 40 7/16" x1.1/2" AFS403S-A30 1" 30.3 M12 x 45 7/16" x 1.3/4"
5' AFS106S 1.1/2" 48.6 M12 x 45 1/2" x1.3/4" AFS403S 1" 34 M12 x 45 7/16" x 1.3/4"
< AFS106S-A50 1.1/2" 50.5 M12 x 45 1/2" x1.3/4" AFS404S-A38 1.1/4" 38.3 M14 x 45 1/2" x1.3/4"
nn: AFS108S 2" 61 M12 x 45 1/2" x1.3/4" AFS404S 1.1/4" 428 M14 x 45 1/2" x1.3/4"
>= AFS1108 21/2" 76.6 M12 x 45 1/2" x1.3/4" AFS4058 1.1/2" 48.6 M16 x 50 5/8"x 2"
= AFS114S 3.1/2" 103 M16 x 50 5/8" x2" AFS405S-A50 1.1/2" 50.5 M16 x 50 5/8"x2"

AFS116S 4" 115.5 M16 x 50 5/8" x2" AFS406S 2" 61 M20 x 65 3/4" x2.1/2"

Tech Sheet 1633 Tech Sheet 1633




SAE FLANGES

Socket Weld Flanges 90°

Bolts, washers and 0-Rings are not included

and must be purchased separately

Please see page 831

3000 psi, Metric

Flange
0300 s
AFS080/90S-038 1/2"
AFS080/90S 12"
AFS100/90S 3/4"
AFS106/90S 1.1/2"
6000 psi, Metric

Flange
0300 Size
AFS401/90S-038 1/2"
AFS401/90S-012 1/2"
AFS402/90S 3/4"
AFS403/90S 1"
AFS404/90S 1.1/4"
AFS405/90S 11/2"
AFS406/90S 2
Butt Weld Flanges

Boss Weld
Diameter

17.5
21.6
212
48.6
Tech Sheet 1634

Boss Weld
Diameter

17.5
21.6
21.2
34

42.8
48.6
61

Tech Sheet 1634

Bolts, washers and 0-Rings are not included

and must be purchased separately

Please see page 831

3000 psi

0300 Flange
AFS080ST-038 12"
AFS080ST 12"
AFS100ST 3/4”
AFS102ST 1
AFS104ST 11/4"
AFS106ST 11/2"
AFS108ST 2
AFS110ST 21/2"
AFS112ST 3
AFS114ST 312"
AFS116ST I
6000 psi

0300 Flange
AFS401ST-038 12"
AFS401ST-012 12"
AFS402ST 3/4"
AFS403ST 1
AFS404ST 1.1/4"
AFS405ST 11/2"
AFS406ST 2

Boss Weld
Diameter

17.5
215

103
115.5
Tech Sheet 1635

Boss Weld
Diameter

175
215
28

34
428
48.6
61

Tech Sheet 1635

Bolt Type
Metr\:l':]

M8 x 30
M8 x 30
M10x 35
M12 x 45

Bolt Type
Metr‘l,c

M8 x 30
M8 x 30
M10x 35
M12 x 45
M14 x 50
M16 x 50
M20x 110

Bolt Type
Metr\:c

M8 x 30
M8 x 30
M10x35
M10x 35
M10 x 40
M12 x 45
M12 x 45
M12 x 45
M16 x 50
M16 x 50
M16 x 50

Bolt Type
Metr¥c

M8 x 30
M8 x 30
M10x35
M12 x 45
M14 x 45
M16 x 50
M20 x 65

G
5/16" x 1.1/4"
5/16" x 1.1/4"
3/8"x1.1/2"
7/16" x 1.3/4"

BolI}N1'zpe
5/16" x 1.1/4"
5/16" x 1.1/4"
3/8"x1.1/2"
7/16" x 1.3/4"
1/2" x1.3/4"

5/8" x2"

S
5/16" x 1.1/4"
5/16" x 1.1/4"
3/8" x1.1/2"
3/8"x1.1/2"
7/16" x1.1/2"
1/2" x1.3/4"
1/2"x1.3/4"
1/2" x1.3/4"
5/8" x 2"
5/8" x2"
5/8"x 2"

BolI}';‘rxpe
5/16" x 1.1/4"
5/16" x 1.1/4"
3/8"x1.1/2"
7/16" x 1.3/4"
1/2" x1.3/4"

5/8" x2"
3/4" x2.1/2"

Butt Weld Flanges 90°

Bolts, washers and 0-Rings are notincluded
and must be purchased separately
Please see page 831

3000 psi

Flange Boss Weld Bolt Type
0300 Size Diameter Metr\l,t':)

Bore Size
mm

AFS200/90ST 3/4" 27 M10 x 40 27
AFS202/90ST 1" 345 M10 x 45 345
AFS204/90ST 1.1/4" 43 M10 x 45 43
AFS206/90ST 1.1/2" 50 M12 x 50 50
AFS208/90ST 2" 65 M12x70 65
Tech Sheet 1636
6000 psi
R meNNU BRpe s
AFS700/90ST 3/4" 28 M10x 35 28
AFS702/90ST 1" 34 M12 x 45 34
AFS704/90ST 1.1/4" 42 M14 x 50 42
AFS706/90ST 1.1/2" 48 M16 x 50 48
AFS708/90ST 2" 65 M20x 110 65
Tech Sheet 1636

Code Information: AFS = Flange with 0-Ring Groove
GFS = Flange with Flat Face

Components

HYDRAULICS




SAE FLANGES haviT

Butt Weld Flanges-Companion (Counter)

Bolts, washers and 0-Rings are not included
and must be purchased separately

Please see page 831

(%]
2
[—
)
=
(=]
=4
=
S
o

3000 psi, Metric Mount 3000 psi, UNC Mount

0300 Fone? Dametar B etie® 0300 P Diametor PO
GFS080STM-038 1/2" 175 M8 GFS080STU-038 1/2" 175 5/16"
GFS080STM 12" 215 M8 GFS080STU 1/2" 215 5/16"
GFS100STM 34" 28 M10 GFS100STU 3/4" 28 3/8"
GFS102STM 1" 34 M10 GFS102STU 1 34 3/8"
GFS104STM 1.1/4” 428 M10 GFS104STU 1.0/4" 428 7/16"
GFS106STM 1.1/2" 4856 M12 GFS106STU 11/2" 486 12"
GFS108STM 2 61 M12 GFS108STU 2" 61 12"
GFS110STM 21/2" 77 M12 GFS110STU 21/2" 77 12"
GFS112STM 3 92 M16 GFS112STU 3" 92 5/8"
GFS114STM 3.1/2" 103 M16 GFS114STU 31/2" 103 5/8"
GFS116STM 4 1155 M16 GFS116STU 4 1155 5/8"

Tech Sheet 1637 Tech Sheet 1637

6000 psi, Metric Mount 6000 psi, UNC Mount

Fiange Boss Weld B [l Fange Boss Wold B Type
GFS401STM-038 1/2" 175 M8 GFS401STU-038 1/2" 175 5/16"
GFS401STM-012 12" 215 M8 GFS401STU-012 1/2" 215 5/16"
GFS402STM 34" 28 M10 GFS402STU 3/4" 28 3/8"
GFS403STM 1" 34 M12 GFS403STU 1 34 716"
GFS404STM 1.1/4" 428 M14 GFS404STU 1.1/4" 428 1/2"
GFS405STM 1.1/2" 4856 M16 GFS405STU 11/2" 486 5/8"
GFS406STM 2 61 M20 GFS406STU 2" 61 34"

Tech Sheet 1637 Tech Sheet 1637

Code Information: AFS = Flange with 0-Ring Groove GFS = Flange with Flat Face

hufitt

You might also need Glycerine Gauges
see pages 945-949

HYDRAULICS




SAE FLANGES

Socket Weld Coupling Set

Bolts, washers and 0-Rings included

3000 psi, Metric Mount

0300 Fone? Dametar

DFS080SM-038 1/2" 175

DFS080SM-A20 12" 203

DFS080SM 12" 2156

DFS100SM-A25 3/4" 253

DFS100SM 3/4" 272

DFS102SM-A30 1" 303

DFS102SM 1" 34

DFS104SM-A38 1.1/4" 383

DFS104SM 1.1/4" 428

DFS106SM 1.1/2" 4856

DFS106SM-A50 11/2" 505

DFS108SM 2 61

DFS110SM 21/2" 76.6

DFS112SM 3 905

DFS114SM 31/2" 103

DFS116SM 4 1155
Tech Sheet 1638

6000 psi, Metric Mount

Fiange Boss Weld

DFS401SM-038 1/2" 175

DFS401SM-A20 12" 203

DFS401SM-012 12" 2156

DFS402SM-A25 3/4" 253

DFS402SM 34" 272

DFS403SM-A30 1" 303

DFS403SM 1" 34

DFS404SM-A38 1.1/4” 383

DFS404SM 1.1/4" 428

DFS405SM 1.1/2" 4856

DFS405SM-A50 1.1/2" 505

DFS406SM 2 61
Tech Sheet 1638

Bolts & Spring Washers

Metric, Set of 4

M8X25 M8 x 25

M8X30 M8 x 30

M10X30 M10x 30

M10X35 M10x 35

M10X40 M10x 40

M10X45 M10 x 45

M12X35 M12 x 35

M12X45 M12 x 45

M12X50 M12 x 50

M12X70 M12x70

M14X45 M14 x 45

M14X50 M14 x50

M16X55 M16 x 55

M20X60 M20 60

M20X65 M20 x 65

M20X70 M20 x 70

M20X110 M20 x 110

3000 psi, UNC Mount
P et 0300 P ameter PoNe

M8 DFS080SU-038 1/2" 17.5 5/16"

M8 DFS080SU-A20 1/2" 20.3 5/16" o

M8 DFS080SU 1/2" 21.6 5/16" k=

M10 DFS100SU-A25 3/4" 25.3 3/8" "‘:"‘

M10 DFS100SU 34" 27.2 3/8" 2

M10 DFS102SU-A30 1" 30.3 3/8" g

M10 DFS102SU 1" 34 3/8" o

M10 DFS104SU-A38 1.1/4" 38.3 7/16"

M10 DFS104SU 1.1/4" 42.8 7/16"

M12 DFS106SU 1.1/2" 48.6 1/2"

M12 DFS106SU-A50 1.1/2" 50.5 1/2"

M12 DFS108SU 2" 61 1/2"

M12 DFS110SU 2.1/2" 76.6 1/2"

M16 DFS112SU 3" 90.5 5/8"

M16 DFS114SU 3.1/2" 103 5/8"

M16 DFS116SU 4" 115.5 5/8"

Tech Sheet 1638
6000 psi, UNC Mount
I B onge B ol Boere

M8 DFS401SU-038 1/2" 175 5/16"

M8 DFS401SU-A20 1/2" 20.3 5/16"

M8 DFS401SU-012 1/2" 21.6 5/16"

M10 DFS402SU-A25 3/4" 25.3 3/8"

M10 DFS402SU 3/4" 212 3/8"

M10 DFS403SU-A30 1" 30.3 3/8"

M10 DFS403SU 1" 34 3/8"

M10 DFS404SU-A38 1.1/4" 38.3 7/16"

M10 DFS404SU 1.1/4" 42.8 7/16"

M12 DFS405SU 1.1/2" 48.6 1/2"

M12 DFS405SU-A50 1.1/2" 50.5 1/2"

M12 DFS406SU 2" 61 1/2"

Tech Sheet 1638
0-Rings
w Buna
1/2-0RING 1/2"

UNC, Set of 4 3/4-ORING 3/4"
1-0RING T
UNC3/8X11/4 3/8"x1.1/4" 11/4-ORING 1.1/4" .
UNC3/8X11/2 3/8"x1.1/2" 11/2-ORING 1.1/2" =
UNC7/16X11/2 7/16" x 1.1/2" 2-ORING 2" 5'
UNC7/16X13/4 7/16" x 1.3/4" 21/2-0RING 21/2" <
UNC1/2X13/4 1/2" x1.3/4" 3-0RING 3" g
UNC1/2X11/2 1/2" x1.1/2" 31/2-0RING 3.1/2" >=
UNC5/8X2 5/8" x2" 4-0ORING 4" ES
UNC5/16X11/4 5/16" x 1.1/4" 5-0RING 5"
UNC3/4X21/2 3/4"x2.1/2" Tech Sheet 1639




HYDRAULIC SEALS

832

Self Centering Bonded Seals

Standard Bonded Seals (Not Self Centering)

Fibre Washers

Washers

Bonded Seals

0-Rings

Flaretite

SAE Flange Seals

ORFS Seal Kit

CAT Flange Seals

Splicing Kit

Seal Kits



HYDRAULIC SEALS

Self Centering Bonded Seals Standard Bonded Seals
(Not Self Centering)

2
—
2
Mild Steel, Nitrile, =
Mild Steel, Nitrile, to suit BSPP Threads 316 Stainless Steel, Nitrile to suit JIC/UNF Thread Form E
1000 To Suit L Lk =
BS-18 1/8" BS-18N 1/8" BS-14JIC 53
BS-14 14 BS-14N 14" BS-516.IC AL [
BS-38 3/8" BS-38N 3/8" BS-716JI1C 7/16"
BS-12 12" BS-12N 12" BS-12JIC 12"
BS-34 34" BS-34N 34" BS-916JIC 9/16”
BS-1 1 BS-IN 1" BS-58JIC 5/8"
BS-114 114" BS-114N 11/4" BS-1116JIC 11/16"
BS-112 1172 BS-112N 1472 BS-34JIC 34"
o Tech Sheet 10513 ‘ BS-2N z BS-1516JIC 15/16"
Tech Sheet 10513 BS-1-116JIC 1.1/16"
BS-1-18JIC 11/8"
Mild Steel, Viton, to suit BSPP Threads 316 Stainless Steel, Viton BS-1-14JIC 1174
1000 To Suit fech Sheet 10513
osv1s ];jjj el ;;gfj Mild Steel, Nitrile,
BSV-38 38" BS-12V 12 to suit JIC/UNF Thread Form
BSV-12 12" BS-30V 3/ 1000 To Suit
BSV-58 5/8" BS-1V 1" BS-6BA 6BA
BSV-34 3/4" BS-112V 1.1/2" BS-4BA BA
BSV-1 1 Tech Sheet 10513 BS-2BA 2BA
BSV-114 1.1/4"
BSV-112 1.1/2" . L - .
BSV-2 - Mild Steel, Nitrile, to suit Metric Threads Fibre Washers
Tech Sheet 10513 1000 To Suit
BS-M8 M8
BS-M10 M10 .
BS-M12 M12 !i. IiPE«))
BS-M14 M14 =
BS-M16 M16
BS-M18 M18
BS-M22 M22

1000 To Suit
FW5M M5
FW18 1/8"
FwW14 1/4"
FW38 3/8"
FW12 1/2"
FW34 3/4"
FW1 1"
FW114 1.1/4"
FW112 1.1/2"
FW2 2"
Tech Sheet 20357

HYDRAULICS




HYDRAULIC SEALS

Washers Bonded Seals

(%]

2

=

= Stainless Steel, Nitrile,

o - . .

= Flat Copper Washer, Metric Nylon, Notched to suit Metric Threads

8 1300 BSPP Male 0D ID x 1030 Thread 1000 To Suit

Thread Thickness D11X-5M M5 SSBSMO4N M4

CwMs M8 11x8x08 D11X-6M M6 SSBSMOGN M6
CWM10 M10 16x10x1 D11X-1/8 1/8" SSBSMOSN M8
CwmMi2 M12 16x12x1 D11X-1/4 14 SSBSM10N M10
cwm1i4 M14 18x14x1 D11X-3/8 38" SSBSM12N M12
CWM16 M16 20x16x1.5 D11X-1/2 12" SSBSM14N M14
cwmie M18 24x18x15 D11X-3/4 34" SSBSM16N M16
cWM22 M2 27x22x175 Toch Shoet 10705 SSBSMZON V20

Copper Washers for BSPP Stud Ends

1300 Male Thread Female Thread
cwi18 1/8" 3/8"
Ccw14 1/4" 1/2"
Cw3s 3/8" 3/4"
CwW12 172" /8"
Cw34 3/4" -
ctw1 1"
CW114 1.1/4"
CW112 1.1/2"
cw2 2"

Tech Sheet 20358

HYDRAULICS




HYDRAULIC SEALS

0-Rings

Imperial 0-Rings, Imperial 0-Rings, Metric 0-Rings,

Nitrile 70 Shore, Per Pack of 100 Viton 75 Shore, Per Pack of 100 Nitrile 70 Shore, Per Pack of 100

1000 D Wa'lm‘;fi';'l"’ss 1000 ) Wa'lm';fi';'l"’ss 1000 ID mm Wall Thickness g &
ORING-BS006N 18" 0.07 ORING-BS006V 18" 0.07 M-3X2 3 2 2
ORING-BS007N 5/32" 0.07 ORING-BS008V 3/16" 0.07 M-4X2 4 2 2
ORING-BS008N 3/16" 0.07 ORING-BS009V 7/32" 0.07 M-5X2 5 2 E
ORING-BS009N 7/32" 0.07 ORING-BS010V 14" 0.07 M-6X2 6 2 (=]
ORING-BS010N 14" 0.07 ORING-BS011V 5/16" 0.07 M-7X2 7 2
ORING-BSO011N 5/16" 0.07 ORING-BS012V 38" 0.07 M-8X2 8 2
ORING-BS012N 3/8" 0.07 ORING-BS110V 3/8" 0.103 M-10X2 10 2
ORING-BS110N 3/8" 0.103 ORING-BS112V 12" 0.103 M-10X2.5 10 25
ORING-BS111N 716" 0.103 ORING-BS116V 3/4" 0.103 M-11X25 11 25
ORING-BS112N 12" 0.103 ORING-BS211V 13/16" 0.139 M-12X2.5 12 25
ORING-BS113N 9/16" 0.103 ORING-BS212V /8" 0.139 M-14X2.5 14 25
ORING-BS114N 5/8” 0.103 ORING-BS218V 11/4" 0.139 M-16X2.5 16 25
ORING-BS115N 11/16" 0.103 ORING-BS221V 1.7/16" 0.139 M-17X2.5 17 25
ORING-BS116N 3/4" 0.103 M-19X2.5 19 25
ORING-BS210N 3/4" 0.139 M-19X3 19 3

ORING-BS211N 13/16” 0.139 M-20X3 20 3

ORING-BS212N /8" 0.139 M-22X3 2 3

ORING-BS213N 15/16" 0.139 M-24X3 2 3

ORING-BS214N 1 0.139 M-25X3 25 3

ORING-BS215N 1.1/16" 0.139 M-27X3 27 3

ORING-BS216N 11/8" 0.139 M-28X3 28 3
ORING-BS217N 1.3/16" 0.139 M-30X3 30 3
ORING-BS218N 1.1/4" 0.139 M-32X3 32 3
ORING-BS219N 15/16" 0.139 M-33X3 3 3

ORING-BS220N 13/8" 0.139 M-35X3 35 3

ORING-BS221N 1.7/16" 0.139 M-36X3 36 3

ORING-BS222N 1.1/2" 0.139 M-38X3 33 3

ORING-BS325N 1.1/2" 0.21 M-38X4 38 4
ORING-BS326N 15/8" 021 M-41X4 Q 4
ORING-BS327N 13/4" 021 M-44X4 44 4

Flaretite

The Flaretite Seal is a metal stamping, designed with multiple,
concentric sealing rings.

The entire seal is coated with a dry-to-the-touch, baked-on Loctite™ sealant. When inserted
into a fitting, the concentric rings form multiple seals down the face of the flare, while the
Loctite™ coating fills minor imperfections, dramatically increasing the integrity of the fitting.
New ISO and NFPA standards strongly recommend seals for all fittings.

the only flare solution

Fits all standard JIC/SAE/JIS flare fittings, hydraulic and pneumatic
* Has a user-friendly tab to clip the seal onto the fitting

Flaretite 304 Stainless Steel, JIC 37°

* Protects against weeping on new and damaged fittings Tab Seal coated with Loctite
» Creates a perfect leak-free clip-on seal, guaranteed
FF13267 718" « Complies with latest international standards IFEre (b
FF13268 9/16" Other seals available on request. 17}
FF13269 3" 2
FF13270 7/8" °®  Working Temperature: 5I
FF13271 1.1/16" -40°C to +150°C <
FF13272 15/16" =
:::::;;: 1?;2 FOI‘ ch Adaptors Mis-alignment ;
FF13571 21/7" see page 785 Flaretite Seal Installed

Tech Sheet 20353




(%]
2
[—
)
=
(=]
=4
=
S
o

HYDRAULICS

HYDRAULIC SEALS

SAE Flange Seals

Designed to fit the SAE J518 location grooves.

Made from high performance grade of polyurethane,
the material provides excellent resistance-to-gap
extrusion. Covers a wide temperature range from
-40°C to +110°C at pressures up to 400 bar.

Contents:
10x1/2"
10 x 3/4"
10x1”
10x1.1/4"
10x1.1/2"
10x2"

1000
SAE-KIT01

ORFS Seal Kit

No. of Parts
60
Tech Sheet 68214

0-Ring face seal kit to suit ORFS male fittings.

Material: Nitrile
Contents:

50 x 9/16"

50x 11/16”

30x 13/16"
30x1”
30x1.3/16

20x 1.7/16"
20x 1.11/16"

1000
ORFS-KIT01

Seal Kits

Assorted Bonded Seals

1000
BSK-1
BSK-2

No. of Parts
230
Tech Sheet 68215

Type
SAE Flange

Type
ORFS

No. of Parts
140
140
Tech Sheet 20372

Type
Imperial
Metric

CAT Flange Seals

CAT D-Rings provide a high pressure seal
between flange and port face on CAT hose
assemblies. Can be used in conjunction
with CAT XT-5 and XT-6 type flanges.

Material: Nitrile
Contents:

10 x 3/4”

10x1”

10x 1.1/4"
10x1.1/2"
10x2"

1000 No. of Parts Type
CAT-KITO1 50 CAT Flange
Tech Sheet 68216

Splicing Kit

Ideal for repairing or replacing damaged 0-Ring seals.
Material: Nitrile

Contents:

14 x standard sizes of 0-Ring cord
1 x tape measure

1 x cutting block

(for butt or scarf joins)

1 x cutting knife

1 x tube glue

Rubber Cord:
2 metres of each size:

1.78,2,24,262,3,353,4,45,5,
5.33,5.7, 6,7 and 8mm.

0-Ring Splicing Kit

SPLICING-KITO1

Tech Sheet 68213

Assorted 0-Rings
1000

No. of Parts Type
10K-1 382 Imperial
MOK-1 404 Metric
Tech Sheet 20373



PLASTIC CAPS & PLUGS

SR 1077 Threaded SR 1002 Threaded SR 1018 Threaded
Fitting Plugs Protection Plugs Protection Caps
* Knurled head for easy application * Easy to grip head * Used throughout the automotive, fluid power
« Ideal for sealing 37° flare fittings « Thread ensures secure fit and engineering industries
« Excellent protection from dirt, moisture * Protect threaded components from dust,
and corrosion moisture and damage

* Widely used in hydraulic, pneumatic and general
engineering industries

(]
=
-1}
[—
(-]
=9
£
(=]
(%]
Red LDPE, UNF Thread
Red LDPE, UNF/JIC Thread
0307 Thread 0307 r—
110228 5/16" Red LDPE, UNF/JIC Thread o
10177 3/8" 10251 3/8
10178 " 0307 Thread 12652 7/16"
10179 vz 10692 3/8" 10332 7/16"
10180 15 10763 7/16" 10528 1/2"
10181 5 10696 1/2" 11041 9/16"
10182 e 10668 9/16" 10653 5/18"
1083 e 10940 5/8" 12847 3/4"
1018 116" 10575 3/4 11089 7/8"
12827 13/16" 12075 7/8"
10326 7/8" 12826 1"
12185 1" 10685 1.1/16"
10460 1.1/16" 10163 1.3/16"
11506 1.3/16" 10151 1.5/16"
10671 15/16"
11752 1.5/8" .
11755 17 Red LDPE, Metric Thread
0307 Thread
Red LDPE, Metric Thread 12100 MBx1
12101 M10x1
0307 Thread 12102 M12x1
1201 M8 x 1 12103 M12x15
12012 M10x 1 12104 M14x 1.5
12013 M12x1 12650 M14x15
12017 M12x1.5 12105 M16x 1.5
12018 M14x1.5 12651 M15x 1.5
12019 M16x 1.5 12106 M18x15
10458 M18x 1.5 12107 M20x 1.5
12020 M20x 1.5 12845 M22x 1.5
10128 M22x 1.5 12109 M24 x1.5
12021 M24x15 12110 M25x 1.5
12022 M25x 1.5 12967 M28x 15
12023 M26 x 1.5 12122 M30x 2
1123 M36 x 2
Red LDPE, BSP/Gas 12124 Mazx2
12126 M52 x 2
0307 Thread
10651 1/8" x 28
10588 14" x19 Red LDPE, BSP/Gas
10996 3/8"x 19 0307 Thread
10590 1/2" x 14 10392 1/8" x 28
10511 5/8"x 14 10559 1/4" x19
10731 3/4" x 14 10104 3/8" x19 o
10810 1" x 1 10198 1/2" x 14 o
10459 1.1/8"x 1 11157 5/8" x 14 =
11242 11/2"x 11 10205 34" x 14 =
10204 1"x 11 ec
10167 1.1/4" x 11 E
10432 1.1/2" x N =~
10968 2'xM

w
~




BEJ PLASTIC CAPS & PLUGS

SR 1000 Tapered Caps/Plugs SR 1125 0-Ring Threaded Plugs

* Use as cap or plug « Can be applied by spanner, screwdriver or socket; manually or with power tool
« Easy fitting and removal
* Provide excellent protection from damage, dirt, moisture

and corrosion during storage and transport

" —
=
2
=
£
S
Red LDPE Yellow HDPE, Metric Thread
0307 To Suit Hose ID To Suit Hose 0D 0307 Thread
10991 6.1 44 467087 M8 x 1
10727 76 6.2 467088 M10x 1
10549 9.1 77 467089 M12x 1
10289 10 8.4 467090 M10x 15
10750 18 10 467091 M12x15
10114 123 109 467092 M14x15
10438 153 136 467093 M16x 1.5
10342 16 14.2 467094 M18x 15
10424 17 147 467095 M20x 15
11139 183 16.4 467096 M22x15
10394 20 178
10136 264 234 Yellow HDPE, UNF Thread
10732 277 247
0272 126 0
10181 372 33 467114 3/8" x24
10091 106 %9 467115 7/16" x 20
10485 427 396 467116 /2 x20
467117 9/16" x 18
467118 5/8"x 18
467119 3/4" x 16
467120 7/8"x 14
467121 1"x14
Yellow HDPE, BSP Thread
467127 1/8" x 28
467128 1/4" x19
467129 3/8"x19
467130 1/2" x 14
467131 5/8" x 14
467133 7/8" x 14
467134 1% 1

HYDRAULICS






